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| ntroduction

The 2/1 Game Force System is an improvement over the Standard American System that
has been played by bridge players for years. The clear advantage of 2/1 isthat it allows a
partnership to know that game is possible with only a single bid by the responder.
However, asignificant disadvantage is that the opener may have between 12 and 21 high
card points (HCP) when opening one of a suit, obviously avery wide range. To remedy
this situation, one may employ the strong club system in contract or duplicate bridge
known simply as Precision.

While Precision is still played by many playersin regional, national, and international
events, many club players shy away from the Precision bidding system since they are
afraid of the numerous Alpha, Beta, Gamma, and Epsilon asking bids used in many
systems, in particular, Italian Precision. There are countless variations of Precision since
its introduction into the bridge world by C.C. Wei of Taiwan in the 1960s. Some go by
the name Enhanced Precision, Natural Precision, Clarified Precision, Precision Today,
Precision Club (Beginner Intermediate Lounge on Bridge Base Online), The Smplified
Club, Incision Forcing Club, Match Point Precision, EHAA (Every Hand An Adventure),
and many more too numerous to name.

The primary advantage of Precision over the 2/1 Game Force System as explained by my
friend Val Jakubowitch is that the player has two bidding boxes; the red box where he
uses bids that are limited to 15 HCP and the blue box, those with 16+HCP. The
advantage of the Precision system is not with the “big” blue box hands, but with the red
box hands. The system allows oneto find great partial scores or games, and know the
difference. It is usually the bids out of the “red” box in the long run that makes the
difference!

In Precision, the opening suit bids of one diamond, one heart, and one spade are all
natural, with the restriction that the hand is now limited to no more than 15 HCP. The
forcing opening bid is the bid of one club which is similar to the bid of two clubsin 2/1,
Standard American, and other standard two club systems. However, the one club opening
in Precision has 16+ HCP. While some Precision Systems employ positive direct suit and
notrump responses to the one club opening, many others employ transfer bids to ensure
that the strong hand plays the contract in order to right-side the contract. And while many
variations of Precision have changed the meaning of the notrump opening, the range
employed in Wei’s original system of 13 -15 HCP is common and will be used in this
book. Depending on the structure of Precision you adopt, two-level bids like two clubs,
two diamonds, and two notrump usually have special meanings, but again are most often
limited to 11 -15 HCP (there are of course exceptions, the two diamond bid in some
systems). The two-level mgjor suit openings are also unique to the variation of Precision
you may adopt. However, many systems define them as weak two bids.

| have tried to eliminate the fear of the memory features used by many variations of
Precision by presenting a series of bids geared toward simplicity and allow the reader to
integrate the Precision bids into their more familiar natural bidding system using the 2/1



Game Force bidding structure that includes combined Bergen Raises, inverted minor suit
raises with crisscross, cuebidding, modified scroll bids, and other familiar conventions.

My goal inwriting this book isto provide a careful organization of topics so that one may
easily convert from any standard two club opening system and in particular the 2/1 Game
Force bids to Precision. In the process, one may keep most of his or her natural bidding
sequences and the conventions he currently uses with minor modifications.

Bridgeis a complicated game. | hope the approach | have taken is useful in the
improvement of your game whether you play Standard American, the 2/1 Game Force
System, or some other standard two club bidding system.

Even if you choose not to play Precision, the material reviewed may help players
understand the bidding sequences employed by Precision players encountered at club
games and tournaments.



Chapter 1% — The 1#* Opening

The strong forcing opening bid in Precision isthe 1#*. Even though the bid only occurs
about 10 percent of thetime, it isthe key bid of the system. The bid is artificial, forcing,
and shows a strong hand, at least 16 High Card Points (HCP), or at times, avery good 15.
Partner isforced to bid; apassis never an option. When you fail to open a hand 1#* and
instead open it one of a suit (diamonds, hearts, or spades) you are telling your partner that
your hand has only 11 -15 HCP. Any response by responder to a one-level suit bid is
forcing, unless opener bids one notrump (NT). The advantage of Precision over Standard
American and the 2/1 Game Force System is that the bids are more precise; hence, the
name. An asterisk (*) indicates that a bid must be alerted.

Hand Evaluation in Precision and One-L evel Bids

The standard deck of cards for the game of bridge contains fifty-two cards. The cards are
organized into suits - spades (#), hearts (¥), diamonds (#), and clubs (). The sequence
spades, hearts, diamonds, and clubs represent the rank order of the suits within the deck.
Thus, spades is higher ranking than hearts; hearts is higher ranking than diamonds, etc.
The major suits are spades and hearts and the minor suits are diamonds and clubs.

Each suit contains thirteen cards as follows:
AKQJ1098765432
The Ace (A), King (K), Queen (Q), Jack (J), and 10 are called honor cards.

A bridge hand is created by dealing the fifty-two cards, one at atime, to four players so
that each player has atotal to thirteen cards. Partnerships at the game are the two persons
sitting North-South, and those sitting East-West. To evaluate the value of your hand,
independent of rank, the standard/traditional method promoted by Charles Goren in the
late 1940sisto assign values to the honor cards:

Honor Vaue

Ace
King
Queen
Jack
Ten

=
Borrnwhs

The evaluation method is referred to as 4-3-2-1-0 point count system. Using this method,
one observes that a bridge deck contains atotal of 40 HCP. Hence, an “average” hand
consists of only 10 HCP.



Playing any contract bridge system where two clubs shows a strong hand (e.g.,2/1 Game
Force or Standard American), hand evaluation is a process that should take into account
the shape of the hand (hand patterns), honor card combinations, intermediate cards such
as 9s and 10s, suit length, and suit quality. Adjusting the point count system to assess the
true value of abridge hand is complicated. A new point counting system that addresses
many of these factorsis called the Adjust-3 method, proposed by Mr. Marty Bergen, ten-
time national champion. Bergen's (2008) “Slam Bidding Made Easier,” Pam Beach
Gardens, FL: Bergen Books, devotes thefirst 100 pages to his method. And | have used
his approach in my book Timm (2010) “2/1 Game Force a Modern Approach,” Trafford
Publishing, Indianapolis, IN. However, in Precision, one does not need a complicated
system to evaluate bridge hands.

Hand evaluation in the Precision depends on only three factors: HCP, defensive
tricksor quick tricks, and the number of losersin the hand.

Before we go into hand evaluation, a hand with a singleton or avoid is by definition
unbalanced (35.7%). Patterns that do not contain a singleton or avoid are 4-4-3-2, 5-3-3-
2, and 4-3-3-3 (47.6%) and are called balanced hands; semi-balanced hands are hands
with the following patterns: 5-4-2-2, 6-3-2-2, and 7-2-2-2 (16.7%). A frequency table of
hand patterns follows.

Common Hand Patterns Arranged
in Order of Frequency

Pattern Percentage
4-4-3-2 21.55
5-3-3-2 15.52
5-4-3-1 12.93
5-4-2-2 10.58
4-3-3-3 10.54
6-3-2-2 5.64
6-4-2-1 4,70
6-3-3-1 3.45
5-5-2-1 3.17
4-4-4-1 2.99
7-3-2-1 1.88
6-4-3-0 1.33
5-4-4-0 1.24
5-5-3-0 0.90
6-5-1-1 0.71
6-5-2-0 0.65
7-2-2-2 0.51
7-4-1-1 0.39
7-4-2-0 0.36
7-3-3-0 0.27
All Others 0.69



Quick tricks (defensive tricks) are evaluated asfollows: AKQ=3; AK=2, A =1,
AQ=1%, KQ =1, and K=%.

When counting losers in a bridge hand, one only considers the first three cards in any
suit. If any of thethree cardsare not an A, K, or Q, it isconsidered aloser. With less
than three cards, there are these loser honor exceptions: AQ =2, Kx=%, KQ=1,K =1,
Q=1, Qx=2. Thisisthe Losing Trick Count (LTC) method of counting losers.

With these preliminaries, any bridge hand with 16 HCP, 3+ quick tricks, and usually
with no morethan five or six losersisopened by bidding 1&*.

What about the other one-level bidsin Precision?

le* 11-15 HCP usually 2+ diamonds, but sometimes only one (alert and if
asked explain that diamonds may be short, one or two)

lvor 1a 11-15HCP and at least 5-cards in the bid major (even though the bids are
limited, do not alert)

INT# balanced hand, no 5-card mgor and 13-15 HCP

The notrump range is announced by partner. The pound sign (#) is used to denote that a
bid is announced.

Generally speaking, the most important criterion for hand evaluation in Precision is HCP.
Next, one determines the number of quick tricksand LTC losers.

When opening one of a suit, a minimum hand in Precision with only 11 HCP should
usually contain at least 2% quick tricks; if a hand does not meet this minimum, it is
generally not be opened. However, with a very good hand with intermediaries, it is
sometimes reduced to two quick tricks. No hand with less than two quick tricks and 11
HCP should be opened.

With 12-15 HCP, you should open all hands with two quick tricks. Some may modify the
criteria depending upon seat location (the third seat). | believe it is best to use the same
criteriain all seats whether one is vulnerable or non-vulnerable.

Y ou are dedlt the following hands, using the above criteria, what is your bid?

1) 4 AQ765 ¥ AQJ ¢ 54 & K73

Y ou have 16 HCP, 3%z quick tricks, and 6 losers. Open the hand 1#*.

2) « AQ7652 % 7 ¢ 54 & AKJ6

Y ou have 14 HCP, 3%z quick tricks, and 5 losers. Open the hand 14, showing 5+ spades.



3) 479976 ¢ AKJ2 & AKQ75

You have 17 HCP, 5 quick tricks, and 5 losers. Open the hand 1#*.

4) « AJ79 AQ6 ¢ 72 % Q10963

Y ou have 13 HCP and an essentially balanced hand. Open the hand INT. Replacing the
Ja with, say, the 9, what would you bid? Now, the hand has 12 HCP points; however,
adding an extra point for the fifth club, you would still open the hand INT. Not counting
the fifth club, some may open it 1e.

5) 4 J9876 ¥ QJ ¢ K54 & A9%4

This hand has only 11 HCP; however, it does not contain the minimum required two
quick tricks, pass.

6) #KQ76%¥ AQJ9 ¢ K542 &7

This hand has 15 HCP, 4 quick tricks, and 5 losers. However, if you open it 1& you have
no sensible rebid. Aswe shall seein Chapters 9 and 10 these hands are opened either 1¢
or 2¢.

7) & A543 v A76 ¢ A1098 & A7

This hand has 16 HCP, 4 quick tricks and 7 losers. This hand is too strong to open one
diamond, and even with seven losers, one must open the hand 1&%*.

8) 4 AK765 ¥ A9762 ¢ AK10 % void

This hand has 18 HCP, 5 quick tricks, and 4 losers. Again, one would open the hand 1#*.
Playing the 2/1 Game Force System, some may open the hand 14; however, you risk the
possibility that partner will pass. Using the rule of 44 discussed in Timm (2010), you
would open the hand 2, which would be equivalent to the Precision opening.

9) « A7 v AKJ874 ¢ AK & KQ5

This hand has 24 HCP, 6 quick tricks, and 3 losers, open the bidding 14*.

10) 4 765 % A ¢ A10982 & AQJ7

This hand has 15 HCP, 3%z quick tricks, and 6 losers. Thisis a great hand; however, it has
only 15 HCP and 6 losers. Y ou must open the hand 1e*.

When opening a hand one club, one of amajor, one diamond, or INT, you should always
consider vulnerability. With distributional hands, if you are vulnerable and the opponents
are not, you should not stretch your values to open a hand 1#*. This may stimulate the



opponents to enter the bidding and not allow you to describe your hand. If, however, you
are not vulnerable and the opponents are, it is sometimes to your advantage to stretch
your 1#* opening bids since the opponents may not be as anxious to enter the auction.

Summary for opening hands 1#* in Precision

1. Most all 17+ HCP hands

2. Handswith 16+ HCP and 3+ quick tricks and five/six LTC losers

3. Any 15 HCP with 3% - 4 quick tricks, a good five-card suit, and five or lesslosers

The most difficult hands in Precision are 4-4-4-1 hands where the singleton is either a
diamond or amajor and contains 16+ HCP; the frequently used opening is 1¢* (Chapter
10).

Some Final Remarks: When opening 1&*, we stated that it requires 16+ HCP and a
hand with any distribution. Because a negative response by partner with no interference
(next chapter) says that partner has between 0-7 HCP, a modification to the 16+ HCP
reguirements is suggested by some players. The modification is: if the hand is unbalanced
and includes at |east one four-card mgor, one may increase the requirement to 17+ HCP.
This is done because partner may have only 8 HCP and responds positively; and since 17
+ 8 = 25, game may be possible if amajor fit is found. With no four-card major and an
unbalanced minor suit hand, the requirement for a one club opening is increased to 18+
HCP. These changes, if used, should be discussed with your partner.

Another option, preferred by some, is to instead devalue a balanced hand and require that
with a balanced hand one has 17+ HCP to open 1#*; the balanced hand is devalued for
“flatness." With this change, unbalanced hands are then always opened 1&* with 16+
HCP. Balanced hands with 13-15 HCP are opened INT.

Overview of Two-L evel Opening Bids

We have reviewed the standard one-level bids; we next turn to two-level bids. While the
one-level bids are more or less standard for most Precision systems, thisis not the case
for two-level bids. Thus, if you say you play Precision, you should review with your
partner the definition of your two-level bids. We will employ the following two-level
bids.

28* 11-15 HCP and 6+ clubs (not 5), may have a 4-card major
2¢% 11-15 HCP and 4=4-1-4/4=4-0-5 in the mgors (Modified Mini-Roman)
29 or 24 5-10 HCP and a 6-card suit (vulnerable 2 of top 3 honors, non-

vulnerable at least 1 top honor)



2NT* 5-5in the minors and 5-10 HCP non-vulnerable 11-15 HCP
vulnerable

We consider each of these bids and rebids by the opener in future chapters. All 3X
preemptive suit bids show 5-10 HCP and a suit with 2/3 of the top three honors when
vulnerable, the bid of 3ANT* is Gambling (7+ minor AKQJxxx), and finally 4&* and 44*
bidsare NAMYATS. More on these bids | ater.

Overview of Responsesto 1&*

After your partner opens 1&*, as responder, you may not pass. Partner may have as few
as 16 HCP, but he could also have a monster hand, with game valuesin hand. You are
reguired to respond to the forcing one club bid. A summary of the responses partner may
make to the strong and artificial 1#* opening, assuming no interference by the opponents
follows. Each will be covered in more detail in future chapters. In some of the entries we
refer to controls; they are defined asfollows: A =2 and K = 1.
(1) Negative: 1¢* with 0-7 HCP
(2) Positive Responses -Transfersto MAJORS and NOTRUMP

lv#  with 5+spades (8+ HCP) opener bids 14 with support

2¢#  with 5+ hearts (8+ HCP) opener bids 2% with support

la#  balanced hand (8-13 HCP) opener bids INT (always)
# announced as a transfer

(3) INT* 8-13HCP Two 4-card Majors

(4) 24 8+ HCP 6-cardsin a Minor with 2 of top 3 honors (may have a 4-
card major)

(5) 2v/24 4-6 HCP and 6+card suit (weak two bids)

(6) 2NT* 14+ HCP, balanced hand no 5-card major (Neither partner can pass

short of 4NT)
(7) 3%* 1-4-4-4/4-4-4-1 Black Singleton Lacking 4 controls<12 HCP
(8) 3¢* 4-1-4-4/4-4-1-4 Red Singleton Lacking 4 controls<12 HCP

(9 (Submarine Strong Singleton Responses)

3v*  gpecifically 1-4-4-4 with 4+ controls (AK+), usually 12+ HCP



3NT* gpecifically 4-4-4-1 with 4+ controls, usually 12+ HCP
4&*  gpecifically 4-4-1-4 with 4+ controls, usually 12+ HCP
4¢*  gpecifically 4-1-4-4 with 4+ controls, usually 12+ HCP
(10) 3e* asolid 7-8 (AKQJxxx) suit, with 12 + HCP with/without side controls

In the above responses to one club, entry (6) isgame forcing and (9) and (10) are
invitational to game.

Dummy Pointsin Precision

When you find a seven- or eight-card fit in amajor or aminor in Precision, usually with
three-card support or with a doubleton honor (for suits), again hand reevaluation is
required. Asin standard bidding systems, the process is performed by either the opener or
the responder. Short-suit points are not used in notrump contracts.

The short-suit dummy or support points are eval uated as follows.

Doubleton 1 point each, aways
Singleton 2 points each, but 3 each with 4+ trump
Void 3 or equal to the number of trumpsin hand (4, 5, etc.)

Never use short-suit points as the opener or first level responder.

In addition to short-suit points, with a suit fit players may add one point for each
trump after five and one additional point for a four-card or five-card side suit.
When in a notrump contract, suit length counts and quality side suits count, one
may also add an additional point for a six-card suit, two pointsfor a seven-card suit,
etc. and yet another for a good four-card or five-card side suit.



Chapter 2-Negative Auctions after 1&* - 1e*

When partner opens the bidding one club and responder has a weak hand, 0-7 HCP or
sometimes aweak 8, responder bids 1¢*. The bid of 1* is forcing, and artificial, and
must be alerted (*); opener must bid again. Most frequently, the goal isto terminate the
auction in asuit contract or notrump usually short of game, a part score. However,
partner may aso have avery strong hand with perhaps 26+ points so that game of slam
may be possible.

Why 7 or 8 HCP? The reason is simple. If partner has exactly 16 HCP, the sum of 16 +
7/8 = 23/24 HCP, game in amajor or notrump is less likely unless partner has 17+ HCP.
This observation suggests that with afour-card major, the one club opening should have
perhaps 17 HCP not just 16+ as suggested in Chapter 1. Then, even with a one diamond
response, game is possible in amajor suit fit or perhaps notrump.

Exceptionsto responding 1e*

1. If you have 6+ cardsin amajor and 4-6 HCP honor valuesin the major (e.g., KJor
AJ, but not just an ace), and no four-card side suit, you should not bid 1* but instead
make aweak jump shift bid of 2 or 24 (Chapter 5). Partner may have a minimal hand
and pass, bid game in the suit you have bid with afit (usually three cards) and valuesin
the suit, invite gamein the major, or invite game in notrump.

2. If you have an ace and king in a 6+ card suit or an ace and king in separate 5-5 or 5-4
card suits, do not bid 1¢*. You must always make a positive response (Chapter 3). Thisis
because these honor cards, aces and kings, represent three controls (A = 2; K = 1).
Cuebids by the responder are used to show first or second round controls later in the
auction.

Opener’srebids after 1e*

When partner responds 14*, opener makes either natural bids or relay bids. Sometimes
you are able to describe your hand with a single bid, but many times it may take several.
The schedule of responses follow and for now assumes no interference by the opponents.

Natural suit rebids (non-forcing)

The natural rebids of 14, 2&, and 24 show a five- or six-card suit and an unbalance hand
with 16-19 HCP. Excluded from the list isthe natural bid of one heart. It is used instead
asan artificial relay bid so that the opening bidder may more precisely describe his hand
(it closely follows the recommendations made by David Berkowitz and Brent Manley
[2002] in their book “Precision Today,” Memphis, TN: DBM Publications).

Relay, notrump, and forcing bids



1v* relay bid, responder should bid 14*. Opener’snext bids (all are alerted except

ANT):

INT 20-21 HCP balanced may have a five-card major

2% 5+ hearts, 4+ clubs, non-forcing

2¢ 5+ hearts, 4+ diamonds, non-forcing
2y 5+ heart suit and no extra values

24 5+ hearts, 4+ spades, non-forcing

2NT 24-25 HCP balanced hand

3&/3¢ Forcing, 5-5 in hearts and the suit bid (clubs/diamonds)
3v 6+ heart suit, invitational to game over the 14 bid
3e 5+ hearts, 4+ spades with extravaues

3NT toplay

4% 6+ clubs, 5+ diamonds, forcing and less than 22 HCP
4¢ 6+ diamonds, 5+ clubs, forcing and less than 22 HCP
4 to play

4e to play

ANT Blackwood (Asking only for aces, not RKCB)

Partner should not accept the relay by bidding 1, but instead bid as followswhen
the conditions hold.

INT 5-5 or better in the majors, weak (0-4 HCP)
2&/24/2%/24 modest 6-card suit, weak
2NT 5-5 or better in the minors, weak (0-4 HCP)

3a/34/3%w/364 modest 7-card suit, weak

Except for the heart relay bid, opener bids are as follows after the 1¢* bid by partner.

INT* (shows 16-19 HCP)

This bid shows a balanced hand with 16-19 HCP. Thisis essentially equivalent to a
strong one notrump opening in any standard system. Whatever conventions you use when
responding to your 2/1 Game Force System, you would also use playing Precision. For
example, Stayman, Puppet Stayman or Modified Puppet Stayman (also called Muppet
Stayman), Smolen, Jacoby Transfer bids, Quest Transfers, etc.

2NT* (balanced hand with 22-23 HCP)



There-bid of 2NT by the opening one club bidder has more HCP than the “standard
system” opening bid of 2NT, usualy 20-21 HCP. The purpose of the Precision bid isto
show shape and values. Responses to the two notrump bid in Precision are the same as
those used in your 2/1 System. For example, Stayman, Jacoby, and Texas Transfer bids,
etc. However, the HCP requirements are modified.

24% (equivalent to a 2& opener in 2/1 Game Force 22+ HCP)

The bid of two spades shows 5+ spades and at |east 22+ HCP. Reponses after this bid
would again follow what you would do playing your 2/1 Game Force System.

How does opener show a strong hand in notrump, hearts, diamonds, and clubs after the
bid of 1¢* by partner? This is accomplished by using the two heart relay bid as follows.

2v* relay bid, responder should bid 24*. Opener now bids (all are alerts):
2NT 26-27 HCP balanced hand, may have a 4-card major
3v 5/6+ hearts -- equivalent 2/1 bidders 2# 22+ HCP (forcing)
3%/3¢ unbalanced very strong 7+ minor hands (forcing to game 22+ HCP)
4%/4¢ 6-5 (clubs and diamonds/diamonds and clubs) with 22+ HCP

The two heart relay bid always shows a very strong hand in Precision (22+ HCP).

Partner should not accept the relay by bidding 24* but bid as follows with less than 3
HCP:

2NT 5-5 two-suited, extremely weak (0-2 HCP)
3%/34/3%/34 modest 7-card suit, extremely weak

3NT* 28+ HCP balanced, may have a 5-card major
This bid does not occur very often; alternatively, it may be used to show avery strong
Gambling 3NT “like” bid with along solid minor invitationa to slam in the minor or

notrump with outside controls. Over the bid of 3NT, one may aso use Jacoby Transfer
bids.

Responder'srebid after 14* - pass - 1¢*- pass -?

Natural suit rebids (non-forcing)

A minor suit rebid of 2% and 24 by the opener shows a five- or six-card suit and an
unbalanced hand with 16-21 HCP. With 0-4 Dummy Points, pass. Game in aminor is not
attractive. However, with 5-7 HCP and a balanced hand, you should encourage notrump



by bidding 2NT, invitational to game. Partner will either bid 3NT or rebid his minor. If
your hand is extremely distribution, say 8-3-2-0 or 7-3-3-1, even with 0-4 HCP, you
should bid your seven/eight card suit.

After the mgjor suit bid of 14 and only 0-4 HCP and a balanced hand, pass. However,
with afit (3+ card support) and four/five Dummy Points, raise the bid to 2¢. With 5-7
Dummy Points and 3/4 card support bid 34, the double (jump) raise is used to invite
game.

If after partner bids 14 and you have less than three-cards support with 5-7 Dummy
Points, you may introduce your five-card minor suit or your five-card heart suit;
otherwise, pass.

We now consider afew hands.

The bidding has gone 1&* - 1¢* - (2&/24/14) - (?), and as responder with the following
hands, what is your rebid?

1) 479Q52¢Q534 4 J10987

You have 5 HCP.

If opener bids 14, you would pass.

If opener bids 2%, you have 7 Dummy Points (4 HCP and 3 for the singleton spade with
4+ clubs), raise 2 clubsto 3.

If opener bids 2, you again have 7 Dummy Points, raise 2 diamonds to 3.

2) 4 10987 ¥ QJ6 ¢ J54 % 765

You have 4 HCP.

If opener bids 14, you would pass. If, however, the opponents enter the auction, you can
show your support later making a competitive bid at the two/three-level, depending on
vulnerability.

If opener bids 2&/2¢, you must pass.

3) 47 ¥ Q52 ¢QJI0987 & Q75

You have 7 HCP.

If opener bids 14, without spade support, bid your long suit, 2¢.

If opener bids 2, pass.

If opener bids 2¢, you have 7 + 3 = 10 Dummy Points; jump to 44.

4) 4 7% K109865432 ¢ 10 # 1096
Y ou have 3 HCP.

If opener bids 14/2#/2¢, you must bid 2¥. With 4-6 HCP, you would not have responded
1e, bid 2% (a weak 2 bid).



5) 4 QJ ¥ J9876 ¢ K54 # 1094

You have 7 HCP.

If opener bids 14, you will invite with a doubleton honor in spades.

If opener bids 2#/2¢, you might consider bidding 2NT or perhaps 2¥. If partner is
balanced he may bid game in notrump (after 2NT) or invite game (after 2¥) by bidding
2NT. With adistributional hand, he would sign off in the minor.

Relay, notrump, and forcing bids

At this point, you may be asking yourself what does the opener rebid with five hearts, or
if 4-4 in the mgors. How does one find a mgjor suit heart fit? For this situation, one
either usesthe 1¥* relay or INT bids. We consider both next; first, the INT rebid by
opener.

INT* (shows 16-19 HCP)

Therebid of INT* after theintial bid of 1¢* shows a balanced hand with a hand pattern:
4-4-3-2, 5-3-3-2, or 4-3-3-3 and 16-19 HCP. After the bid of INT*, responder becomes
the captain of the auction. Because partner may have only 16 HCP, you should not make
any invitational bids unlessyou hold at least 7HCP since 16 + 7 =23 and 19 + 7 = 26
(observe that thisis equivalent to the requirement that you have between 8 and 9 HCP
when playing a standard system and a strong 15-17 notrump since 15+ 8 =23 and 17 + 9
= 26). For game in notrump, one should have at least 24 HCP and along suit (5+cards).

When responding to opener's INT* rebid in Precision, the methods you employed when
playing your 2/1 Game Force are in effect, with minor modifications.

1. With only 0-4 HCP, one would use Garbage Stayman sometimes called Crawling or
Creeping Stayman.

2. Use Jacoby four-way Transfers with 0-7 HCP promising at least 5+ cards in the
transfer suit.

2¢#  transfer to hearts (v)
2v#  transfer to spades (#)
2¢#  transfer to clubs ()
2NT# transfer to diamonds (#)

The bids are announced as atransfer. After making the transfer and holding 6-7 HCP, one
may invite gamein asuit or NT. While some may prefer to use the bid 24 as minor suit
Stayman and 2N T as an ambiguous transfer to a minor, we discuss instead Shape Asking
Relays after Stayman (SARS) in Timm (2010), “2/1 Game Force a Modern Approach,”
Trafford Publishing.



3. With 6-7 HCP, one may use Stayman when 4-4 in the majors or Smolen if 5-4 in the
majors (or Quest Transfers). After Stayman, one may also use super-accepts, now,
however, the response of 3¢ after 24 Stayman shows 19 HCP in Precision.

4. One may modify the Mini-Maxi Convention when playing Precision. The bids are:
3&*  5-5inthe minors and less than 6 HCP

3¢* 5-5intheminorsand 6 - 7 HCP

3v*  5-5inthe mgorsand lessthan 6 HCP
3#* 5-5inthemgorsand 6 - 7 HCP

I will try not to extend the list to all the possible conventions one may use after the bid of
INT* by the opener, instead, | hope you can see that the conventions you may use
playing 2/1 Game Force or some other standard system, are easily modified to fit into the
Precision bidding structure.

We now consider afew more hands. The bidding has gone 1&* - 1¢* - INT* - ?, so what
do you bid holding the following hands?

1) a7%Q52 ¢ Q534 #J10987
Y ou have only 5 HCP, pass.
2) 4 10987 ¥ QJ6 ¢ J54 % 765

Y ou have 4 HCP, playing Garbage Stayman, bid 2. If opener bids 24, pass. After the
bid of 2, bid 2% which asks opener to pick his best three-cards major. Y es, even hearts.

3) 2 7% Q52¢QJ10987 & Q75

You have 7 HCP, bid 2NT as atransfer to diamonds. After opener’sbid of 3¢, you must
bid 3NT with 7 HCP. Do not pass.

If you play four-way transfers with super accepts, you may bid 3& showing Kxx or Axx
in diamonds, rebid your diamonds to show you have six. Partner now is captain and must
decide whether to bid 3NT or game in diamonds. Slam isless likely even having a
maximum since 19 + 7 = 26 HCP.

4) 4 7% K10986543 ¢ 10 # 1096

You have 3 HCP, bid 24 as the Jacoby Transfer to hearts. After partner bids 2%, pass.

5) 4 QJ ¥ J9876 ¢ K54 & 1094

You have 7 HCP and avery nice hand. Again, bid 2¢ as a transfer to hearts. However,
after the accepted bid of 2%, bid 2NT. Partner will bid game in hearts or notrump.



1v* relay bid, responder (partner) usually bids 1a*

Playing heart transfers, partner must, with few exceptions, bid 14* (alert); the responses
by the opening 1#* bidder are natural, showing 5+ hearts, atwo-suited hand or a
balanced hand. Opener may have a minimum hand (16-19 HCP) or a strong

bal anced/unbalanced hand (20-21 HCP).

Partner may refuse atransfer using the following bids:

INT 5-5 or better in the mgjors, very weak (0-4 HCP)
2%/24/2%/264 modest 6+card suit, very weak

2NT 5-5 or better in the minors, extremely weak (0-4 HCP)
3%/34/3%/34 modest 7-card suit, extremely weak

Note that if the transfer bid is not accepted, opener isunableto bid INT showing a
balanced hand with 20-21 HCP and must pass.

With the following hand: & KJ ¥ AK1098 ¢ K109 # Q109,

opener has 16 HCP, and using the heart relay procedure, the bidding would go:

Opener Responder
1* 1e*

1v* la*

2y

The bid shows five hearts and no extra values.

Partner would invite with three hearts or two hearts to an honor with 5-7 HCP. Without
heart support and a balanced hand, he would bid 2NT. With aminimal hand, 0-4 HCP, he
would pass. Why this complicated structure?

It isaconvenient method to show two-suited minimal hands at the two-level. Let’slook
at another example. Suppose opener and responder have the following hands.

Opener: & QI0 v AKJI09 ¢ AK & J1092
Responder: 4 K53 ¥ Q784 Q10987 & 73

Now the bidding would go:

Opener Responder
1oe* le*

lv* 1a*

20% 3¢

3NT



In this bidding sequence, all bids are alerted; even the fina bid of two clubs. If asked
about the two club bid, explain it as 5-4 in hearts and clubs. After the bid of 2&*, partner
would bid 3¥ and opener would bid 4%.

If the responder did not have a heart fit but a club fit, then a contract in notrump may be
possible. For example, suppose in the preceding example responder’ s hand was:

Responder: 4 K53 ¥ 7¢ Q10987 & Q873
Now, with four clubs, the bid by responder may be 3% and the opener would be 3NT.
2v* relay bid, responder usually rebids 24*
Playing heart transfers, partner must, with few exceptions, bid 24* (alert); the responses
by the opening 1#* bidder are natural. Opener has a hand equivalent to the standard 2
opener with 22+ HCP. Partner may refuse atransfer using the following bids:
2NT 5-5 or better in the minors, extremely weak (0-2 HCP)
3%/34/3%/34 modest 7+card suit, extremely weak
Noticethat if the transfer bid is not accepted, opener isunableto bid 2NT showing a
balanced hand with 26-27 HCP but is forced to bid 3NT. With adistributiona hand and

22+ HCP, opener would either, pass, or invite game by bidding 3.

The corresponding rebids by the opener (after 24*) and partner isasfollows (all
bids are alerted):

2NT 26-27 HCP balanced hand, may have a four-card major
Rebids by partner (responder) are:
New Suit shows an ace/king
3NT 0-4 HCP, denies an ace/king
ANT 5-7 HCP, invite slam
3v - 5/6+hearts -- equivalent of Standard bidders 2% 22+ HCP (forcing)
Rebids by partner (responder) are:

3NT  0-4 HCP, minimum and no support
4 0-4 HCP, minimum and 2-card support

3#&/34 - unbalanced very strong 7+ minor hand (forcing to game with 22+ HCP)

Rebids by partner (responder) are:



New suit shows ace/king

3NT no ace/king

4/44 bid suit at four level without singleton
Raise to game denies ace/king, singleton/ void

4&/44 - 6-5 clubs-diamonds/6-5 diamonds-clubs 22+ HCP

Rebids by partner (responder) are:

New suit shows ace/king
ANT no ace/king
Raiseto game denies ace/king, singleton/void

After the sequence 1&* - 1¢*, and not using the relays, one bids:
24% (equivalent to a 2& opener in 2/1 Game Force 22+ HCP)

The bid of two spades shows 5+ spades and at |east 22+ HCP. Reponses after this bid
would follow what you would do playing your 2/1 Game Force System.

2NT* (balanced hand with 22-23 HCP)
Rebids by partner (responder) are:

With 0-2 HCP Pass
With 3-7 HCP Use your 2/1 bidding structure

Recall that to reach game in either notrump or a suit usually requires between 24-26
HCP. With along suit, it is possible to bid game with perhaps 24 HCP. Depending on the
structure of your hand, you should be able to determine whether to play in asuit or
notrump. Slam is again very unlikely.

3NT* 28+ HCP balanced, may have a five-card major

Rebids by partner (responder) are:

0-3HCP pass or 4-level bids are transfers
4-7 HCP and balanced bid 5NT invite slam

ADDITIONAL BIDDING EXAMPLES

We now consider some example hands. The bidding goes: 1&* - 1¢* - (?), so what are
your rebids with each of the following hands?

1) 4 AQ765 ¥ AQJ ¢ 54 & K73



Y ou have 16 HCP and a minimal hand, bid 14 showing your five-card spade suit.

2) «A YAKQ7652 ¢ AK & AQJ

Y ou have 27 HCP, you would next bid 2¥*, forcing partner to bid 24*; next bid 3% to
show your strong hand and a very good suit. If partner next cuebids 44 to show second
round control in clubs, aslam or grand slam is possible.

3) 479976 ¢« AKJ2 # AKQ75

Y ou have 17 HCP, next show your 5-card club suit, bid 2. The bid of 4% would show 6
clubs and 5 diamonds.

4) &« AK7% AQ6 ¢ A72 # KQ109
You have 22 HCP, bid 2NT.
5) 4 QI8 ¥ A9876 ¢ KQ54 & A

You have 18 HCP, after the bid of 1¢*, bid 1% and then bid 24 to show your shape; 5
hearts and 4 diamonds. Y ou cannot bid INT with the unbalanced hand.

6) & AKQ1076 ¥ A ¢+ KQ % KQ76

Y ou have 24 HCP, bid 24* to show 22 + HCP. Do not jump to 4 spades, partner may
have a bust hand.

7) # A ¥ AKQ1076 ¢ KQ6 # AKJ

This hand has 26 HCP, bid 2¥*, forcing partner to bid 24*, and then bid 3% to show 22+
HCP and your heart suit. If partner cuebids 44, slam is possible.

8) & AK765 % A976 ¢ AKI0 &2

This hand has 18 HCP, bid 24* to show that you have 4 spades and 5 hearts with a
minimal hand.

9) « A7 v AKQ874 ¢ AK # KQ5
This hand has 25 HCP and only 6 hearts, bid 2¥*, forcing partner to bid 24* and next bid
3. If partner bids 4% or cuebids 34 to show either the A% or the Ke, you would bid 6.

Or, he may bid 4¥ with no interest in slam.

10) 4 765 % A ¢ A10982 & AQJ7



This hand has only 15 HCP, even so, open it 1#*. Then your rebid is 24. You cannot
open the hand INT. Given the unbalanced nature of the hand, you haveto play itina
minor, short of game.

11) 4 AKJ74 ¥ AKQ ¢ AK # KQ5

Y ou have abalanced 26 HCP; after the bid of 1¢*, bid 2%* and after the relay bid of 24*,
bid 2NT.

12) & A ¥ AK ¢ AKQJ1098 & AQ5

Y ou have 27 HCP and long diamonds; after the bid of 1e*, bid 2%*, and after the bid of
24%* bid 34 showing a very unbalanced hand with 22+ HCP and diamonds. If partner
raises diamonds, he is denying aking, singleton, or void. However, a new suit would
show aking or void. After the bid of 3 diamonds, bid 3NT. After abid at the 4-level, bid
5NT invitational to 6 NT.

13) 4 A7 % A ¢ A10982 & AKQJ7

You have 22 HCP and are 5-5 in the minors. Again, use the 2¥* relay bid, but after the
bid of 24*, you must bid 44 to show your 6-5 distribution. A bid of 4NT by partner
would deny aking or void and araise to game in diamonds would deny a king, singleton,
or void. Since your diamond suit isweak, you will be satisfied with a game in diamonds.

Similarly, opener bids 1#* and PARTNER responds 1¢* (0-7 HCP). After opener's
rebids of either 1v*/2¥* what isyour rebid?

1) 479Q5¢Q5342 # J10987

You have 5 HCP and are 5-5 in the minors, bid 14*. After the 2-level heart bid, you
would bid 3¢. If instead, suppose you were 5-5 in the mgors, you would bid INT after
the heart relay and refuse the transfer. However, after the bid of 2¥*, you would have
again bid 3e.

2) 10987 ¥ QJ6 ¢ J54 % 765

You have 4 HCP, bid 14* after 19*; if partner bids INT, bid 2& (Stayman).
After the bid of 2¥*, bid 24* and wait for partner’s response.

3)a7%]524QJ10987 #J75

Y ou have only 5 HCP; after the bid of 1¥*, bid 24 to show your good 6-card suit.
After the bid of 2¥*, accept the transfer by bidding 2«*. If partner bids 2NT, then bid
3NT. If partner instead bids 3, then bid 4.

4) & 7% K1098654 ¢ 1098 # 109



You have 3 HCP, after the bid of 1v*, bid 2%; after the bid of 2¥*, bid 3¥. In neither case
should you accept the transfer.

5) & 75432 v K10986 ¢ 10 & 109

Y ou have only 3 HCP and 5-5 in the majors; after the bid of 1v*, bid INT, and after the
bid of 2¥*, bid 2NT. These bids are used to show the mgjors.

Responder'srebids after 14* - pass - 14*- pass - 2&*

After anegative response to the opening bid of one club, we recommended that one
employ the transfer bids of 1% or 2% as suggested in “ Precision Today” to right side the
contract. Is there another option? Y es! Instead of the opening one club, bidder showing
shape by using the 2% heart relay bid with 22+ HCP, Bill Amason recommends that one
use the bid of 2#* as an asking bid. The bid is used to obtain information about partner’s
high card points or honors. The responses to opener are asking club is asfollows:

2¢ 0-4 HCP

2y no 5-card suit and 5-7 HCP

2¢ yes a5-card suit and 5-7 HCP
2NT shows controls. AK, AQ, or KK.



Chapter 3— Positive Auctions after 1#*

In Chapter 2, we reviewed the one diamond negative response to the strong club opening
bid. Positive responses to the 1&* openings show one of six types of hands: (1) balanced
notrump hands, (2) hands with 5+ cardsin amgjor, (3) two-suited hands that are 4-4 in
the mgjors, (4) unusual 4-4-4-1 hands, (5) hands with a 6+ minor, and (6) solid suit hands
(AKQ) and at least seven cards; an overview of the positive bids follows.
Positive Responses (notrump and majors)

lv#  with 5+ spades (8+ HCP) and support

2¢#  with 5+ hearts (8+ HCP) and support

1la# balanced hand (8-13 HCP), always
INT* 4-4inthemajors(8-13 HCP)
2&* 6-cardsin aMinor with at least 2 of top 3 honors (8+HCP)
2NT* Balanced hand with (14+ HCP) and no 5-card M ajor
Unusual Positive Responses (these follow “ Precision Today” bids)

3&*  1-4-4-4/4-4-4-1 Black Singleton Lacking 4 controls (8-13 HCP)

3¢*  4-1-4-4/4-4-1-4 Red Singleton Lacking 4 controls (8-13 HCP)

3#*  asolid 7-8 card suit (AKQJxxx), 14+ HCP with or without side

controls

Submarine Strong Singleton Responses (these follow “ Precision Today” bids)

3v*  gpecifically 1-4-4-4 with 4+ controls, 14+ HCP

3NT* specifically 4-4-4-1 with 4+ controls, 14+ HCP

4%*  specifically 4-4-1-4 with 4+ controls, 14+ HCP

4¢*  gpecifically 4-1-4-4 with 4+ controls, 14+ HCP
3e* a solid 7+ card suit (AKQJxxx), 14 + HCP with or without side controls
Observe that al positive suit bids involve transfers and excluded from the list are
transfers to the minor suits clubs and diamonds. If one has a five-card minor and at least

8+ HCP, we recommend you bid 14*, which requires the opener to bid INT. Y our
distribution will be discovered with subsequent bids (details later).

Positive Responses (Notrump and M ajor s)




Accepting the 14 Transfer to Notrump

When partner bids one spade, he has 8-13 HCP and a balanced hand. Opener’ s responses
follow the above structure with balanced hands and no major suit fit.

With aminimal hand, exactly 16-19 HCP, opener bids INT* and accepts the transfer.
Partner with afour-card major may bid Stayman or pass with aminimal hand. With 9
HCP and no four-card mgjor, bid 2NT.

With 20-21 HCP, opener bids 2NT*. Partner may again bid Stayman or bid 3NT with no
four-card major. If partner has 13 HCP, 13+21 = 34 so slam is possible. To invite dam,
responder bids 4NT.

With 22-23 HCP*, opener bids 3NT*. Now with a maximum, 13 + 23 = 36, responder
bids 5NT as a Grand Slam force.

Accepting the Major Suit Transfer

To accept a major suit transfer, the opening one club bidder must have three-card
support or two-card support with an honor.

If opener has a minimum (16-18 HCP), the transfer is accepted by bidding:

3v/34 balanced minimum (16-17 HCP), invite game.

With support for the major and 18 HCP, bid game in the major:

4v/44 to play.

If the transfer bid is accepted (opener has 19+ HCP), opener bids 14 over 19*, and over
the 2¢* transfer, bids 2¥. These bids assume no interference by the opponents and are
slam tries. Responder next uses (Gamma) control bids to show Iength when opener

accepts the transfer.

The Gamma control bids (GCB) are:

2/3%* by responder says | have 5(&)
2/3¢* by responder says | have 6
2/3w* by responder says| have 7

(*) All bids must be alerted

(&) when responder bids two clubs showing only five-cards in the accepted magjor,
opener may bid two diamonds (the next step) to ask about notrump. Responder will bid a
suit when at the two-level to show a stopper. 2NT shows stoppersin both minors. A rebid
of the five-card mgjor at the two-level shows no stoppers.



Next level bid of the MAJOR at the 2/3 level after Gamma bidsare Trump Asking
Bids (TAB) used to investigate trump suit quality, not controls.

Responsesto TAB follow (NT isnot used as a step):

Step 1 3/4%* no Honors in agreed major
Step 2 3/4¢* 1 top Honor

Step 3 3/4w* 2 top Honors

Step 4 3/4a* 3 top Honors

While many books on Precision combine the GAB and the TAB into one series of bids
that includes notrump, a series of six responses, we have found them to be too confusing
and do not recommend the practice (they are often called TAB or Gamma asking bids).

An important adjunct to Gamma bids (when having 6/7 trump) or the TAB isanew suit
(Epsilon) Shortness Asking Bids (SAB) that isinitiated by bidding the SUIT. Thisbid is
uniqueto “Precision Simplified” and will not be found in other versions of Precision.
This approach was suggested by Bill Amason and John Burbank.

The SAB isonly used to investigate SLAM in a suit and NEVER Notrump.

Responsesto Epsilon SAB are (all bidsare alerted):

Step 1 no shortness (2+ cards)
Step 2 singleton
Step 3 void

NT isnot used as a step “reserved for RKCB”
In many Precision Systems, one uses Control Asking Bids (CAB), aso called Beta asking

bids. While we will use them on occasion, we do not use them when afit is established in
amajor (more on CAB later).

Rejecting the Major Suit Transfer

Y ou cannot accept amajor suit transfer if you do not have three-card support or two cards
to an honor (A, K, or Q) and an unbalanced or semi-balanced hand. Instead, you must bid
your own 5+ card suit (the other major or aminor).

With a balanced hand and no five-card suit, opener bids INT* to show 16-19 HCP.
Because you may not use the heart relay bids to show 20-21 HCP, the bid of 2NT* is
used instead. Thus, after a positiveresponseit is no longer 22-23 HCP. If opener has a
balanced hand with 22-23 HCP, the bid is now 3NT*.

Responding with Balanced Hands and no major suit fit (all are alerted except 4NT)



INT* 16-19 HCP

2NT* 20-21 HCP
3NT* 22-23 HCP
ANT 24+ HCP (Blackwood)

BIDDING EXAMPLES
Your partner opens 1&*, how do you respond?
(1) 4 A5 % 109876 ¢ AJ7 % 108

Y ou have 9 HCP and two aces. Bid 2¢# as a transfer to hearts (partner must announce the
bid as atransfer; the symbol # is used in the examples as requiring an announcement).

If partner accepts the transfer by bidding 2%, what is your rebid?

Y ou have only five hearts, bid 3#*, the GCB (alert and if asked, describe the bid as
partner has five hearts).

(2) 4 A52 ¥ 1098 ¢ AJ7 & 10865

Y ou again have, 9 HCP, but this hand is balanced, bid 14# as a transfer to notrump; after
partner accepts, bid 2NT.

(3) « AQ76 ¥ AQJ10 ¢ 54 & K7

You are 4-4 in the majors with 16 HCP, bid 2NT*. In general, showing 14+ HCP, the
auction cannot stop short of 4ANT (more on this shortly).

(4) 4 KQ76 ¥ QJ76 ¢ 54 # K73

You are again 4-4 in the majors, with only 11 HCP, bid INT* to show 8-13 HCP and the
majors.

(5) 4 Q76 ¥ QJ ¢ AQJ1098 % 1073
Bid 2#*, you have 12 HCP and along minor in diamonds; if asked about the aert,
explain the bid as along 6+ cards in aminor and 8+ HCP. To ask about the minor, opener

now bids 2NT*, explained as an asking bid; more on the responses soon.

You have opened 1&* and partner responds 1¥# (transfer to spades). What is your
rebid?

1) 4 AQ765 ¥ AQJ ¢ 54 & K73

With 16 HCP and a minimal hand, bid 34 inviting game. Partner will bid game with 9 or
10 HCP.



2) 4A YAKQ7652 ¢ AK & AQJ

Y ou have 27 HCP and 6+ hearts. Refuse the transfer and bid your own suit, bid 2.
Subsequent bids will get you to slam in hearts or notrump.

3) 2976 %7 ¢ AKJ2 & AKQ75

Y ou have 17 HCP and three spades, bid 44 showing no slam interest.

4) # AQ7 ¥ AQ6 ¢ AJ2 # KQ109

Y ou have 22 HCP and three-card supports in spades, accept the transfer and bid 2e. If
partner next bids 3&* (GCB), he is showing a five-card suit. The TAB of 34* is asking
partner about the quality of his heart suit. If partner bids 4#* showing no honors, bid 44.
The bid of 4¢* would show the king since you have the ace and queen. Y ou would now
bid 4ANT to ask for keycards (RKCB). Again * = dert.

5) # Q10 ¥ AQ108 ¢ KQ54 & AKJ

Y ou have a balanced hand with only two spades and 21 HCP; accept the transfer with
two to an honor.

6) 4A YAK ¢ AKQ10652 % AJ10

Y ou have a seven-card diamond suit and an unbalanced hand with 26 HCP, bid your
diamond suit, 3¢. Subsequent bids should get you to slam.

You have opened 1&* and partner responds 2¢# (transfer to hearts), what isyour
rebid?

1) & AKQ1076 ¥ A ¢ KQ # KQ76
Y ou have 25 HCP, bid your own suit 2e.
2) « AJ ¥ AKQI1076 ¢ KQ6 # AK

This hand has 26 HCP, accept the transfer by jumping in hearts to show length; if partner
next bids 4%, you would next bid 4NT (1430 RKCB).

3) # AK765 % A976 ¢ AK10 &2

This hand has 17 HCP, but istoo good to bid 4%; instead bid 2¥. With the right cards,
samispossible. If partner bids 3#* (GCB) showing five hearts, you would next bid 3¥*
(TAB). If partner next bids 4¥*, showing two top honors (KQ), bid 4NT to seeif he has
the A%.



4) & A7 ¥ AKQ874 ¢ AK & AKQ

This hand has 29 HCP and six hearts, bid 2¥. Partner will bid 3%*. Do not make a TAB,
you have the AKQ of hearts, instead, bid 34* (SAB) in spades. If partner bids 4#*
showing no shortness, bid 6¥; if partner bids 44* (a singleton spade), bid 7.

5)a765% A ¢ A10982 & AQJ7

Y ou have only 15 HCP; you cannot accept the transfer, bid 3¢ to show your five-card
suit.

Bid thefollowing hands after 1&*, making the appropriate positive r esponses and
rebids.

(1) Opener: 2 AQ764 ¥ AQJ ¢ 54 # K73
Partner: aK5 ¥ 109876 ¢ AJ7 % 108
(2) Opener: 2 Q10 ¥ AQ108 ¢ KQ54 & AKJ
Partner: & A52% 10976 ¢ AJ % 10865
(3) Opener: & AK4 % J98 ¢ 765 # AKJ2
Partner: 10987 v K2 ¢ AJ7 & 9865
(4) Opener: & AKQ5 ¥ A9876 ¢ KQL0 # 7
Partner: & 10987 v K5 ¢ AJ4 & J865
(5) Opener: 4 J53 9 A9876 ¢ AK2 & A7
Partner: & K10987 ¥ 53 ¢ Q84 & K104
(6) Opener: 2 J82 ¥ A98¢ AKJ3 # QJ2
Partner: A KQ76 %7 ¢ Q984 & K1074

(1) After the bid of 1#*, partner bids 2#. Because partner has three hearts, the transfer is
accepted. Opener now bids 2¥. With a fit in hearts, partner responds with the GCB bid
3&* to show five hearts. Next, opener bids 3v* (TAB). Partner has no honors and
responds, 34*. Opener bids game and signs off in 4.

(2) After the bid of 1#*, partner bids 14# as a transfer to notrump. Opener has a balanced
hand with four hearts and bids 2NT. Responder now bids 3# (Stayman) and opener
responds 3¥. Opener now bids game with no interest in slam.



(3)After the bid of 1#*, partner bids 14# as a transfer to notrump. Opener bids INT. With
aweak 8 HCP, pass. Do not bid Stayman.

(4) After the bid of 1#*, partner bids 14# and opener bids INT. Partner next bids 2
(Stayman), and opener bids 24. Partner invites by bidding 34. Opener next cuebids 44
and partner cuebids 4¢. Opener bids 54.

(5)After the bid of 1&*, partner bids 1%# (transfer to spades) and opener bids 14 having
three-card support. Next, partner bids 3&# (GCB) to show five spades. Even though you
have aminimal hand, bid 34* (TAB). With only one honor in spades, partner bids 4+.
Opener next bids 4.

(6) After the bid of 1#*, partner bids 14# and opener bids INT. Now partner bids 24

(Stayman) and opener bids 2¢. Partner supports diamonds by bidding 34, opener next
bids 44, and partner bids the 5¢ game.

Positive Responsesto 1#*- Another Option

Instead of making the acceptance bids of 14 and INT, one may “accept” by bidding 2&*
which becomes an asking bid when the opener has 20+ HCP. Using this approach,
partner responds:

2¢ 8-9 HCP with fit
2y 9-10 HCP with fit
24 11-12 HCP with fit
2NT 13+ HCP with fit

After the bid of 2¢, one bids 3%* instead of 2%. Then, responder bids:

3¢ 8-9 HCP with fit
3v 9-10 HCP with fit
3e 11-12 HCP with fit
3NT 13+ HCP with fit

With aminimal hand 16 - 19 HCP and afit, one accepts the transfer and does not use the
asking bid of two clubs. Without afit, one may bid notrump with a balanced hand to
show values or again bid an independent five-card suit.

Responsesto 14*-INT*, 1&*- 2&*, and 16*- 2NT*

1% - INT* (4-4in the majors)

When opening 1#*, it often happens that your partner is 4-4 in the mgjors with 8-13
HCP. Becauseit is desirable to play in amajor suit contract with afit, we have found this
bid to be useful since you know whether or not you have afit in the magjor with only a
single bid; most other Precision systems require several bids.



With afit and aminimal balanced hand (16+ HCP), invite game by bidding three of the
major; partner becomes captain of the hand.

Without a fit in amajor, opener next bids 2NT (forcing); this asks partner for a stopper
inaminor. Bid your minor suit stopper, with two stoppers bid 3NT, and with none, bid
your best magjor. The bids of 3% and 34 are natural showing a five-card minor.

Opener Rebids (after 1#* - INT*) — Summary

28/24 16+ HCP, 5+ card suit and no mgjor fit
2v/24 shows 3-card support for the major with ruffing values
2NT Forcing (16+ HCP) asking partner to bid minor suit stoppers

Responder (Partner) Rebids
Bid minor stopper suit (Qxx)
Both minors stopped, bid SNT
None — Bid best major

3&/3¢ 16+ HCP, 6+ card suit and no major fit
3v/34 Invitational to game in the major with fit (16+HCP)
3NT 16 + HCP and usually 2-cards support in major
4v/44 Sign-off
ANT Ask asking Blackwood

1* - 28%

After the bid of 1&* (16+ HCP), as responder, you often have along 6+ card minor with
two of the top three honors and 8+ HCP, a hand that may play well in notrump if the
strong opening bidder has three-card support for the minor. In the 2/1 Game Force
System, it issimilar to having partner open INT (14/15-17) and using minor suit transfers
with super accepts. Opener may bid 2NT* which asks partner to bid hislong minor suit.
Opener will usually sign-off in 3NT with three-card support in the minor and one honor
and aminimal hand.

With an unbalanced hand, he may bid game in the minor. Alternatively, after responder’s
minor suit bid, partner may accept the bid minor by bidding at the four-level (4#*/44%)
which are TAB with interest in aminor suit slam. With no honors in the minor, bid game
in the minor. With one or two honors, bid the minor suit slam, and with three, one bids
the grand slam in the minor.

With at least one four-card minor it is usually best to first ask about the minor without
first showing your five-card major. With or without aminor card fit, you should next
show your major at the three-level. With adouble fit, game or sslam in amajor or minor is
possible.



However, opener has several options. With afive-card major, he may choose not to bid
2NT but instead bid his five-card major (2¥/24). With two cards to an honor or three-card
supports, partner must support the major at the three-levels and without support bids his
minor. Opener is now the captain of the hand. After amajor suit agreement, opener will
use RKCB. The bids follow.

Opener Rebids (after 1#* - 2#*) — Summary
2v/24 Shows a 5-card mgjor suit

Responder Rebids
Raise mgjor with support or bid minor

2NT Asking partner for Minor (bid it - 3&/3+4)
Responder Rebids
3NT Sign-off
Ae*/44* Trump Asking Bid (TAB)

Opener Responsesto TAB

0 Bid Gamein Minors
1-2 Bid Slam
3 Bid Grand Slam
3NT No interest in slam or the minor
ANT Blackwood Ace Asking
1 - 2NT*

When opener opens 1&*, and partner responds 2NT* (14+ HCP), you know you arein
the slam zone having 30+ HCP. In generd, you cannot stop the bidding short of 4NT.

After the bid of 2NT*, partner bids 3#*. This is not Stayman but the Baron Convention
that asks partner to bid his four-card suits up-the-line. Remember, you are trying to find a
4-4fitinamajor suit or to play in notrump. Playing the Baron Convention, the bid of
3NT isused to show a club suit with 6+ clubs. The bids follow.

Opener Rebids (after 1#* - 2NT*) — Summary

3¢/39/34 Natural bids
3a* Baron asking bid

Responder Bids
Bid 4-card suits up-the-line



3NT

ANT

3NT show 6+clubs
16-19 HCP Baanced Hand
Quantitative (20+ HCP)
Responder Bids

Balanced bid notrump
Unbalance bid best 5/4-card suit

Asagenera principle, when a player accepts anatural 4NT slam invitation and there
may be an as yet undiscovered suit fit available, he should bid his cheapest additional suit
length. Bid best 5-card suit or 4-card suits up the line.

BIDDING EXAMPLES

How would you bid each of the following hands?

(1) Opener:
Partner:
(2) Opener:
Partner:
(3) Opener:
Partner:
(4) Opener:
Partner:
(5) Opener:
Partner:
(6) Opener:
Partner:
(7) Opener:

Partner:

& AK765 ¥ A976 ¢ AK10 # 2
2 Q94 ¥ QJ ¢ Q987542 & A

& A7 % A109 ¢ AK10 & A987
2 K986 ¥ QI37 ¢ Q98 # K5

& AJ76 ¥ A109 ¢ AK10 # 1098
2 K954 v QI37 ¢ Q98 # K5

2 AJ76 ¥ A109 ¢ AK10 & A98
2 KQ43 ¥ KQJ7 ¢ Q98 # K5
AKQ2 ¥ A7 ¢ AQ875 # K98
2 A76 ¥ KQJ9 ¢ K # QJ1052
2 KJ10 53 ¥ AKJ ¢ QJ # Q98
2 A76 ¥Q109 ¢ K98 & AJ105
21092 YAKJS52 ¢A74 #A3

2A8 vQ84 #K952 #KQ52



(8) Opener:  &KJ3 YAKIJ52 ¢A74 #A3
Partner:  4A8 ¥Q84 ¢K952 #KJ52

(1) After bidding 1#*, partner bids 2## showing a long minor; checking on the minor,
opener bids 2NT and partner bids 3¢. Even with a diamond fit, opener must show his
five-card mgor by bidding 34. What next?

Showing spades at the three-level, partner now bids 34; given your great diamond fit,
cuebid 4v. Partner should next cuebid 5&. And you would bid 64 but miss your spade
dam.

Because opener has four diamonds and five spades, even with a diamond fit, it is better to
bid 24 (showing at least four). Partner with only three spades will rebid his diamonds.

Y ou can rebid your spades and partner will bid 44. Using EKCB, bid 5% to show your
singleton. Partner would next bid 5¢, showing no keycards excluding clubs and next bid
5e. You would bid 6.

(2) After bidding 1#*, partner responds INT* to show 4-4 in the majors and 8-13 HCP.

Without afit, opener bids 2NT* asking for a stopper in aminor. Partner responds 3NT
(both minors stopper). Opener then passes.

(3) After bidding 1#*, partner bid INT*; having a minimal hand (16 HCP) and four-card
spade suit, opener bids 4.

(4) After opening 1&*, partner bids 2NT to show 14+ HCP. Y ou must bid 3&* (asking
partner to bid four-card suits up-the-line). Partner bids 3¥* and without four hearts,
opener bids 3. Partner with four spades, bids 4NT (RKCB). With four keycards, opener
bids 5# showing one or four. Next, partner bids SNT (specific kings), opener shows the
diamond king and bids 6¢. Responder now bids 74.

(5) After bidding 1#*, partner bids 2NT*. Opener shows his five-card diamond suit by
bidding 3¢. With a singleton diamond, partner bids 3NT. Opener next bids 6NT.

(6) After bidding 1#*, partner bids 2NT*. Opener next bids 3, his five-card suit. Partner
next bids 44. Opener then bids 4NT, and with two keycards partner bids 5¥. Opener bids
5a.

(7) After bidding 1#*, partner bids 2NT*. Opener bids 3% to show 5-card suit. With fit,
partner bids 4¥.Opener next bids 44 (1430 RKCB for hearts). Partner bids 4NT to show
one key card. Opener next bids 5% (Queen Ask). With the queen and extras bids 5¢,
opener bids 6v.

(8) After 1#*-2NT, opener with 20 HCP bids 4NT.Partner bids 5%, best 5/4 card suit.
Next opener bids 5¥ to show his five card suit. Partner bids 6%.



Responses to Unusual Positive Responses after 1*

1% - 3%*/34% (8-13 HCP and 0-3 Controls)

When opener bids 1#* and partner has a distributional hand with the pattern 4-4-4-1
showing a singleton, 8-13 HCP, and less than four controls, he bids 3#* or 34* to show a
black or red singleton, respectively. The bid shows at |east game going values and the
opener usually knows immediately where the contract should be played.

Holding the hand: ¢ AKQ54 ¥ KQ4 ¢ 456 #AK,

the auction goes:
Opener Partner
1a* 3e*

Opener knows immediately that the partnership has a nine-card spade fit. Given your
hand, you need to locate the singleton. To find the singleton after the bids of 3&* or 3¢*,
the next sequential suit is bid.

Partner’ s responses are;
After 3#* (black singleton), opener asks by bidding 34 (next step ask): the responses are:

3v*  showsaclub singleton
3#*  shows a spade singleton
After 3¢* (red singleton), opener asks by bidding 3¥* (next step ask): the responses are:

3#*  shows adiamond singleton
3NT* shows aheart singleton

Having located the singleton, one next bids the singleton suit to find out about partner's
controls (aces and king) in his hand. The cuebid is called a Control Asking Bid (CAB)
where an A=2 and K=1 control. To respond to the CAB, partner bids in steps; the first
step shows 0-2 controls (one ace or two kings), the second step shows 3, 4, etc. An
example of the bidding sequence follows.

Opener Responder

1 3¢* (red singleton)
3v* (asking bid) 3NT* (heart singleton)
4v* (CAB)

Opener Responder

1a* 3% * (black singleton)
3e* (asking bid) 3v* (club singleton)

4a* (CAB)



The CAB is most often used when opener has interest in slam; without slam interest and
only game going values (16-17 HCP), opener will usually bid game in a major. Observe
that one may aso bid game in notrump when responder has a black singleton by bidding
3NT. If you want to play in notrump after the red singleton ask, you must allow partner to
play the contract. It may be wrong sided. The bid of 4NT by opener is Blackwood since
the partnership has not agreed upon a suit. The sequence of bids follow for easy
reference.

Opener Rebids after 3#*
3¢*  Whereisthe singleton?

3v* clubsingleton
3e4*  gpade singleton

3NT toplay
4v/4e to play
ANT Blackwood ace asking

After finding out about the singleton, opener may next make a cuebid of the singleton
(4%*/44%). The cuebid isthe CAB

Partner’ s responses are:
1% step 0-2 (at most one ace or two kings)
2" step 3 (ace and king)
3 step 4 (two aces)
Opener Rebids after 3¢*

3v*  Whereissingleton?

3#*  diamond singleton
3NT* heart singleton

4v/4e to play
ANT  Blackwood ace asking

After finding out about the singleton, opener may next make a cuebid of singleton
(4¢*/4%*). The cuebid isthe CAB

Partner’ s responses are;
Step 1 0-2 (one ace or two kings)

Step 2 3 (ace and king)
Step 3 4 (two aces)



1a* - 39*/3NT*/48*[4¢* (14+ HCP and 4+Controls)

With more than 14+ HCP and a singleton (any 4-4-4-1 hand pattern) and 4+ controls, one
makes submarine bids by bidding the suit directly below the singleton.

The submarine bids are: 3w 1=4=4=4 spade singleton
3NT* 4=4=4=1 club singleton
4a* 4=4=1=4 diamond singleton
4¢* 4=1=4=4 heart s ngl eton

After opening 1#*, these bids are in the slam zone. You cannot stop short of 4NT, the
combined hands have 30 HCP and only 33 HCP are needed for asmall slam. A grand
slam requires 37 HCP.

After the strong unusual responses, the opener knows immediately the location of the
singleton. To investigate slam, opener will use 4NT as Blackwood since the suit is
unknown to partner (the responder). Keycard Blackwood (usually 1430) isused only if
the suit of the contract is agreed upon.

The opening 1#* bidder may also use Control Asking Bidsto reach slam. The bid is
again a bid of the singleton (the next level bid). However, now you are at a higher level
and partner must have more than three controls.

The responses to the CAB (3a*/4&*/44*/49%) are:

Step 1 4 controls (two aces or ace and two kings)

Step 2 5 controls (two aces and one king/ ace +three kings)
Step 3 6 controls (three aces/ two aces and two kings)

etc.

The above CAB step responsesincludethe bid of 4NT.

Alternatively, opener may make natural bidswith aminimal hand after the submarine
bids:

Responder Bids Natural Opener Rebids (16-17HCP)
3v*  1=4=4=4 spade singleton 3NT or4y  or 5&/5¢

3NT* 4=4=4=1 club singleton 4v/44 or 5&/5¢

4&*  4=4=1=4 diamond singleton 3NT or 4v/44 or 5%

4¢*  4=1=4=4 heart Singleton 3NT or 44  or 5%/5¢

After the opener makes a natural minimal major suit bid, partner knows the suit and will
bid 4ANT (RKCB) with slam interest.

1a* - 3% solid 7+ card suit (AKQJxxx), 14 + HCP with or without side controls



When partner bids 34* over a 1#* opening, it shows a solid suit equivalent to opening a
Gambling 3NT if the suit isaminor or making the NAMY ATS bids of 4&* and 44*.

Opener Rebids (with minimal 16 — 17 HCP hand)

3NT to play
4v/4e natural showing at least 5-cards with no slam interest

Opener Rebidswith 18+ HCP (if he knows the suit)
4&*  CAB - Asksabout outside suit controls

Reponsesto CAB bid are:

4¢* no outside controls
4v* outside king

da* outside ace or 2 kings
ANT* ace/2-3 kings

Opener Rebidswith 18 + HCP (if suit is unknown)
4¢*  askingfor suit
Responsesto suit ask are:

4v* [4a* [5&*  hearts, spades, clubs
ANT* diamonds

Opener may also bid 4NT which is Blackwood only
BIDDING EXAMPLES

How would you bid each of the following hands after a 1&* opening?
(1) Opener: & AK765 ¥ A976 ¢ AK10 & 2

Partner: 4 QJ94 ¥ QJ108 ¢ Q987 & A
(2) Opener: 4 AJ7% A109 ¢ AK10 # A987

Partner: & K986 ¥ QJ87 ¢ Q & K532
(3) Opener: 4 AJ76 ¥ AK10 ¢ AK10 & A98

Partner: 4 K954 v QJ97 ¢ Q987 & K



(4) Opener: & AJ76 ¥ A109 ¢ AK10 & K98
Partner:  # KQ54 ¥ KQJS ¢ Q987 & A

(5) Opener: 4 KQ2 ¥ A7 ¢ AQ875 & K98
Partner: & A763 ¥ KQJ9 ¢ K & QJ105

(6) Opener: 4 A10986%¥ 7 ¢ AQ & AKQ98
Partner: &7 ¥ AKQJ865 ¢ K7 & J76

(1) After bidding 1#*, partner with 4=4=4=1 distribution, 12 HCP and one control bids
3&* to show a black suit singleton. The opener knows immediately that the partnership
has a 4-4 card heart fit. With 18 HCP, partner next bids 3¢* (where is your singleton?);
partner bids 3¥* to show the club singleton. Now, opener knows that the partnership is 5-
4 in spades and 4-4 in hearts. Partner invites slam by bidding 5¥. Because partner has the
A%, hebids6v. It is only a 30 HCP slam but a great contract.

(2) After bidding 1#*, partner with 4=4=1=4 distribution, 11 HCP and two controls bids
3¢* to show a red singleton. The opener knows immediately that the partnership is 4-3in
the majors. With 20 HCP and two stoppers in diamonds, one in hearts, and a bal anced
hand, opener bids 3NT showing no slam interest.

(3) After bidding 1#*, partner with 4=4=1=4 distribution, 11 HCP and two controls bids
3&* to show a black singleton. With 20 HCP, partner next bids 3¢* (where is your
singleton?); partner next bids 3¥* to show the club singleton. Now, opener knows that
the partnership has a4-4 spadefit. Partner bids 4NT (Blackwood) and then S5NT. Hearing
the response 5%, showing two kings, even with all the aces and king because of the
known club singleton, opener bids 6e.

(4) After bidding 1#*, partner with 4=4=4=1 distribution, 14 HCP and four controls
makes the submarine bid of 3NT* to show aclub singleton. With 22 HCP, partner next
bids 4#%* (CAB). With an ace and two kings, partner bids 4¢* (one step). Opener bids
G4/6NT.

(5) After bidding 1#*, partner with 4=4=1=4 distribution, 19 HCP and six controls makes
the submarine bid of 4&* to show a diamond singleton. With 18 HCP, partner next bids
4¢* (CAB). With an ace and two kings, partner bids 4¥* (one step). Opener bids 6 NT.

(6) After bidding 1#*, partner with a long heart suit and 14 HCP bids 34*. Opener with a
singleton heart knows that the suit is hearts. Opener bids 4#* asking about outside
controls; with and outside king, partner bids 4¢. Opener next bids 7NT.



Chapter 4 - Responding to 1&* with Interference

When playing Precision, expect the opponentsto interfere. Everyone wants to compete
over the 1#* opening; after all, it is only at the one-level. Partnerships need specific
agreements to cope with interference.

Interference comes in many flavors. There are natural bids, artificia bids, and two-suited
bids among others that are designed to interfere in the direct or balancing seat. Asa
Precision player, you must be prepared for al situations. Before discussing how to cope
with interference in both the direct and balancing seats, we review afew systems
partnerships may use to interfere with Precision.

Overview of Interference Systems used over Precison 1&*

Mathe

The most popular system is called Mathe, developed by Lewis L. Mathe from California.
It is popular because of its simplicity. It goes:

Over 1&* bids in the direct seat are:

Double* 4-4 or better in the mgjors
INT* 4-4 or better in the minors
2NT* 5-5 or better in the minors

All one-level bids are natural (diamonds, hearts, and spades) and the bid of 2# shows a
club suit. The system is also used in the balancing seat over the sequence: 1#* - Pass -
le* - (?)

Because both bids are artificial, all Mathe responses remain the same; however, now two
clubs and two diamonds are natural. Higher two-level bids usually show a distributional
hand. A disadvantage of Mathe is that the double does not interfere significantly over the
strong club bid. An dternate isthe system Bill Amason and | call SPAM, which says
SPades And M ore, to be used against other Precision players.

SPAM (played in the direct seat only)

Double the majors (4-4 or 5-4)

1a* takeout with an unspecified long suit 5+ cards
INT* the minors (5-5)

2% the mgjors (5-5)

2¢%* diamonds and amgjor (5-5)

2NT* strong notrump 15-17 HCP

3X Natural suit 6+ cards



CRASH

Another convention used by some partnershipsis called CRASH, representing Color
RAnNk and Shape. The system was devel oped by Kit Woolsey and Steve Robinson. The
basic bids are:

Double* 2 suits of the same color (red or black)
le* 2 suits of the same rank (majors or minors)
INT* 2 suits of the same shape (rounded # ¥ or pointed ¢ )

1v/14/2%/2¢ shows natural 5+ card suits
CRASH, like Mathe, may aso be employed in the balancing seat.

Mathe and CRASH are probably the most widely used systems to interfere over the
Precision club. Because many 2/1 Game Force partnerships play some version of DONT
or Weber (Transfer bids), | have modified the bids to make them consistent with
Modified DONT (Meckwell). The system issimilar to DONT+T (ON), developed by
Tony Méelucci in cooperation with Neill Currie. The bids follow. | call the system
MDONT +T.

MDONT + T (played in the direct seat only)

le* Transfer to hearts with 5+ hearts

lv* Transfer to spades with 5+ spades

la* Transfer to clubs

INT* Transfer to diamonds

2% Clubs + Mgjor

2¢% Diamonds + Major

29* Hearts + Spades (the majors are at |east 4-4)
2NT* Clubs + Diamond (the minors are at least 5-5)

Higher level bids are natural.

Another system developed by Tony Melucci and Neill Currieis called MACE. Because
some feel that coping with the MACE bidsis difficult, | have included their system of
bids.

MACE

Double* 4-4in the Minors

le* shows 3-3 or 4-3in the Mgjors

lv/14 Natural 5+ card suit

INT* Rounded or Points Suits (4-4 or better)

2NT* Both Mgjors or Both Minors (5-5 or better)



Suit bids at the two- or three-levels are natura
When should you interfere over Precision and what is the best system?

The guidelines for interference over the strong club follow those you used when playing
2/1 Game Force. In the direct seat, you need a distributional hand and in the balancing
seat you need shortness. Again, the rules of 8 and 2 apply.

Rule of 2

Y ou should interfere over the bid of 1&* in the balancing seat if you have at least two
shortness points. Otherwise, do not interfere.

Ruleof 8

Provided you have at least 6 HCP, you should interfere over 1&* in the direct seat if the
number of cardsin your two longest suits minus the number of losersin your hand istwo
or more. Otherwise, do not interfere.

The best system to play over Precision is the one you remember. The simplest are SPAM
and Mathe. Even though MDONT +T address the most hand combinations, SPAM is
simple and provides adequate interference over the strong club opening; more
importantly, it is easily remembered.

General Approach with interference

When the opponents interfere, you should always use your established understandings.
For example, over adouble, al bids are per the Precision System of bids you would
normally use; ignore the double.

Another common practice isto use “Stolen Bids." For example, if the opponents bid 14
for takeout, the double means they stole your bid, hence it isatransfer to INT and all
other bids are natura; similarly, if 1% is natural, then double is a transfer to spades, and
2¢ is a transfer to hearts. If one cannot make you’ re agreed upon “system bids,” then
specific understandings must be agreed upon.

We do not recommend stolen bids but assume all bids are natural and that a double
shows 5-7 HCP. We next consider several specific situations.

Coping with Interferencein the Direct Seat

Double (no meaning)

Because many players do not have a system they play over 1&* it often only implies an
opening hand. Then, bid:



Pass 0-4 HCP
1e 5-7

Y ou should always ignore the double and just make your standard bids (e.g., 1%, 14, 2¢,
2%, INT, 2NT, etc.).

Double (shows majors)

Over Mathe, a system that shows the mgjors, one uses the following bids.

Pass 0-4 HCP

le 5-7

Redouble 8+

lv 8-10 HCP no stopper in hearts

1a 8-10 HCP no stopper in spades
INT 8-10 HCP stoppersin the majors
2% 8-13 HCP and 6+ cards

2¢ 8-13 HCP and 6+ diamonds

2y 11+ spade stopper (no heart stopper)
24 11+ heart stopper (no heart stopper)
2NT 11+ both majors stopped

Natural one-level bidsor strong NT

When playing against Precision, many pairs use natural bids for example 1¢, 1%, 14, and
2% showing diamonds, hearts, spades, and clubs. The following bidding structureis
recommended.

If thebid isa natural suit bid at the one-level, then one bids:

Pass 0-4 HCP

Double 5-7HCP

Suit 8+ HCP, 5+ card suit, Game Force
Jumpinsuit 10+ HCP, 5/6+ suits, Game Force
INT 8-13 HCP, with stopper

2NT 10+ HCP, with 1/2 stopper

Cuebid 14+ HCP, Game Force no stopper

If thebid of INT isstrong 15-17 HCP, then one bids:

Pass 0-4 HCP
Double 5-7HCP
Suit 8+ HCP, 5+ card suit



What if the bid of INT is Mathe? Now, the bid shows the minors. Similar to playing 2/1
Game Force, one may make “unusual over unusual” type cuebids and natural bids. The
structure for the bids follow.

Pass 0-4 HCP

Redouble 5-7HCP

L 5+ hearts, GF

2¢ 5+ spades GF

2y 5+ HCP, natura and non-forcing
24 5+ HCP, natura and non-forcing
3NT 10+ HCP, both minors stopped

Two-suited hands (not the majors)

When the two suits are known, one may again employ cuebids and natural bids. For
example, suppose the overcall of adiamond shows diamonds and hearts. Then a cuebid
of the lower ranking suit would show 5+ clubs and a cuebid of the higher ranking suit
would show 5+ spades. Again, one would pass with 0-4 HCP and a double show 5-7
HCP and may be |eft in for penalty.

Two-, Three-, and Four-level overcalls
Interference by the opponents at the two-level or higher cause significant problems;
however, adoubleis aways used to show 5-7 HCP. Recommended bidding structures

follow.

At 2-level — (natural)

Pass 0-4 HCP

Double 5-7HCP

Suit bid 8+ HCP, naturd

2NT 11-13 HCP with stopper

3NT 14+ with stoppers
At 3-level — (natural)

Pass 0-4 HCP

Double 4-7 HCP

Suit bid 8+ HCP, and 5+ card suit
At 4-level — (natural)

Pass 0-4 HCP

Double 5-7 HCP, takeout or penalty

BIDDING EXAMPLE

How would you bid each of the following hands after a 1&* and the opponents interfere?



(8) 14* takeout

(b) Double — the majors

(c) INT* the minors

(d) 2% natural

(e) 2¢* diamonds and hearts

And you hold the following hand: (1) # K986 ¥ QJ87 ¢ Q98 & K5

(1a) With 11 HCP and a stopper in spades, double as atransfer to INT.
(1b) With both majors stopped bid INT naturally.

(1c) Cuebid 24 to show hearts, partner may support hearts or bid spades.
(1d) Double for takeout.

(1e) Bid 3NT showing stoppers.

Coping with Interference in the Balancing Seat

The bidding has gone 1#* - Pass - 1¢* and the opponents, knowing your partner isweak
showing 0-7 HCP, may enter the auction. The most common bids in this situation is for
your RHO to bid amajor or use Mathe in the balancing seat where INT shows the minors
and adoubleisfor both majors. Example bidding schemes for several situations follow.

After 18* - (Pass) - 1¢* - (1v/4)

Pass bal anced minimum no 5-card suit
Double support for the other 3 suits
Suit Bid Natural, non-forcing
INT shows stopper with (16-21 HCP)
2NT shows stopper with (22+ HCP)
Cuebid 20 + HCP no stopper
After 14* - (Pass) - 1¢* - (INT for Minors)
Pass bal anced minimum no 5-card suit
Double support for the both magjors
28/24 unusual cuebids and extra values with v/«
2924 Natural non-forcing
2NT shows stopper with (22+ HCP)
After 18* - (Pass) - 1¢* - (Double = Magjors)
Pass bal anced minimum no 5-card suit
Double support for the both minors
28/24 natural 5+ card suit.
2924 unusua cuebids shows extravalues and &/¢

2NT shows stopper with (22+ HCP)



Chapter 5— Preemptive Responsesto 1#*

To show aweak major suit hand, one bids of 2¢/24. The bids show a weak major suit
hand with 6+ cards and only 4-6 HCP. A summary of the bids follow.

Opener Rebids

Pass Game unlikely

49/44/3NT 20+ HCP

New suit 5+ cards without support for the majors
Partner's Rebids
Raise 3+ support (or Qx)
Rebid v/# min no support
Cuebid under 3ANT  singleton or void

3v/34 Minimal hand with support (16-18 HCP)
Partner's Rebids
Pass or bid game

2NT Ogust

3NT Natural

ANT RKCB

If instead of making aweak jump shift at the two-level, but bidding 3¥/34, the bid is
again very weak showing 7+ cardsin the bid suit.

Let’slook at an example hand.
Opener: & KQ987 ¥ 109 ¢ AK3 & AQJ
Partner: aJ5 Y KQI875 ¢ 542 % 87

After the bid of 1&* by opener, partner now bids 2% to show 4-6 HCP and six hearts.
With only two hearts, opener must pass.

For each of the following hands, suppose you open 1&* and partner responds two spades.
What is your rebid?

(1) 479%AQ756 ¢ AQ2 & AKQJ

2 & AK97 % J5 ¢ AQI10 & AJ98



(3) #7%AQI10985 ¢ AK & KJ74
(1) With 22 HCP, bid 3NT.

(2) With 19 HCP, bid 4.

(3) With aminimal hand and no fit, pass.

Y ou should respond at the three-level after partner opens one club if you have ahand like
the following.

& 72 9 KJ109852 ¢ 7 & 654 bid 3%.



Chapter 6 —Major Suit Openings

Playing the 2/1 Game Force System, the bid of a mgjor suit shows 12-21 starting points
that includes HCP and length. However, playing Precision, it shows 11-15 HCP and a
five-card suit. You know immediately that opener’s hand is limited.

When responding to a major suit opening, remember that 25-26 points will usually
produce a major suit game. When partner opens amajor, partner has at least 11 HCP and
two quick tricks. With afit (3+ cards) and upon reevaluation of your hand if you have
13+ Dummy Points, you have game in amajor. Some may argue you need 14+ HCP, but
thisis not the case since playing 2/1, the opening bidder has 12+ HCP that includes one
length point or only 11 HCP asin Precision.

A game forcing response by responder is accomplished by showing a new suit at the two-
level without jJumping or skipping abidding level. After amajor suit opening, and the
OPPONENTSHAVE PASSED and YOU ARE NOT A PASSED HAND, game force
bids are:

Opening bid Game Forcing Responses
1a 2&/24 (4+cards), 2% (5+cards)
lv 2%/ 24 (4+cards)

The game forcing bid is always made in a suit that has at least four-cards and is for cing
for one round of bidding. The opener may not pass (unless the opponents interfere); the
pass made by the opener is called aforcing pass since your side has established a game
force bidding sequence.

The only real difference between Precision bids and the bids you used playing the 2/1
Game Force System is there is no such thing as a reverse and strong jump shifts. If you
make areverse playing Precision it shows shape since opener has no more than 15 HCP.
Thebid of INT is semi-forcing, Conceal ed/Ambiguous splinters, Jacoby 2NT, and Swiss
bidsall apply. Playing Combined Bergen Raises, the bidsin Precision and 2/1 are
identical. A review of the bids follow.

If one opens amajor and responder has four-card support, and between 5-12 Dummy
Points, one may use Bergen Raises to show the nature of the support.

Bergen and Combined Bergen Raises
Suppose partner opens 1¥/14 and you have four-card support, one bids:
3&* shows 7-9 Dummy Points with 4-card support

3¢* shows 10-12 Dummy Points with 4-card support (called alimit raise)



If one reverses these two bids, the two bids are called Reverse Bergen Raises.

Because these bids are made at the three-levels, they may be played when the opponents
interfere with a double. They are free bids; however, many pairs play that Bergen Raises
are off. Others have devised a special system called BROMAD (Bergen Raise over Mgjor
Suit Double). A disadvantage of the BROMAD Convention isthat it eliminates several
standard bids. | do not recommend it.

However, some play that over interference the bids do not apply and are always off. |
believe that thisistoo extreme. Why do you alow the opponents to interfere with your
bidding sequences? | recommend they be played over two-level bids when they may be
made, vulnerable or non-vulnerable.

For example, if the bidding goes 14 - 2% - there is room for the three-level bids always. If
the overcall isaminor suit bid of say 2#, then 3% (a cuebid) only ensures at |east 3+ card
support for the mgjor suit bid of 14, even though you may have four. Finally, they are
always on over a double!

Another system that has become popular is called “Combined Bergen” Raises, developed
by Pat Peterson from Hernando, Florida. | like the convention. It workslike this.

3&* shows 7-12 Dummy Points (note that we have combined the Bergen point range for
this bid; hence the name Combined Bergen) with four-card support, if opener wants to
know whether or not you are at the lower end (7-9) points, or higher end (10-12) points,
opener bids 3¢*.The response 3¥* shows the lower range and the response 34* shows the
upper range.

3¢* shows 10-12 Dummy Points with three-card support (alimit raise)
Thus, you do not have to bid INT (semi-forcing) and make ajump rebid in the major

with 10-12 Dummy Points. One normally has 0-2 card trump support for the bid major.
The schedule for Combined Bergen bids follows.

Combined Bergen Raiseswith Interference
Max Hardy Swiss Bids and Concealed/Ambiguous Splinters

Dummy Pts No Interference  Double Suit bid Passed Hand
2 Trumps

59 Pts *INT then 2 Mgor pass pass pass
3 Trumps

59 Pts *1INT then 2 Mgor pass pass pass



8-10(bad) Pts @2 Mgjor (Const.) 2 Major 2 Magjor 2 Major

10-12 Pts @3¢** Redouble Cuebid Drury (2#%*)
13+ 2over 1Bids  Redouble Cuebid N/A
16+ Pts Balanced @4 (Swiss) @4% @4 N/A

4 Trumps
0-6 Pts @3 Magjor (Weak) @3 Mgor @3 Mgor @3 Major
7-12 Pts @3%** @3 Clubs 2 Major 2Magor

Bid 3 Diamondsto
Ask 3v=7-9, 34=10-12

13+ Singleton @3 Other Mgjor @3 Other Mgjor @3 Other Mgjor N/A
(Concedled Splinter) then Step Bids#
13+ No Singleton 2over 1Bid 2over 1Bid 2 over 1 Bid N/A
15/16+ Pts @Jacoby 2NT @Jacoby 2NT @Jacoby 2NT N/A

5 Trumps
0-11 Pts Bid Game Bid Game Bid Game Bid Game
12-15 Pts @44 (Swiss) @4 @4¢ N/A

Note: With 5 HCP and three-card trump support, pass unless holding either a singleton
or at least one trump honor with all other HCP in one side suit. * Semi-Forcing
**=Forcing, @=Alert

# after 34 bid 3NT to find singleton/void, then 4&/44/4%9/44 denote Singleton/void. After
3v, bid 34, again steps denote the singleton. For example, 3NT denotes club
singleton/void, etc. If you want to know if it is @singleton/void, bid next suit up which
are Scroll Bids.

The above table also applies to Bergen Raises, one only need change the bid of 3&** to
show 7-9 points with four-card support and 3¢** to show four-card support with 10-12
points, INT* followed by three of the mgjor to show 10-12 points with three-card support
and Jacoby 2NT requires only 13+ starting points and four-card support.

If the overcall is at the two-level, we aso use the Bergen bids; however, if thebid is, for
example, 2, the bid of 3&* may show three- or four-card support because of its cuebid
nature.

Truscott Jordan 2NT



In the Combined Bergen Convention, we have chosen not to include the Truscott Jordan
2NT bid. If used, it is not the same as the Jacoby 2NT bid. The bid istypically used to
show alimit raise with three- or four-card support for the bid of a major over adouble (it
must be alerted). We recommend the Redouble which shows 10+ points with or without a
fit. After aredouble, one next supports the mgjor (shows 13+ with three- or four-card
support for the mgjor). If you redouble and bid your own suit, you are denying afit.
Discuss these options with your partner.

We recommend the Jordan 2NT over aminor suit opening if you do not play Flip-Flop. It
shows 5+ card support and alimit raise. Recall that playing Flip-Flop, 2NT isweak and a
three-level bid of the minor shows alimit raise.



Chapter 7—Opening INT

Aswe stated in the introduction, the opening bid of INT shows 13-15 HCP and a
balanced hand (4-3-3-3, 4-4-3-2, or 5-4-4-2). The bid is neither really weak nor strong;
however, when responding to the bids playing Precision, it is closer to “weak” notrump
bids than strong 15-17 bids played in the 2/1 Game Force System.

Responder with a balanced hand must take into account that gameis possible only if he
has a minimum of 12 HCP and opener has a maximum hand. Hence, with a balanced
hand, no five-card suit and fewer than 12 HCP, responder must pass. Responder does not
use transfer bids after the opening bid of INT. Two hearts and two spades are to play.
Three-level bids are invitational. We review the bids after opening INT.

2#/24 non-forcing (10-12 HCP) /forcing Stayman (12+ HCP) and only used if not a
passed hand. The bid of 2¢ by a passed hand is to play.

Other bidsfollow.

2% NF Stayman 10-12 HCP
2¢ Forcing Stayman 13+ HCP
29/24 to PLAY 0-8 HCP

3%/34/3%/34 6-card suit with 2 of top 3 honors  9-11 HCP

After Stayman, opener bids 2¢/2NT with no four-card major, two of amajor with four,
where 2¥ may imply both.

After INT-24-2¢

Pass Drop Dead Stayman with 4-4-4-1
2y Garbage Stayman (pick best 3-card mgjor)
2NT invitational

After INT-2¢-2¢

Pass Drop Dead Stayman with 4-4-4-1

2y Garbage Stayman (pick best 3-card mgjor)

2NT invitational

3m 5+ card suits, game forcing, slam oriented. By a passed hand it is
invitationa with a4-card mgjor and 5+ cards in the minor.

3M Smolen

4 Gerber

4e, 49 Delayed Texastransfer, 6+ 4 in the mgjors, no slam interest/very

strong hand with avoid



ANT, 5NT Quantitative (slam, grand slam)
5M GSF

After INT-24-2M:

2NT invitational

3m 5+ card suits, game forcing, slam oriented. By a passed hand it is
invitationa with a4-card mgjor and 5+ cards in the minor.

3M Invitational

Sets M as trump suit, and responder may be planning to RKCB in M in his next bid
(kickback/1430).

Im void, fit in M, slam interest.
ANT, 5NT Quantitative

5M GSF

5m Signoff

Interference with weak NT iscommon. After a double, INT-double, the following
scheme may be used.

M odified DONT (M eckwdl) Notrump Runouts

Meckwell Runouts bids are similar to the notrump overcall convention; hence, they share
the same name. Playing this convention, after the auction has begun INT-Double (for
penalty), a Redouble shows a single-suited hand and forces partner to bid 2# so that you
can pass or correct to your suit.

All bids at the two-level show atwo-suited hand with the bid suit and a higher-ranking
suit: 2% shows clubs and amajor suit, 2¢ shows diamonds and a major, 2% shows both
majors, and 2NT shows the minors. All three-level bids show along suit and are to play
and Texastransfers are on. If you have a good hand and want to play INT doubled, you
should pass. For the purposes of runout bids, a hand is two-suited if it is 4-4 or better, and
itissingle-suited if it contains a six-card or longer suit or afive-card suit without another
four-card suit. If 4-3-3-3, it isusually best to pretend the hand is two-suited.

BIDDING EXAMPLES
How would you bid each of the following hands after a INT opening?
(1) 4Q5%J754KQ8762 # Q5
Y ou have 10 HCP, bid 3¢

(2) & A7¥KQJIS7 ¢ AQ53 &7



You have 16 HCP, bid 2¢ and jump in hearts (3¥) to show Six-card suit.
©)] & Q7659 J964 ¢ 987 & J7

Bid 2#, if opener bids a major, pass. If opener bids 24, bid 2% (Garbage Stayman), pick
best three-card suit.

4 2Q764 9 A942 ¢ AQ2 & J4

Bid 2#, if partner bids 24, invite by bidding 34. After a rebid of 24, bid 2NT.

(5) & A62 9 AQIO ¢ AB73 & J42

Bid 3NT.

(6) & Q65 Y KQ7 ¢ AKJ52 & 74

Y ou have 15 HCP, bid 2¢ game forcing and then 3NT. Suppose instead of 15 HCP, you
only had 10-12 HCP, now you would bid 2#, and after a bid of a major by opener bid 3+,
anon-forcing sequence of bids.

Bidding by a Passed Hand (Double barreled Stayman is off)

Now, 2« is the Stayman and 2¢ is a transfer to hearts; however, al invitational three-
level bids are appropriate.

What would the sequence  1INT - 2¢;
2¢ - 3¥; or 24 - 39;

mean? This delayed three-level bid shows a six-card suit but would suggest gamein
notrump or hearts, respectively. For example, suppose you had the following hand:

4659 AQJ752 ¢ K53 & 109

As opener, you would pass, but if partner bids INT, you would use the above sequence of
bids. With five hearts, you would now bid 24 as a transfer.

COMPLETE BIDDING SEQUENCES over INT Opening



(1)

)

2 Q98
v A76
+ AK56
* Q73

INT

24 KQ873
v KQ4
*562

* K8

INT
34 (forcing)
5%

2 KJ742 )
v K5

+ Q842

* 54

29v (to play)

2 J6 (4)
v AJ10

¢7

& AQ76542

3¢ (9-11 HCP)
4
pass

& A743
v A92
¢ A7

& 9643

INT
2y

& KJ43
v 192
+ K75
& AKS

INT
24
4
4e
Ga

2 Q1094
v QJ75
* Q54
*72

2% (Stayman)
pass

& A1094
v A2

¢+ AQ9654
&7

2¢ (Stayman)
3e
4e
S5e



Chapter 8 —Weak Two Major and Preemptive Bids
Weak Two Bids

Weak major suit openings of 24/2% will be played as in 2/1 Game Force. The bids show a
six-card suit with 5-10 HCP. The bids ensure at |east one of the top three honors.
Occasionally, when non-vulnerable you may have only a five-card suit. The object of the
bid isto interfere with the opponents' bidding.

Rule of 17

When responding to a major suit two-level opening bid, one may use the RULE OF 17.
Therule goes as follows. If the number of Dummy Points and the number of cardsin the
major suit bid total 17, bid to the four-level in the major.

With 12-15 Dummy Points and two-card support, raise the two-level bid to three; a weak
competitive raise is non-forcing and need not be alerted. It is called by some “raise only
non-forcing” (RONF). Any new suit by responder is aso non-forcing but must be alerted.
With 15-16 starting points, responder makes aforcing 2NT bid, which asks the opening
bidder to describe his hand and is invitational to game in the major with at least two-card
support or notrump, independent of vulnerability.

The OGUST Convention

After aweak two bid (usually a six-card suit), the convention allows for a detailed
description of the opener’s hand. It isinvoked by the artificial 2NT bid made by the
responder. The reply to a weak two bid shows strength and asks whether the opener is
weak (5-7/6-8 starting points) or strong (8-10/9-11 starting points) and how many of the
top three honors are held in the mgjor. The replies are most commonly as follows.

3% minimum, 1 top suit honor (BAD/WEAK Hand and BAD/STRONG Suit)

3¢ minimum, 2 top suit honors (BAD/WEAK Hand and GOOD/STRONG Suit)

3v maximum, 1 top suit honor (GOOD/STRONG Hand and BAD/WEAK Suit)

3e maximum, 2 top suit honors (GOOD/STRONG Hand and GOOD/STRONG Suit)
3NT al 3 honors, A-K-Q-x-x-x and little else

A simple way to remember thisisto picture Mamma Miadancing. 1-2, 1-2, 1-2-3...
These refer to the order of the top honors in the major as shown above. The bids represent
HAND and then SUIT - NOT SUIT and then HAND!

NOTE: Some players interchange the bids of three diamonds and three hearts. The 1-1, 2-
2, 1-2-3 dance step! Some playersincorrectly usethe convention to show first suit
and not hand.



Discuss this convention with your partner. The word OGUST may have a different
meaning to your partner! Thisiswhy adescription of any convention is better than using
simply the words “1 play Ogust." The OGUST Convention is used instead of “asking” for
afeature (ace or king).

What if responder has his own suit? We have said that araise in opener’s suit is non-
forcing. When partner bids his own suit, it is most often played as forcing for one round
and asks partner to support the suit bid with three-card support or to pass. If you do not
play it asforcing, you must alert the new bid as non-forcing “it appearsin red on your
convention card.”

M odified OGUST Convention

Because bidding is becoming more aggressive, many partnerships will open weak twos
with afive-card mgjor one suiter. If you do, one may use Modified OGUST rebidsto
describe the hand. Again, the 2NT bid is used to ask about the hand. Using this
convention, the bids are:

3% 5-card suit GOOD/STRONG hand
3¢ 5-card suit BAD/WEAK hand
3v 6-card suit BAD/WEAK hand
3e 6-card suit GOOD/STRONG hand

3NT either a5- or 6-card suit or asemi-solid 5- or 6-card suit plus ace or kingin a
side suit

Observe that the 3% bid is used to show a stronger HAND in order to |leave more room
for further investigation since all responses describe only the“HAND” and say nothing
about the quality of the suit.

If after the response of the 3 bid, responder wants to find out about the SUIT, one bids
3e*. The opener now clarifies the suit strength with the following bids.

3v* BAD/WEAK suit and 1honor
34*  GOOD/STRONG suit and 2 honors
3NT* GOOD/STRONG suit and 3 honors

Following OGUST, one describes the HAND and upon request, then the SUIT.

A common practiceisto usefive-card OGUST Non-Vulnerable and six-card
OGUST Vulnerable!

If you do not make this distinction (five- and six-cards) in your partnership agreement,
thereis yet another convention called the TWO-STEP OGUST Convention developed by
Daniel Zenko. It isdiscussed in the April 1997 issue of “The Bridge World."



While experts use OGUST type responses for two-suited 6-4 hands in the maors, the
responses become complicated and will not be discussed.

Opening three- and four-level bids

Opening bids at the three-level are preemptive showing a weak hand (5-10 HCP) and are
able to take about five tricks in the trump suit bid. To open the bidding one usually has a
seven-card suit and no ace or king in an outside suit or four cardsin amajor. Vulnerable
you should hold two of the top three honorsin the suit bid. Once you make a three-level
bid, you have described your entire hand, so do not bid again, unless partner makes
aforcing bid. The only ways partner can forceis by bidding a new suit, by cuebidding
the opponent's suit, or by asking for aces. Or, if you play 3NT* as Ogust at the three-
level, itisforcing.

Opening at the four-level is also preemptive showing aweak hand; oneis usually able to
take six tricks in the trump suit. Now, you need an eight-card suit, no outside ace or king,
no four card major, and three of the top five honors. Y ou only get one bid.

Rule of 2/3

A guide to preemptive opening bids and overcalsis that one cannot afford to be set more
than 500 unless oneis saving against a slam contract. One often assumes that a
vulnerable partner can make two tricks, and a non-vulnerable partner three tricks. Thus, a
player who opens 44 should have an eight playing trick hand if vulnerable, and a seven
playing trick hand if not vulnerable. To count playing tricks, only thefirst threetricks
in asuit arecounted. Winnersarethe A, K, or Q only in the suit. With less than three
cards, there are these loser honor exceptions: AQ =%, Kx =%, KQ=1,K =1, Q=1,
Qx=2.

What does that mean? The Rule of 2/3 states that with aweak hand and along, strong
suit, you should count your playing tricks and add three when non-vulnerable, and add
two if vulnerable.

To illustrate, we consider two hands:

A) 4aAKQ10653 ¥ 8 ¢ 954 % 96 B) & void ¥ 63 ¢ AQJ876432 & 87
In Hand A, you have six losers (0 in spades, 1 in hearts, 3 in diamonds, and 2 in clubs).
13 cards-6 losers=7 playing tricks. Non-vulnerable, adding 3, 7+3=10 so you should
open 4. If you open at only the three-levels, you would be underbidding your cards. Y ou

would open 3 only if vulnerable (7+2=9).

In Hand B, you have five losers. 13-5= 8 playing tricks. Non-vulnerable, adding 3, 8+3 +
11 so you would open five diamonds. If vulnerable, bid only four diamonds.



Opening ANT* Gambling

To use the bid of Gambling 3NT*, you must have a solid running minor suit with 7+
cards with the AKQ and usually the J. However, when it comes to strength outside the
minor suit, not all agree upon the requirements. The bid is aways aerted.

In the first seat, most play the bid with no valuesin any outside suit vulnerable or non-
vulnerable. However, if vulnerable some require a stopper in the other minor but no
stoppers in the majors. Why? With no stoppers outside, partner will bid 44, asking
partner to bid his minor. With all suits stopped, he will leave the bid stand. However,
when vulnerable, partner only needs stoppers in the majors, knowing partner has along
minor and the other minor stopped he will leave the game bid of 3NT* to play if
vulnerable with stoppers in the maors.

When responding to the Gambling 3NT* bid, Marty Bergen makes the following
recommendations for responder bids.

Responsesto 3NT* (Per Marty Bergen)
4% sayslet’splay in apart score 44 or 44
4¢* is asking opener to bid a singleton: responses are:
4v heart singleton
VP spade singleton
ANT  minor suit singleton
5% no singleton
Example: Responder has 4 AKQ7 ¥ 76 ¢ AKQ7 % 432
With a heart singleton, you want to play in six clubs otherwise you would bid five clubs.
4w and 4 are signoffsin responder’ s long suit. Opener must pass.
ANT isinvitationa to slam, asking opener to bid a minor suit slam with an outside trick.

5& asks opener to play in aminor suit game.

5¢ isasignoff by responder, responder knows that the opener has long diamonds and
wants to play game from his side.

5NT isagrand amtry, to play in 7# or 7¢.

Responder has no losers outside the trump suit but is usually void of the trump suit and is
afraid of atrump loser.



6% isto play slam in 6#/64; opener is to pick the suit.
A bid of 6¢ by responder is to play slam in diamonds; responder knows that it is the long
suit.

ACOL* ANT Opening

An opening bid of 4NT asks for specific aces. The responses are:

5& no ace
5¢/5%/54/6% shows the ace in the suit bid
5NT shows 2 aces

(*) A bidding system played primarily in Great Britain.

Namyats

NAMY ATS was created by Sam Stayman who, after creating the Stayman 2# response
to partner's notrump opener, coined the NAMY ATS Convention using his namein
reverse order. The NAMYATS Convention, part of the 2/1 game force system, allows
one to differentiate between a strong distributional hand, which may provide aslam
opportunity with less opponent interference, and a preemptive bid that has no slam
opportunity.

The bid requires a 7+ card suit in hearts or spades, and like the strong two club opener,
requires 8 ¥ - 9 playing tricks. The major suit has two of the top three honors non-
vulnerable and three of the top five honors vulnerable, and both require an outside ace or
protected king. Thus, you almost have game in hand; partner has to only cover one loser
in amajor game contract. The bids use the minor preemptive four-level bids:

F 3 transfer to hearts
4o transfer to spades

If responder bids the transfer suit, this usually denotes no interest in slam. However, if
one bids the next step, it indicates slam interest in the mgjor.

4&* 4e¢ slam interest
4e* 4% slam interest
General

In first and second position, 4% and 4¢ openings show "good" four-level preemptsin
hearts and spades respectively. The requirements for such an opening are:

1. Exactly two key cards (five aces and trump king), and
2. No more than one uncontrolled suit, and
3. Alosing trick count of at most five, and



4. At most three of the nine side-suit aces, king and queens, with no side suit
containing all three of these honours, and
5. A main suit at least as good as
1. KQT9xxx or KQIxxxx or aside void, when holding a seven card main
suit, or
2. KQxxxxxx when holding at least an eight card main suit, and
6. If holding avoid, opener must also hold
1. Anuncontrolled suit and amain suit of at least AKQxxxx or AKXXXXXX,
or
2. A suit lacking first- or second-round control but holding third-round
control (doubleton or queen) and aweaker main suit.

A controlled suit is one in which the ace or king is held, or one in which at most one card
isheld.

Responding to Namyats openings
After a Namyats 4% opening

Responder may inquire with 4¢ when holding at least 2 key cards and some prospects of
slam, or make other descriptive slam tries, or sign off in opener's suit at the four level.
After theinquiry, in auctions where specific holdings are shown, "strong" holdings (void
and honour combinations) are shown naturally, and uncontrolled suits are shown in the
order other-mgjor, clubs, diamonds.

4e Inquiry, showing at |east two key cards
4 Minimum requirements
Py Better than minimum, unspecified void
ANT Inquiry
5&/5¢/5% Club/diamond/spade void

ANT Better than minimum, no void, all suits
controlled

5&/5¢/5v Better than minimum, no void, no control in
spade/club/diamond suit

S5e AKQxxxxx with two singletons and a KQx

suit, or AKQxxxxx with one singleton and
two Kx suits, or KQJxxxxx with two
singletons and a AKX suit

5NT Inquiry
6%/64/6¥ Club/diamond/spade suit with KQx, Kx or

AKX respectively according to the hand type
held for the 5S response

5NT/6C/6D AKQxxxx and a spade/club/diamond suit of
KQJx with two singletons, or AKQxxxx and



oY
4v
44/ANT/5%

S5¢

5v

After a Namyats 44 opening

a spade/club/diamond suit of KQx with a
singleton and a Kx suit

AKxxxxxxx, two singletons and a Kx suit

To play

Spade/diamond/club void, slam interest and at
least one key card

Small doubleton trump, three side aces and
possibly nothing else

Small singleton trump, three side aces and
nothing else

Responder may inquire with 4H when holding at least 2 key cards and some prospects of
slam, or make other descriptive slam tries, or sign off in opener's suit at the four level.
After the inquiry, in auctions where specific holdings are shown, "strong" holdings (void
and honour combinations) are shown naturally, and uncontrolled suits are shown in the
order other-mgjor, clubs, diamonds.

4v

ANT
S

S

5¢/5v/54

SNT

O

6#/G4/6Y

64

5¢/59/54

6¢/6v/6e

Inquiry, showing at |east two key cards
Minimum requirements

Better than minimum, unspecified void
Inquiry

Diamond/heart/club void

Better than minimum, no void, all suits
controlled

Better than minimum, no void, no control in
heart/club/diamond suit

AKQxxxxx with two singletons and a KQx suit,
or AKQxxxxx with one singleton and two Kx
suits, or KQIxxxxx with two singletons and a
AKX suit

Inquiry

Diamond/heart/club suit with KQx, Kx or AKx
respectively according to the hand type held for
the 5NT response

AKQxxxx and a club/diamond/heart suit of
KQJx with two singletons, or AKQxxxx and a
club/diamond/heart suit of KQx with asingleton
and a Kx suit

AKxxxxxxx, two singletons and a Kx suit



Py To play

ANT/5%/5¢ Heart/club/diamond void, slam interest and at
least one key card

5v Small doubleton trump, three side aces and
possibly nothing else

54 Small singleton trump, three side aces and
nothing else

Holding the following hand, what do you open?

#AK109653 ¥7 ¢ 9 # KJ73

The hand is too strong to open 44. Playing Namyats, one would open the bidding 44*.
The above hand istoo strong to open 44. Playing Namyats, one would open the bidding
4¢*, With slam interest, responder bids 4¥ and with two keycards and the queen of

trump, opener responds 5¢. Lacking one keycard, responders bids 64. The Namyats bid is
more descriptive than opening the hand 1.

Flannery Option

While we recommend one use the two-level bids of amajor as weak, similar to the 2/1
Game Force System with OGUST responses; another option is to use the two-level bids
to show vaues. With the “values’ option, the bids are defined:

2y 11-15 HCP and 5-4 in hearts and spades (Flannery)
24 11-15 HCP and 5-5 in spades and hearts

After the bid of two hearts, 2NT is the Fannery asking bid asin 2/1 Game Force and
usually forcing to game. After the bid of two spades, the bid of 2NT is again forcing to
game in amajor or notrump, a simple raise would deny game val ues.



Chapter 9 —Opening 2¢* and 2&*

Opening 2¢* (Mini-Roman M odified)

The opening bid of two diamondsis virtually never the same across strong club systems.
In many systemsit is used to show avery strong 4-4-4-1 with 16+ HCP. However, we
have found that this bid does not occur that often, perhaps 1 percent of the time. Hence,
we will use the bid to show a hand that is 4-4 in the majors and with a distribution that is
exactly: 4=4-4-1 or 4=4-5-0. The bid must be alerted and described as being 4=4 in the
majors with a singleton or void. This concept was suggested by Bill Amason.

Partner Responseto 2¢*

2v/24 3+ card support 0-12 HCP
2NT* 13+ HCP (asks partner to bid singleton)
Opener Rebids

3a*/3¢* 4=4=4=1/4=4=1=4 singleton in bid suit
4*/4¢* 4=4=5=0/4=4=0=5 void in bid suit
Partner sets the contract or bids 4ANT (Blackwood)

3&/3¢ 13+ HCP with own 5-card suit
Opener Rebids
Pass 11 HCP
3NT 12+ HCP denies support for the minor
Bidding other minor at the 4-level is an asking bid - bid best major
3v/34 shows 13+ HCP and 4+ cards in mgjor
3NT 16+ HCP and support for 1 major
Aa*/44% splinter bid with singleton and support for 1 major
Sd*/54* void in bid suit with support for 1 major

With interference

Negative double through 34

Redouble 10+ HCP

Cuebid 13+ HCP
Opening 2&*

The opening bid of two clubsin Precision shows 11-15 HCP and a 6+ clubs with or
without a four-card major. This bid also must be alerted. Do not use the bid with only a
five-card club suit. The responses to the bid follow.



Partner responses:

2¢* 11+ HCP, conventional and forcing for one round

Opener Rebids

2y
24
2NT

3&
3v
3e

3NT

29/24
2NT

3&
3¢/39/34
4
4v/4e

4e

11-15HCP, 4-card ¥ suit
11-15 HCP, 4-card # suit
11-15HCP, 6-3-2-2 BAL hand, 6-card club suit with amajor stopper

Partner Rebid
3¢*  requests opener to clarify stoppers

Opener Bids

3v* W stopper

3a* & stopper

3NT ¥ and # stoppers

14-15 HCP non-forcing and unba anced hand (1-3-3-6)

14-15 HCP, 5+card ¥ suit

14-15 HCP, relay back to #’s, solid club suit AKJ109x allows responder
to bid 3NT

14-15 HCP, 5+spades and 6+ clubs

Natural with 5+cards, 8-10 HCP

Natural 10-12 HCP

Preemptive raise not forward going

6+ card suit, 12 HCP opener may pass, raise, or bid SNT
Invitational to gamein clubs

Natural and to play

RKCB for clubs

With interference

Negative double through 34
Redouble 10+ HCP
Cuebid 13+ HCP

BIDDING QUESTIONS

What is your opening bid?

(1) # K986 v QJ87 ¢ Q98 # K5

(2) 4 K976 ¥ QJ97 ¢ Q987 & A



(3) & A762 ¥ KQJ9 ¢ void # KQ10542

(4) & A6 97 ¢ AK98 & Q109542

(5) # K93 vA7 ¢ K98 & AJ952

(6) # A762 ¥ KQJ ¢ void # AKQ10542

(7) 2769 Q8 ¢ 7% AKQJ10542

(2) You have 4=4-3-2 distribution and 11 HCP, open 1¢*.
(2) You have 4=4=4=1 distribution and 12 HCP, open 2¢*.
(3) You have 15 HCP with 6 clubs, open 2#*.

(4) You have 13 HCP with 6 clubs, open 2#*.

(5) You have a semi-balanced hand with 15 HCP, open INT.
(6) You have 19 HCP, open 1#*.

(7) You have along minor, open 3NT* (gambling).

Partner has opened 2#* and 24*, so how do you respond?
(1) # K986 ¥ QJ87 ¢ Q98 # K5

With 11 HCP, and two four-card majors, after the bid of 2&*, bid 2e*. If partner shows
either mgjor or rebids clubs, you will pass. If opener responds 2NT, you should pass.

After the opening bid of 2¢*, you must bid 2.
(2) #KQ6 ¥ AJ976 ¢ 98 # K5

Y ou have 13 HCP, after the bid of 2&*, bid 3¥ (natural to play). If partner bids 3NT,
pass.

After the bid of 2¢*, bid 2NT; after opener shows his singleton, bid 3% (invitational to
game). With 15 HCP, you would have bid 4.

(3) 4 K76 ¥ 976 ¢ A982 & 876
You have only 7 HCP; after 2#*, bid 3#. This forces the opponents to the three-level.

After the bid of 2¢*, you should bid 24.



(4) 4 K76 ¥ KI97 ¢ A982 & J7

You have 12 HCP; after 2#*, bid 2NT. If partner bids spades, pass. However, if partner
bids 3v, bid four. After the bid of 3¢, you would invite game by bidding 3%.

After the opening bid of 2¢*, you must bid 3.
(5) a KQ76 ¥ J7 ¢ 75 & AKQ86

Y ou have 15 HCP, after the bid of 2#*, bid 24* to see if you have a double fit in spades
and clubs; if partner bids 34, bid 44 and if partner bids 3%, bid 5.

After the bid of 2¢*, you should bid game in spades, 44.

COMPLETE EXAMPLES
(1) Opener & KQ76%J7 ¢7 % AKQ862  Partner & A102 ¥ KQ9865 ¢953 & ]
Opener has 14 HCP and a six-card club suit and opens 2#*. Partner has 10 HCP and a
five-card heart suit and bids 2¢*; opener next bids 24* to show his four-card spade suit.
With his six-card heart suit, partner next bids 3¥; opener bids 4%.
(2) Opener 476 % AQ7 ¢ 105 # AKJ1052  Partner 4 KJ54 ¥ 98 ¢ AK94 & Q73
With asix-card club suit and 14 HCP, opener bids 2#*. With four spades, partner bids
2¢* (asking for afour-card maor). Without a major, opener next bids 2NT (showing 6-3-
2-2 distribution). Partner bids 3¢*, and opener next bids 3¥* (heart stopper); partner next
bids 3NT. Note, if partner did not have a heart stopper; the final contract would be 5.
(3) Opener & AQ76 Y KQJ2 ¢J1095 %7 Partner 4 K532 %98 ¢ K943 & KJ6
With 4=4-4-1 distribution and 13 HCP, open the bidding 2¢*. Partner has 10 HCP and
bids 2a. If partner had the following hand with 11 HCP & K5 ¥ 98 ¢ K10432 & KQ72,
what is hisbid? Y ou cannot bid amajor, bid 2NT.
(4) Opener & AQ76 % AK95 ¢ 7 & 10954 Partner & KJ52 % Q8 ¢ AK4 #KJ76

With 4=4-1-4, distribution, open 2¢*. Partner has 17 HCP and support for one of the
majors. He bids 3NT. Because of his singleton diamond, opener next bids 4.



Chapter 10 — Opening 1e*

The bid of 1¢* in the Precision System is a catchall bid and must be aerted. Y ou do not
have afive-card major, your hand is not balanced or too weak for INT, and you do not
have along club suit, but you usually have at |east 2+ diamonds (sometimes only one, for
example 4-3-1=5) and 11-15 HCP (11-13 HCP non-vulnerable and 12-15 vulnerable and
two quick tricks). Thisis used when no other Precision bid is available. In the fourth seat,
theruleof 15is used.

The bid of 1¢* will always show one of the following hand-types with two quick tricks:

« Balanced or semi-balanced hands in the 11-12 point range (like a weak notrump!)

e 11-15 pointswith aweak five-card clubs suit and likely afour-card diamond suit

e 11-15 point hands with any five-card or longer diamond suit not covered by other
opening standard Precision openings

e Some 4-4-4-1 hands that are 4=4 in the mgors but 16+ HCP

In many books on Precision, hands that are 4=4 in the mgjors with 11-15 HCP are opened
1e*. This is not the case in Precision Simplified; those hands are instead opened 2¢*. A
hand that is not 4=4 in the mgjors, for example:

46549 AQJ7 ¢ 65 & AJ97
would be opened 1¢*. You have 2+ diamonds and 12 HCP and no five-card major.
Another hand that is opened 14* is one that is 4-5 in the minors with five clubs and four
diamonds. Or, adding a club and deleting a diamond:

46549 AQJ7 ¢ 6 % AJ975,
you again must open the hand 1¢*, even with only a singleton diamond.
If you had the hand:

479 QJ7 ¢ AKJ7 # Q5432
you would again open the bidding 1e*. After partner bids 14 or INT, show your club suit
by bidding 2#. Partner knows it does not contain Six-cards since you did not open the
hand 2#*.
Because the opponents like to interfere over the bid of one diamond amost as much as

the bid of 1#*, we recommend the use of relay bids for the majors and notrump. The
bidding structure follows.

When they double




If the bidding goes: 1¢* - double bid as follows:

REDOUBLE shows 5+ hearts asks partner to bid 1v
lv shows 5+ spades asks partner to bid 14
1a transfer bid asks partner to bid INT
INT 8-10 HCP

L natural 5+ clubs

2¢ 13+ HCP, diamond raise

2v/24 to Play

2NT 11-12 HCP

38 10-12 HCP, limit raise in diamonds

Respondingto 1e*

The Precision responses to the bid of one diamond are similar to the bids used playing
2/1. The bidding structure follows and includes inverted minors with crisscross.
However, with a 16+ HCP we use strong jump shifts bid for amgjor which differs from
2/1 where jJump shifts are usually weak.

The bids follow.

1v/14 4+ cards in suit with 6+ HCP (to show weak hand rebid majors since using strong
jump shifts)

INT 8-10 HCP, balanced hand

2NT 11- 12 HCP, balanced hand

3NT 13-15 HCP, balanced hand

2% 10-12 HCP forcing one round, 5/6+ diamonds

24* 13+ HCP with 5/6+ diamonds forcing one round
2v/24 16+ HCP strong jump shift in Major 5+ cards, (GF)
3a* 10-12 HCP, 5+ diamonds (Crisscross)

3e* less than 10 HCP, weak, preemptive raise 5+ ¢

3v/34 Splinter bid in support of diamonds (slam interest 16+)
4 Splinter bid in support of diamonds (slam interest 16+)
4e Minorwood 1430 Keycard for diamonds

4v/4e Single-suited hand to play

After astrong jump shift in amajor, one either plays the hand in the mgjor, notrump or
perhaps diamonds.

After 1¢* -1%

Opener re-bids

1e 4 spades, denies 4 hearts
INT balanced hand, denies a 4-card mgjor



2% shows 5 clubs, denies a4-card major

2¢ 5+ diamonds, denies a4-card major

2y 11- 12 HCP, 3+ card support

2NT 13-15 HCP, stoppersin other suits

3% 5-5 in the minors (values in the minors)
3¢ 6+ diamond suit (strong diamond suit)
3v 13- 15 HCP and 4 hearts

The bids after the sequence 1¢*-14 follow similarly.

New Minor Forcing (Checkback Stayman)

The sequence 14* - 1¥/14 - INT - 2& is New Minor Forcing or Checkback Stayman.
In particular, suppose the bidding goes: 1¢* - 1% - INT - 2 - (?)

2¢ no heart fit 11-12 HCP
2y 3 heartsand 11-12 HCP
24 4 spades and 13-15 HCP
2NT  13-15 HCP and balanced
3v 3 hearts and 13-15 HCP

The bids after the sequence 1¢* - 14 - INT - 2% - (?) follow similarly.

To invoke New Minor Forcing requires 10+ HCP, hence, if it not used, the opening
bidder knows immediately that partner has less than 10 HCP and thus any rebid by
partner is usually passed. However, ajump rebids (at the three-level) by the responder in
amgjor are invitational to game showing 11-12 HCP asisthe bid of 2NT.

After the bid of amajor, ajump to the three-level in aminor shows a major-minor two-
suited hand usually 5-5 with no more than six losers.

Getting to notrump

After an inverted minor raise 14* - pass - 2¢* (showing 13+ HCP).

Show major suit stoppers 2¢ or 24, bid up-the-line. No extra val ues.
Bid 2NT with a minimum and both majors are stopped.

Bid 3% to show club stopper, neither hearts of spades stopped.

Bid 3¢ with a minimum without major stoppers.

Bid 3v or 3NT, showing hearts stopped, over 24 with minimum values.

agrLODdDE

After aweak raise 1¢* - pass - 3¢* (showing less than 10 HCP)

a. Passwith al minimum and ailmost all intermediate sized hands
b. A new suit isforcing one round and shows a very strong hand
c. 3NT isto play regardless what partner had for his preemptive raise



d. 4 of theminor isinvitational
Note: After 1¢*-2¢*, you can bid major stoppers out of order to show club shortness

below 3NT. Opener bids 24 and then, over a2NT or 3¢ response, bids 3¥. This shows
club shortness and enough values for game while still alowing 3NT to be bid by partner.

ILLUSTRATIONS, BIDDING QUESTIONS, AND EXAMPLES
Let'slook at some hands where you must open 1e*.
(1) 465 A7 ¢ AKQ9 % J9876
Y ou have five clubs and four diamonds and 12 HCP. Y ou cannot open it 2& with only
five. If partner bids one of amajor, rebid 2% to show five. Even though you are 5-4 in the
minors, you cannot show this without rebids.
(2) # Q98 ¥ K654 ¢ Q4 # AJ987
Y ou have 14 HCP and again would open it one diamond. If partner bids hearts, you
would support the bid; however, if partner bids 14, you would again bid 24. Note that
here you have shortness in diamonds. If partner next bids diamonds, bid notrump.
(3) 498 v J ¢ AKJ43 & AJ987
You have 14 HCP and are 5-5 in the minors. If partner responds one of a major, you
would next jump in clubs and bid 3# which shows you are 5-5 in the minors with values
in the minors.
(4) 498 v ] ¢ AKQI32 # A109
Y ou have 15 HCP and a very strong diamond suit; after partner bids a major, respond
with ajump bid of 3¢ to show a strong 6+ diamond suit. If partner has the other major, it
encourages 3NT. Do not open the hand 3NT with the A& in first seat.
(5) 4987 v J987 ¢ A % AQJ109
Thisisadifficult hand for the Precision System. It does not fit any bidding structure. Y ou
have three options: (1) pass with 12 HCP and wait to see what develops, (2) by
agreement open the bidding 1% with only four, or (3) open the hand 1¢.
(6) 4K987 ¥ A987 ¢ A3 & KQJ

Even with 17 HCP, open the bidding 1#*. If you open the bidding 1#* and partner bids
1le* what is your rebid? Perhaps INT!

If partner raises the bid of one diamond, plan to play the hand in notrump



(7) 4AJ7 % 7 ¢ AJ10 765 % 567

Y ou have two aces and only 10 HCP, open the bidding 1¢* and then rebid them to show
your length. Thisis aminimum Precision opening, you have a six-card suit with a
singleton, do not pass.

(8) 47 v KQI98 ¢ AKJ6 & K567

Y ou have 16 HCP open the hand 1¢*. If you were to open it 1#* and partner were to bid
1e*, you have no rebid because of the singleton spade. If partner responds 1% after the
bid of one diamond, you may bid 3v.

(9) 4K 1085 ¥ KQ9 ¢ 7 # A9754

Y ou have 12 HCP, but only five clubs and you are not 4-4 in the mgjors. Even with a
singleton diamond, you must open the hand one diamond. If your partner raises diamonds
or bids notrump, play the hand in notrump. If partner preempts with the bid of 3¢, pass.
Your partner has opened the bidding 1¢*, what isyour bid?

(1) 498 v J ¢ AKJ43 & AJ987

Y ou have 14 HCP and five diamonds; to show your values, bid 2¢* (inverted) to show
13+ and diamonds. If partner bids 2% (stopper), bid 3% (stopper) trying to get to notrump.

(2) 498 ¥ J ¢ AQJ43 & A10987

Y ou only have 12 HCP and diamonds, bid 3%* to show a limit raise in diamonds; if
partner next bids 2NT (stoppersin both major), bid 3NT.

(3) 7 ¥ AQJ4 ¢ AKJ43 & A7

Y ou have 19 HCP, bid 3 (a splinter bid in support of diamonds showing 16+ HCP) and
invitational to slam in diamonds.

(4) 47 ¥ AQJ42 ¢ AKJ4 & A7
Y ou again have 19 HCP, but with five hearts. Make ajump shift bid of 2% to show your
values. If partner supports hearts, begin a cuebidding sequence or because of your

singleton, use EKCB by bidding spades at the five-level. Do not use RKCB with a
singleton.

(5) 4AK64 ¥ 7 ¢ AKJ4 # AK987

Y ou have 22 HCP, bid 2¢*. Even with only four diamonds show 13+ HCP. Wait to see
what partner next bids (some may splinter in hearts). You clearly have slam.



Bid each of the following hands.
(1) Opener 4 KQ76 ¥ J7 ¢ 78 # AKQ86
Partner & A102 ¥ KQ9865 ¢ 953 & ]
Y ou have 15 HCP and two doubletons, open the bidding 1#*. Partner will bid 1¥. Your
rebid is 2%. If partner rebids 2%, then your bid is 24. Partner with four spades will bid 24
and you will bid game in spades.
(2) Opener 4739 J7 ¢ AQ54 & AK986
Partner & A102 v KQ98 ¢ K632 & J2
Y ou have 14 HCP, open the bidding open 1e*. Partner with 13 HCP bids 1¥. Next

opener will bid 2#; followed by a bid of 24 (fourth suit forcing for one round). You
would next bid 3NT.



Chapter 11 — Opening 2NT*

In many versions of Precision, the opening bid of 2NT shows 22-23 HCP and a balanced
hand. In our version, with a negative response, thisis accomplished by bidding 1&* - 1e*
- 2NT*; with a positive response and no fit in the mgjor, 1&* - 2¢*/19*, or using the
notrump transfer (1% *-14%*), one bids 3NT to show 22-23 HCP and a balanced hand.

In Precision Simplified, 2NT* is used to show a hand that is 5-5 in the minors with
limited values. To open ahand 2NT* non-vulnerable requires only 4-8 HCP and
vulnerable requires 8-12 HCP. Following the recommendations of “Precision Today," the
responses to the bid are:

Responsesto 2NT* 5-5in theminors

3% or 34 is to play
3¥* isan asking bid.

Opener Rebids (all bids are alerted)

3e 5-5 minimum (4-6 NV, 8-10 VUL)
3NT  maximum

4 6-5 (clubs, diamonds), minimum
4¢ 6-5 (diamonds, clubs), minimum
4 6-5 (clubs, diamonds), maximum
VP 6-5 (diamonds, clubs), maximum
ANT 6-6inthe minors

3e to play
3NT toplay
4%/4¢ preemptive bids, to play
4v/4e toplay
S5%/5¢ to play

The bid of 2NT* isdesigned to be preemptive, game is unlikely. The strategy is to make
bidding by the opponents difficult. The better your shape, the higher you should bid.

EXAMPLES

For each of the following hands, partner opens 2NT*, what is your bid, both (a)
vulnerable (8-12) and (b) non-vulnerable (4-8)?

(1) aAK64 ¥ 7 ¢ AKJ4 & AK987
Y ou have 20 HCP. (a) With agreat minor suit fit, bid 6%. (b) Invite game by bidding 4.

(2) & A102 ¥ AQ98 ¢ 9532 & K2



You have 13 HCP, (@) bid 3w, if partner is at a maximum with 12 HCP, he will bid SNT
and you would pass. With aminimum (8 HCP), he will bid 34, and your rebid is 44. (b)
Your only bid is 3¢ to play.

(3) #KJ2 ¥ AQJI865 ¢ A9 & K

Y ou have 18 HCP, (a) you know partner has at least 8 HCP, bid 4¥. (b) Because 3% is an
asking bid, you cannot bid 3¥; bid 3NT to play.

(4) « AQ9 ¥ A976 ¢ AQ9 & A65
Y ou have abalanced hand with 20 HCP, (a) or (b) bid 3NT.
(5) # AQ98 ¥ AKQJ ¢ A9 & K62

You are 4-4 in the mgjors with 23 HCP, (a) bid 3%; if partner next bids 34, bid 3NT.
However, if partner bids 3NT, bid 6NT. (b) Bid 3NT to play.



Chapter 12 — Slam Bidding

To reach a slam, the partnership should have about 33 HCP. In addition to a trump fit and
count, slams require controls (aces, kings, voids, and singletons). The more controls
between the partners, the easier the slam. To evaluate whether or not the partnership has
the required controls, one uses cuebids and Blackwood Conventions. Blackwood
Conventions reveal how many aces and kings, for example, while cuebidding or control
showing bids revea where they reside. Parts of this chapter appeared in Timm (2010),
“2/1 Game Force a Modern Approach,” however, the examples have been modified to fit
into the Precision bidding structure.

The Blackwood Convention

The most used and abused convention in bridge is the original Blackwood Convention
developed by Easley Blackwood Sr. because many believeit will handle all situations. It
does not. While the convention does not require knowing the trump suit, it does require
that one knows whether or not slam is possible. The convention augments this knowledge
by helping one find the number of aces and kings.

The convention should not be used when:

(1) Holding two or more cards in an unbid suit with no ace or king (e.g.,
XX, QX, JX)

(2) Holding avoid

(3) One hasa dlam invitational hand (e.g., INT facing INT hands)

To use the convention, the captain bids 4NT, which is the asking partner for the number
of aces held.

The responses are:

54 Oacesor al 4 aces

5e¢ 1 ace
Sv 2 aces
57 3aces

If only two aces are missing, the captain signs off in 5SNT or five of asuit. If one aceis
missing, one may bid 6NT or six of a suit.

What do you do if you have avoid? Do not count it as an ace. With an even number of
aces (2 or 4) bid 5NT and with an odd number (1 or 3), bid the suit at the six-levels. It
works. If you have no aces and a void (ignore the void), bid 5% since the void may be
in asuit where partner has an ace.



Knowing you have all the aces, 5NT isthe king's ask (without a void response); the
responses are:

G O kings or al 4 kings

6e 1king
6v 2 kings
Ge 3 kings

Having all the aces and kings, one isin the grand slam zone; recall it requires roughly 37
Bergen points.

The major problem with the Blackwood Convention is you have no way of knowing
about the ace and king of trump and the specific location of aces are unknown. To solve
these shortcomings, one uses cuebids and the Roman Keycard Blackwood Convention,
which has replaced the Blackwood Convention.

Roman K eycard Blackwood (RKCB) Convention - 1430

The most authoritative book (in my opinion) on this convention is by Eddie Kantar
(2008), “Roman Keycard Blackwood the Final Word” 5™ Edition, Master Point Press,
Toronto, Ontario, Canada.

To usethe RKCB convention, one must have agreed upon a trump suit. Knowing the
trump suit, there are two Roman Keycard Conventions known as 1430 and 3014. When
the strong hand asks, Mr. Kantar recommends that one play the 1430 version (marked as
1430 on the convention card); if the weak hand asks, he recommends 3014 (marked as
RCK on the convention card). While Mr. Kantar has several criteriato determine which
hand is considered strong and which hand is the weak hand, because more often than not
the strong hand usually asks, we recommend aways using the 1430 Roman Keycard
Convention. Let’s not get too complicated, unless you have an established partnership.

When using the RKCB convention, there are now five keycards, the four aces, and the
king of trump. Another keycard is the queen of trump. If you do not use kickback (to be
explained later), the 1430 RKCB ask isagain 4NT. The responses are:

5% 1 or 4 keycards (the 14 step)

5¢ 3 or 0 keycards (the 30 step)

5v 2 (or 5) keycards without the queen of trump in the agreed upon suit
54 2 (or 5) keycards with the queen of trump in the agreed upon suit

When one responds five clubs or five diamonds, the queen ask may be needed. After the
response five clubs, the bid of 5¢ is the queen ask (when hearts or spades are the agreed
upon trump suit). After the bid of five diamonds, the bid of 5% is the queen asks.

Queen Asks



In review, after five clubs and five diamonds, the queen asks are:
5¢ and 5% Queen asks
Responding to the 5¢ ask

(2) If you do not hold the queen, responder returnsto the agreed upon suit at the five-
level.

(2) 5NT showsthe queen but no outside king!

(3) With both (queen of trump and one or two kings), bid at the six-level of the lowest
ranking king

Responding to the 5% ask

If you do not hold the queen, pass; with the queen, bid 5NT. With the queen and aking in
the lower ranking suit, bid the suit. If it isahigher ranking king, return to the six-level.

King Asks

Knowing you hold all the aces, and king-queen of trump (note some players do not
reguire holding the queen), S5NT isthe specific kings ask!

The specific king ask is needed for a grand slam try in the agreed upon suit or notrump.
Responses are:

(1) Return to the agreed upon trump suit at the six-level denies any kings.

(2) With two kings, bid the cheapest at the six-level (below agreed upon trump suit); if
the king is of higher rank, return to the trump suit at the six-level.

(3) With three kings, bid 6NT.

Tofind a second king below the trump suit, bid the suit. Without the second king,
responder bids the trump suit at the six-level.

With the king, bid as follows:

(1) Make afirst step response, including 6NT with Kxx(x).
(2) Make a second step response with Kxx.
(3) Raise the ask suit with Kx.

Playing 1430 RK CB, the standard isto use the specific king ask; however, some still
may play the number of kingsfrom “ Blackwood” excluding thetrump suit =YOU
BETTER ASK your partner.



Responding with voids
Using the 1430 convention and having avoid, the responsesto 4NT are:

5NT =2 or 4 an even number of keycards with avoid (with zero ignore the void)
6 of suit below the trump suit = odd number keycards (1/3)

6 trump suit = odd number of keycards (1/3) with avoid in higher ranking suit
Specific Suit Asks (SSA)

We have seen that one may ask for keycards, the queen of trump, and having both, ask
for specific kings. When searching for a grand slam, one may also need to know about an
outside suit (not the trump suit). For example, do you have a queen in the suit, a
doubleton, or asingleton? To ask and answer this question, one makes a Specific Suit
AsKk (SSA).

The specific suit asks is generally done when the captain has the queen of trump after the
keycard responses of 5& or 54.

After 5% 6%, 64 is SSA
After S 54, 64, 6% is SSA
The responses are:

Make afirst step response, including 6NT with third-round control Qx(x), Ax, AQX, XX
Make a second step response with second-round control Kxx(x)
Make athird step response with Kx
Raise the ask bid with KQx and JUMP to the trump suit with a singleton
Over Interference DOPI-ROPI or DEPO
When the opponents interfere, most players play DOPI/ROPI. Another option isto use
DEPO. While most do not use both, I recommend the use of both, which depends on the
level of interference.
If the opponentsinterfere at the five-levelswith abid, use DOPI,
Double 1 keycard
Pass 0 keycards

1% Step suit sbove 2 keycards
2" Step up 3 keycards



If the opponents interfere at the five-levels with a double, use ROPI,

Re-Double 1 keycard

Pass 0 keycards

1% Step suit above 2 keycards

2" Step up 3 keycards

If the opponentsinterfere at the six levels, use DEPO,
Double even number of keycards (0, 2, 4)
Pass odd number of keycards (1, 3)

Kickback or Redwood and Minorwood

When the agreed upon suit isaminor, the use of 4NT as a keycard ask will often get the
responses too high. To avoid this problem, one uses Roman Keycard Blackwood with
kickback. It works as follows: if clubsistrump, then 44 is used to ask. If diamonds is
trump, the 4% is used to ask. If hearts is trump, either 44 (in order to avoid problems with
the queen ask) or 4NT is used to ask. When spades is trump, one always uses 4NT to ask.

One responds to the ask using each suit in order. For example, suppose the agreed upon
suit is diamonds so 4¥ is the ask, the responses are:

VP 1 or 4 keycards (the 14 step) step 1
ANT 3 or 0 keycards (the 30 step) step 2
5% 2 (or 5) keycards w/o queen of trump in agreed suit step 3
5¢ 2 (or5) keycards w/o queen of trump in agreed suit  step 4

What is the queen ask? After 44 it is 4NT and after 4NT, it is 5#! Note that with no
gueen, you again return to the five-level of the agreed upon trump suit. If you have the
gueen, bid six. It works! All extensions follow.

Instead of playing Kickback or Redwood, some partnerships play Minorwood. The
Minorwood Convention uses four of the agreed minor for the RKCB ask. For example,
in the auction 1¢ - 24, the bid of 44 is Minorwood; it is used instead of 4%, Kickback, or
Redwood. It can also be played in a sequence when Kickback may be confusing. For
example, if the bid of 44 is confusing, one may jump into four of a minor instead of using
Kickback RKCB. | have seen this called the “Bothwood” convention.

Slam Bidding with No Agreed Upon Suit

When playing 1430 RKC, how should one proceed if there is no prior agreement on the
trump suit? Some recommend that (1) it should always be the last-bid suit, some suggest
that (2) one should not play any form of RKC, but instead simply use Blackwood as an
ace only ask (no keycards), others recommend (3) that RKC be used only if the last-bid
suit isaminor (opener or responder) but not a major, and some play (4) that it is the last-
bid suit of the responder. What is your agreement?



The approach you use must be discussed with your partner when you make out your
convention card. Thereisno “best” or standard approach. Let’slook at an example.

Opener Responder
4K QJ863 aA2
¥K10942 vJj7

*Q8 *AKS
&Void »AKQJ104
The bidding goes:

Opener Responder
1e 248

2v 3¢

3v ANT

6% TNT

Pass

Responder leaps to 4NT to ask for keycards. Since the last-bid suit was hearts, opener
bids 6% which shows an odd number of keycards, the king of hearts, and avoid in clubs.
Thinking that the one keycard is the A, responder bids a grand slam, 7NT. Whose fault?
The fault was that they lacked an agreement as to what 4NT means when thereis no
agreed upon sulit.

Note, if you play the last-bid suit you will only survive a4NT ask when you intend to
play in your own suit aslong as you hold the king of the last-bid suit. Partner is forced to
answer only aces! In the previous example, responder did not hold the king. Because
there was no agreed upon suit, one would bid 5% (zero keycards). Partner would bid 6NT.

The above example suggests that one use Blackwood if thereis no agreed upon suit.

To illustrate, suppose the bidding goes one heart-two clubs - two hearts - 4NT. Then,
since the last-bid minor suit of responder was clubs, 4NT agrees clubs. If responder
wanted to agree hearts, and the partnership playsthat araise to three heartsis forcing; it
is easy enough to bid three hearts and then 4NT. If araise to three heartsis not forcing,
then ajump to four diamonds agrees hearts, and if partner bids four hearts, 4ANT can be
bid. If the responder wants to agree spades, he bids two spades or three spades, and then
bids4NT.

Thus, if you do not have an agreed upon suit, you can play Blackwood or agree that one
may play the last-bid minor suit of opener or responder.

With no agreed upon suit, here are my suggestions.

1. Usekeycard after any four-level bid.



2. All Kickback auctions are RKCB.
3. If two suits are agreed upon, the FIRST SUIT BID istrumps for RKCB purposes.
4. When none of the above applies, use Blackwood as ace only asks.

Overview: Roman K eycard Blackwood 1430(& )

ANT when heartsor spadesisthe agreed upon suit (Keycard Ask)

5% 1 or 4 keycards

5¢ 0 or 3 keycards

5v 2 or 5 keycards without the queen of trump

S5e 2 or 5 keycards with the queen of trump or holding a fifth trump
Kickback

Use 44 as keycard ask when CLUBS is the agreed upon suit
Use 4% as keycard ask when DIAMONDS is the agreed upon suit

Voids

5NT =2 or 4 an even number of keycards with avoid (with O ignore the void)
6 of suit below the trump suit = odd number keycards (1/3)

6 trump suit = odd number of keycards (1/3) with avoid in higher ranking suit
DOPI/ROPI Interference at the five-level

DBL/RE-DBL: 0 or 3 keycards
PASS: 1 or 4 keycards

DEPO Interference at the six-level

DBL: Even Number of keycards (0/2/4)
PASS: Odd Number of keycards (1/3)

QUEEN ASK: After 5%, 5¢isqueenask AND  After 5¢, 5% is queen ask
Responses:
Denial: Returnto the 5-level of the agreed upon suit
6-Level of agreed Suit: With queen and no side-suit king or extratrump
6-Level of Lower King Suit: With queen and 1/2 side-suit kings

5NT: With queen without a side-suit king, but trump extra

SNT isa Specific King ASK (NOT NUMBER OF KINGYS)



YES: Bid Lowest King Suit BELOW the agreed upon trump suit.
NO: Return to the agreed upon trump suit (or king is above agreed trump suit).
To ask for a SECOND king, the asker bids the suit.

Without, return to the agreed suit.

Holding a SECOND king
Make afirst step response, including 6NT with Kxx(x)
Make a second step response with Kxx
Raise the ask suit with Kx

SPECIFIC SUIT ASK (SSA) After S&: 5%, 6%, 64 is SSA. After 5¢: 54, 64, 6% is SSA
Make a 1* step response, including 6NT with third-round control Qx(x), Ax, AQX, XX
Make a 2™ step response with second-round control Kxx(x)

Make a 3" step response with Kx

Raise the ask bid with KQx and JUMP to the trump suit with a singleton

(&) With NO AGREED upon SUIT some usethe standard BLACKWOOD
CONVENTION for Ace Asking and 5NT for NUMBER of King's Ask

Let’s consider some examples on the use of RKCB

Slam1

Opener 4A7 YAQ65 #84 #AKQ98
Responder  4KQS5 ¥ K843 ¢KQJ6 &7
Opener Responder

1a* 2NT*

3% 3v

4 ANT

5¢ 5v

G 6v

The opener has 17 HCP and partner bids 2NT showing 14+ HCP. After Stayman, a heart
fitisfound. Finding the heart fit, responder bids 4NT (aternatively, he could use

Kickback and ask by bidding 44). The response of 5¢ shows 0 or 3 keycards. The bid of
5% is the queen asks. The bid of 6 shows the Q¥ and the K&. Opener bids the slam 6v.

In this example, we did not use Kickback, but we should have because it may be difficult
to determine if the bid of 5% is sign-off or queen ask. Instead of bidding 4NT, suppose
one bids 44; we would then have:

Opener Partner

1 2NT*



3& 3v

4v 4a
S 5¢
(§1 (634

Now, 5% shows 0 or 3 keycards and 5¢ becomes the queen ask. Denying the queen, the
bid would be 5%, which is short of game. However, 6& shows the queen plus the king of
clubs. Responder again bids 6.

Slam 2

Opener &AJ7 YAQI753 ¢AQ8 &7
Responder  #K5 ¥ K1084 48765 #AK9
Opener Partner

1a* 2NT*

3v 4v

ANT 5v

SNT G

6e 6v

Opener has 18 HCP and partner has 13 HCP.

After the bid of 1&*, responder bids 2NT* showing a balanced hand with 14+ HCP.
Opener next shows his five-card heart suit, and partner supports the suit. Opener next
bids 4NT. With two keycards, the bid is 5¥. Opener has the queen of trump, bids 5NT,
which is the specific king ask. With the K&, responder bids 6%. The bid of 64 is the
second king's ask. Without the king, responder again signs off in the heart lam.

Slam 3

Opener oAJ7 YAQJ753 ¢AQ87 % void
Responder  #K5 ¥ K1084 ¢10965 #AK9

Y ou have the same hand, but now you have avoid. You cannot bid 4NT with avoid.
However, you have two options, cuebidding or using another convention called
Exclusion Keycard Blackwood (EKCB). Because cuebidding a void can be dangerous,
we consider EKCB.

Excluson Roman K eycard Blackwood (EK CB) Convention

The convention is only played when a known major suit agreement isamajor and you
know you are in the region of slam. For example, after a Jacoby 2NT bid, a concealed
splinter bid, or perhaps a Swiss bid. The convention may also be played whenever the
last-bid suit isamajor (with or without an agreement). The convention isinitiated by an
unusua jump to the five-level above gamein your void suit. Y ou are asking for keycards



for the agreed upon major or the last-bid major excluding the void suit. Partner does not
count the ace in the void suit bid; now, there are only four keycards, three aces, and a
king. Thereis no such thing as 1430 or 3014 EK CB. The responses are steps above the
bid suit.

Responsesto EKCB
First Step 0 keycards
Second Step 1 keycard
Third Step 2 keycards without the queen
Fourth Step 2 keycards with the queen
Fifth Step 3 keycards (very unusual)

The only exception to afive-level bid isthat one may use 44 if you agree that hearts is
trump at the two-levels. However, you cannot do thisif you play Kickback. Thus, |
would only recommend that it be used with bids at the five-levels.

Aswith 1430 RKCB, the bid of 5NT is again the specific king ask. The next step after a0
or 1, including the void suit (but excluding 5NT) is the queen ask. Finally, the bid of any
suit that is not the queen ask isthe SSA.

What do you do after an EKCB ask with avoid? You must alwaysignoreit.

Returning to our Slam 3 example, opener bids 5% (EKCB). Excluding the club suit,
responder has one keycard (king of hearts) and bids 5¢. Partner, having all the acesand a
void in clubs, knowsit is the K¥. Having the queen, what next? He next bids 5NT, which
is again the specific king ask; without the king of diamonds, partner again signs off in six
hearts.

Let’snow look at the Slam 3 example.

Opener &AJ7 YAQI753 ¢AQ87 # void
Responder  4KS5 ¥ K1084 10965 #AK9

The bidding would go as follows using EKCB.

1 1at#

INT 2% (Stayman)

2v 3v

5& (EKCB) 5¢ (0 keycards, excluding clubs)
5v 6¥ (2 club controls)

Alternatively, one may use cuebids.

1% 1ot
INT 2% (Stayman)
2y 3v

4¢ (cuebid) 5 (cuebid)



54 (cuebid) 6% (second cuebid)
6v

Grand Slam Force (GSF) after INT —isthebid of 5NT. It may be used after a notrump
opening or after one has agreed upon a suit.

To use the bid after a one notrump opening requires 22+ HCP. If opener is at the top of
hisbid (15 HCP), then bid 7NT; otherwise, they bid 6NT.

After asuit bid, for example, 14 - 5NT or 4% - 5NT, with two or more controlsin the bid
suit, partner bids:

e 6 of theagreed trump suit if holding 1 of the top 3 trump honors (e.g., the ace)
e 7of theagreed trump suit if holding 2 of the top 3 trump honors (e.g., the king
and queen)

A more complicated schedule of responses may be used that asks partner to describe his
trump holding more precisaly.

G ace or king of trump

6e gueen of trump

6v no honor, but extratrump length
Ga no honor or extratrump length
7%/7trump Suit 2 of the top 3 honors

When the agreed upon suit isaminor, SNT isagain used as a Grand Slam Force (it
requires that partner has two top honors); however, 54 is now the GSF bid when you only
need one top honor (A/K/Q).

Pick a Slam - Without a known fit or when the opponents interfere, ajump to 5NT is

used to ask partner to pick slam. For example, the may go: 1#* - 1¥; 24 - 5NT or the
bidding may go 2&* - 34; 4& - 5NT.

Declaratory-Interrogatory 4ANT

Instead of using EKCB that uses the five-level bid, the Blue Italian Club team used a
jump to 4NT after a suit agreement called the Declaratory-Interrogatory 4NT bid, also
called DI 4NT. It is both atelling and asking bid. When used after a suit agreement, it
says:

1. | have two first round controls (usually two aces but may include avoid).

2.1 have an ace/king in all skipped suits except the one of lowest rank, and extra values.

The bid asks:

1. Do you have at least one round control in the agreed upon suit?
2. Do you have additional values and slam interest?



Observethat DI 4NT is amultiple cuebid showing both aces and controls.

We again look at our Slam 3 example using DI 4NT.

1% 1a#

INT 2% (Stayman)

2y 3v

ANT DI 5& (cuebid, positive response)
5¢ (cuebid) 6% (second cuebid)

6v

The responses to a DI bid may be negative or positive. The negative response isto simply
return to the trump suit at the five-level. A positive response is to show a control (ace or
king) in alower ranking suit or ajump to slam with a higher ranking control.

Double Agreement Roman K eycard Blackwood (DRK CB)

With adouble agreement, there are now six keycards (four aces and two kings), NOT
FIVE, so we have what are called Double agreement 1430 Roman Keycard Blackwood
(DRKCB). We consider DRKCB responses for some double agreements.

Major-Major Agreements

a) Opener Responder b) Opener Responder
1a 2v 1v 24
3 K7 34 4v
4v ANT ANT

Then 4NT isa DRKCB ask.

When responding to DRKCB asks, there are now six keycards. And, there are no void-
showing responses. The first two responses (5% and 5¢) of DRKCB are the same as
1430 RKCB; however, there are now three queens showing responses:

5v 2 with neither queen
54 2 with one queen
S5NT 2 with both queens

Note that in the second step (54), you do not know which queen. However, if partner
makes afirst or second step response to a DRKCB ask (5% and 5¢), unless the asker has
both of the agreed upon suit queens, the queen situation is unknown. To now ask about
gueens, the asker uses the next available “free bid” step, excluding the trump suits, but
including 4NT for aqueen ask. The four-response steps now become:

1% step 2 with no queen
2" step 2 with lower-ranking queen only
3 step 2 higher-ranking queen only



4" step 2 both queens

When investigating a small slam in double-agr eement sequences, you are looking to
have at least five of the six missing keycards plus at least one queen of the agreed
upon suits.

We now consider amajor-major example.

Opener Responder Comments

4A1073 «KJ5

YA982 YKQJ63

*K2 +A9%4

*Q7 #A5

1a 2y (1) Double Agreement
3v 34 (1) (2 DRKCB

4 ANT (2) (3) 2 with neither queen
5v (3) 6v (4) (4) Q4 is missing

What if you have a minor —major suit agreement, for example, hearts and diamonds. You
may use 44 or 4% and the Kickback RKCB ask and use 4NT as DRKCB. The responses
are similar to the major — major asks.

Scroll Bids (Modified)

With Bergen Raises

When playing Bergen Raises, some use concealed or ambiguous splinter bids. Recall that
when opening amajor, ajump into the other major indicates a singleton somewhere and
four-card supports with 13+HCP. For example, if one opens one heart, then three spades
indicates 13+HCP with four hearts and a singleton somewhere. If one opens one spade,
then aresponse of three hearts shows four spades, 13+HCP, and a singleton somewhere.

To locate the singleton, the opener uses scroll asking bids. Thus, the bidding goes: 1% -
34, 3NT or 1a - 3, 34, The responses after the 3NT scroll asks are: 4%, 44, 44, which
shows singletons in either clubs, diamonds, or spades, respectively; and the
corresponding responses after bidding 34 are: 3ANT=¢, 4&=¢, and 44=9, the suit below
the singleton. However, club members have asked me: How do you indicate not a
singleton, but a VOID when using the conceal ed/ambiguous splinter bids?

To show either asingleton or avoid, one continues with a scroll bid. Then up-the-line
bids are used to show a singleton or VOID and simultaneously provides one with
information about keycards for the agreed upon suit. After hearing the response to the
asking scroll bids (3NT or 34), one uses the next sequential up-the-line bid to determine
the nature of the shortage. The responses are: Step 1 (the next cheapest bid) saysitisa



singleton, and Steps 2-5, the next four bids, indicate that one has a void and
simultaneously shows keycards.

To illustrate, suppose we are playing 1430 RKCB. The bidding goes: 1¥ - 34, 3NT and
one hears the response 4. To ask about the nature of the shortage (singleton or void),
one uses the next sequential up-the-line bid to ask, bid 4¢. The responses for showing a
singleton and/or associated keycards for the major suit (hearts) with avoid are:

4 club singleton (next cheapest step)

Py club void with 1 or 4 keycards (step 2)

ANT  club void with O or 3 keycards (step 3)

5% club void with 2 keycards w/o the queen (step 4)
5¢ club void with 2 keycards with the queen (step 5)

If you play 0314 RKC, you merely interchange steps 2 and 3 above.

In asimilar manner, after hearing 44, one would use the up-the-line bid of 4% to ask
about the nature of the shortage. Now, 44 shows a singleton diamond and the keycard
steps 2-5 are: 4NT, 5, 5¢, and 5¥. After hearing the response 44, the up-the-line asking
bid is4NT. Then, 5&=singleton in spades and the keycard steps (2-5) are: 5¢, 59, 54,
5NT.

Opening one spade, to show a singleton somewhere with 13+HCP and four-card support
is 3¥. After hearing the bid of 34, one indicates a singleton with the bids 3NT=é, 4&=4,
and 4v=a. To ask about the nature of the shortage, one again uses the up-the-line bids:
4%, 4e, and 44. Again, the next cheapest up-the-line bid indicates a singleton and steps 2-
5 are used to show avoid and simultaneously keycards for the major suit spades. To
illustrate, following the bid of 44, the shortage bid is 44. The responses follow.

4 diamond singleton (next cheapest step)

4a diamond void with 1 or 4 keycards (step 2)

ANT diamond void with O or 3 keycards (step 3)

5% diamond void with 2 keycards w/o the queen (step 4)
5¢ diamond void with 2 keycards with the queen (step 5)

The responses to the shortage bids of 4¥ and 44 follow similarly.

Toillustrate how the bid may be used, we consider an example.

Opener Responder
2AQJ762 4K984

v3 vAQ92
49872 +void
»KQ »A7632

Opener Responder



1a 3¥ (shortness somewhere)

3a (shortage asking bid) 4% (singleton/void in diamonds)
4¢ (modified scroll ask) 4ANT (void in diamonds with 0/3 keycards)
64 (if you have 3, bid 7) Te

Using the sequential scroll bids and up-the-bids shortage bids, adapted from bids
suggested by the Australian champion George Smolanko for splinter bids, allows oneto
further investigate the nature of the shortage, a singleton, or avoid with information
about the keycards in the agreed upon major suit.

Observe that the scroll bids and up-the-line shortage bids may aso be used with the
Jacoby 2NT* response to amagjor. If you play that athree-level bid denotes a singleton or
avoid and afour-level bid shows a strong (not avoid) five-card suit, however, now one
uses “modified” scroll-like bids to ask about shortage with keycard responses.

Note: For the bidding sequence 1% - 34, the scroll ask is 3NT; however, with a spade

void it is often better to use 4¥ to show the spade void with a minimum hand. This allows
the opening bidder to pass the heart game with no slam interest.

After Jacoby 2NT*

When playing Jacoby 2NT after amajor suit opening, the three-level bid by responder is
alerted and says that one has a singleton or void in the suit bid. The bid of 2NT* in
response to partner’sopening bid of one of a major shows at least four trump and
13+ pointsin support of the major suit. In responseto the bid of 2NT*, opener’s bid
at thethree-levels shows a singleton or a void.

What doesresponder do next?

With a minimum and no interest based on opener’ s response, responder usually jumpsto
game in the agreed suit. All other bids show at least some slam interest. Responder’ s new
suit bids are often cuebids looking for slam.

Arethereother options?

Y es, one can use modified scroll bids!

Let’slook at two bidding sequences:

(A) 1a - 2NT - 3%/34/3% which shows a singleton or a void in the suit bid.

(B) 1% - 2NT - 3%/34/34 which shows a singleton or a void in the suit bid.

To determine whether or not partner has a singleton or avoid, one bids as follows.



For sequence (A), one bids: 4%/44/4% and for sequence (B), one bids: 4&/44/44. A scroll-
up bid at the four-levels. Do you have a singleton or avoid?

Responses become:

Next cheapest bid shows a singleton

(Step 2) shows 1 or 4 keycards with avoid

(Step 3) shows 0 or 3 keycards with avoid

(Step 4) shows 2 keycards w/o and avoid

(Step 5) shows 2 keycards with the queen and avoid

Thus, oneis easily able to determine singleton and void with Keycard Blackwood. Let’s
look at an example:

Opening 14 and responding 2N T, suppose partner hears the bid 3¥, which shows a
singleton or void in hearts. After hearing the bid of 3%, one next bids 4¥s to ask whether
itisasingleton heart or avoid (note, the bid of four spadesisa sign-off).

The responses follow.

Py heart singleton (next cheapest step)

ANT  heart void with 1 or 4 keycards (step 2)

5% heart void with O or 3 keycards (step 3)

5¢ heart void with 2 keycards w/o the queen (step 4)
5v heart void with 2 keycards with the queen (step 5)

Similarly, opening 1%, the responses after hearing for example 34 (a spade singleton or
void), and one would bid 4.

The responses follow.

5% spade singleton (next cheapest step)

5¢ spade void with 1 or 4 keycards (step 2)

5NT spadevoid with O or 3 keycards (step 3)

5v spade void with 2 keycards w/o the queen (step 4)
54 spade void with 2 keycards with the queen (step 5

Observe that the asking bids and responses provide all the information required to bid
slam or to sign off at the five-level, below slam.

After Jacoby 2NT*, Examples

Previoudly, | discussed how one may use Scroll Bids with Bergen Raises (when using
concealed or ambiguous splinter bids) and after Jacoby 2NT. We now consider two
examples of the method when responder bids Jacoby 2NT after abid of amgjor.



We consider the Jacoby example found in the July 2009 issue of “Bridge News,”
available at www.pitt.edu/~timm, by clicking on item 4, BRIDGE NEWS under Current

Projects. “Bridge News’ is published monthly by the author.

Deder East N-Svulnerable.

| J9
v A984
¢ 1 J109
& Q1087
& K10642 & |AQ875
v 10762 v|3
¢+ AQ + K765
& A3 & K42
v KQX
¢ 6432
& | J965
Suggested Bidding: West North East
la Pass
2NT* Pass 3v*
v Pass 4o
ANT Pass 5
Ge Pass Pass

West’'s 2NT is Jacoby 2NT, showing a game-forcing raise with at least four spades.

The bid of 3¥ shows a singleton or void. Hearing shortness, and with four hearts, east
bids 4% to ask whether or not west has a singleton or avoid. Thefirst level bid of 44
shows a singleton. Now, west bids 4NT (Keycard Blackwood) to ask about keycards. The
response (5#) shows one or four; with an ace missing, west signs off in 6. We next

consider an example with aminor suit void:



Deder North N-Svulnerable

& |KJ832
v A92
¢ Void
& AJ1084
& Q9 a5
v 10764 v J83
¢ |A965 ¢ |[KQJ103
& |97 & Q653
& |A10764
v KQ5
¢ 872
& K2
For this example, the bidding goes:
North East South West
1e Pass 2NT* Pass
3e* Pass 4e%* Pass
ANT* Pass S5NT Pass
G Pass Te All pass

Counting high card values and length, north has 13 HCP and 2 length points or 15 Starter
points and opens 14. South has only 12 Starter points, however, hearing a major suit bid
reevaluates to 13 Dummy Points, counting the doubleton, and uses the Jacoby 2NT bid
which opener alerts. Opener now bids 34 to show the diamond singleton/void. Hearing
the shortness bid and with three diamonds, south has slam interest and bids 44 to see if
north has asingleton or avoid, knowing gameis ensured. North’s response of 4NT (step
3) shows 0 or 3 keycards. South asks about kings by bidding 5SNT, 6& shows the Ké.
North now bids 74, a grand slam (with only 25 HCP).

Can you reach the slam without the Modified Scroll Bids? Perhaps. The bidding may go:

North East South West
le Pass 2NT* Pass
3e* Pass ANT Pass
6e Pass (§2) Pass

Pass Pass



The bid of 4NT is Keycard Blackwood, and 6¢ shows an odd number of keycards with a
void in diamonds. Y es, one can now bid 64, but observe that getting to the grand slam is
difficult.

If you do not play Keycard Blackwood, just Blackwood, Eddie Kantar recommends
bidding SNT with avoid and two aces. Again, getting to seven spades is difficult. If south
does not bid 4NT, but instead bids four spades, in neither case would one reach the slam.

Theuseof “Scroll Bids’ should enhance the convention card for those who use
Bergen Raises (Rever se Bergen Raises or Combined Bergen Raises) playing Two-
over One, Standard American, or Precision.

We have reviewed several techniques to investigate slams. Isit worth it? How would you
bid the following hand? It came up in a club game last month. North isthe dealer. The
hand follows. It was played at a club game in the Villages, Florida.

» |A10982
v K10932
¢+ AQ8
* Void
& | J7 &3
v | J8754 v | AQJ6
¢ [107 ¢+ 4
& AK109 | J876543
» [ KQ654
v Void
¢ |KJ96532
& Q

North has 13 HCP and would clearly open 14. South has only 11 HCP; however,
counting Dummy Points, south has avoid and a singleton or at least seven (5-card trump
support with avoid = 5 points + 2 for singleton) more Dummy Points or 18 Dummy
Points. Clearly, in the slam zone. Or, if you count the diamond suit length (3 points) plus
1 more point for the fifth spade, the point count increasesto 22; thus, 11 + 22 = 33 or
slam values.



What is your bid as south? Y ou have several options: (1) two diamonds as a game force,
(2) Jacoby 2NT*, (3) the concealed splinter bid of 3¥*, (4) Swiss bids, etc. Depending on
the direction you take, the sequence of bids will differ. We look at several approaches.

North

la

3a* (where)
44 (scroll bid)
5¢ (queen ask)
T4

North
1a

3%* (singleton/void)
4e (void & 1 keycard)

64 (cuebid)
7a

North

1a

2y

5¢ (EKCB)

6% (queen ask)
Te

North

1a

2y

3¢

ANT (DRKCB)
64

Ta

North
1a
2y
3v

Playing Concealed Splinters

South

3v* (singleton or void somewhere)
4% (hearts)

5& (heart void with one keycard)
64 (yes and extra)

Playing Jacoby 2NT

South

2NT* (spaderaise)

4%* (asking bid —singleton or void)
5¢  (cuebid)

64

Playing EKCB
South
2¢ (GF)
2¢
54 (one)
64 (yes)

Playing DRKCB with minor + major

South

2¢ (GF)

24

44

5NT (two keycardswith higher ranking Q)
7v

Cuebidding

2¢ (GF)

44 (cuebid)



5 (cuebid) 5% (cuebid)
64 (cuebid) Ge
74

No matter your approach, | hope you all reached the seven spade contract. If you did not
get to seven, do not feel badly. Most pairs only bid asmall slam, 6e.

Let’slook at asimilar hand that was played in the ACBL Summer North American
Championships held in Washington, D.C. In thisdeal, north-south is vulnerable and
south is the dealer. How would you bid the hand? Hint: Nothing fancy needed!

& A32

v J76

¢+ Void

® AKJ10532
& Q + 104
v Q109432 v K
¢ K1043 ¢+ AQ8765
* Q9 * 8764

& KJ98765

v A85

¢ J92

* Void

As south, what is your bid? Y ou have only 9 HCP and one of the top three honors with a
void. Some may be tempted to open the bidding 34; a terrible bid. Do not preempt your
partner. Open the bidding 1.

South North
1e 2# (GF)



24 4+ (splinter in support of spades)

4% (cuebid) 54 (cuebid)
Sa 64 (Cuebid)
64

Roman K eycard Gerber

When is 44 asking for aces (Gerber)? When is4NT asking for aces (1430 RKCB)?
When is 4« acuebid or asplinter? When is4NT quantitative? What is 4% after a
transfer? And after Stayman?

These are all questions partnerships must discuss. In general, most partners tend to play
Gerber over first and last notrump bids. That meansif one opens INT or 2NT or if in the
bidding sequence one bids 2NT or 3NT, the bid of 4 is Gerber.

However, after one agrees on amajor, the bid of 4« is often played as 1430 Keycard
Gerber when not playing Baby Blackwood. Partnerships that do not play Kickback also
use 1430 Keycard Blackwood to keep the bidding at alow level in place of 4NT. Still
others may not play Gerber over the first and last notrump and instead always use 44 as
keycard Gerber. The responsesto the bids follow 1430 RKCB.

Responsesto 4« RKCB

de 1 or 4 keycards

4 0 or 3 keycards

4a 2 keycards without the queen
ANT 2 keycards with the queen

To show avoid with two or four keycards, bid 5NT; with and odd number of keycards,
bid the void at the six-level.



Chapter 13— Interference over INT

The Rule of 8

When defending against notrump, interference is typically based upon aweak one- or
two-suited hand using some convention like Brozel, Cappelletti, DONT, etc. The
problem is how weak is weak? Mel Colchamiro proposed the rule of eight, published in
“The Bridge Bulletin,” October 2000. The rule follows:

Holding a minimum of six starting points; deduct from the total number of cards in your
two longest suits the total number of losing tricks. If the differenceis TWO or greater,
you should interfere.
If it islessthan TWO, do not.
Examples:

1) 4 AQ943 v K62 ¢ 74 % K86
Y ou have atotal of eight cards in your two longest suits. Subtracting seven losers (onein
spades plus two each in the other suits) isequal to one. You must NOT interfere even
with thirteen starting points.

2) #K7652 ¥K9532483 & 6
Y ou have atotal of ten cards in the long suits. Subtracting seven losers (two each in

spades, hearts, diamonds, and onein clubs) is equal to three. Y ou should interfere despite
the weakness of your hand, only eight starting points.

The Rule of 2

Mél has another rule that is used in the balancing seat called the Rule of 2.
It isused in the sequence 1INT-Pass-Pass- ?

Should you bid or pass? Y ou should bid only if you have two or more shortness points,
regardless of vulnerability, otherwise pass. Let’s consider some hands.

2Q841 ¥ A63 49 & J8642 (yes-bid 2 clubs)
4A84 ¥ K963 K92 # K86 (no- better to defend -- no shortness points)

210643 ¥ Q1095 #10 # Q965 (yes- bid 2 clubs)



I nter ference over Notrump Conventions

In the October 2007 issue of the ACBL “Bridge Bulletin," severa experts recommend
and discussed systems they play over the bid of astrong INT (14/15-17 HCP). Even if
you have read the article (also available at www.clairebridge.com/defensevsnt.htm), you
still may not have a clear picture about which systemis “best.”

What system should you play over aweak INT (12-14 or 10-12, say), should your
approach change playing Match Points vs. IMPS, and should the system change
depending upon whether you are in the direct or balancing (pass-out) seat? Thereisno
clear or optimal system for al situations: weak vs. strong NT, Match Points vs. IMPS,
direct vs. balancing seat! We consider each in turn, and then recommend an approach.
When considering a system to play over the bid of INT (weak or strong), the first
guestion you should ask yourself is whether or not a double should be va ue-showing and
penalty-oriented.

Clearly, over aweak NT bid, adouble has to show values (14/15+) and be for penalty.
Over weak notrumps, if you do not double but defeat the INT contract by one or two
tricks, you will get an inferior score at Match Points or IMPS. Furthermore, over aweak
notrump bid, it iscritical to show both maors even if you are 4-4 and have only 10-11
HCP. Y ou may easily compete at the two-levels. Thus, over weak notrumps (Match
Points or IMPS), you need a system where adouble is for penalty and that is able to show
the majors (80 percent of all game bids are played in amajor). Finally, over the weak NT
bid, it does not matter whether or not the declarer isin the direct or pass-out seat. Hence,
it is best to bid your suit, as soon as possible, especialy if it is spades! A system designed
with these requirements is Mohan. Like most systems designed to interfere over weak
notrumps, it is based upon transfers (e.g., Weber). This alows the overcaller a second
opportunity to bid, especially with a moderate to good holding. The John Mohan system
follows:

M ohan

Double Penalty

2% shows both majors (4-4 or 5-5)
2¢%* transfer to hearts

29* transfer to spades

2NT* hearts and a minor

All three-level bids are natural, usually a six-card suit and preemptive.

What if the bidisastrong NT (14/15-17 HCP)? Again, most would agree that a double
is value showing and penalty-oriented. We reiterate, NOT ALL AGREE ON THIS.
Cappelletti is unwavering in hisview. “It must be penalty-oriented. On a particular hand
it might not work, but in thelong run it’s best. Remember that you're ‘over’ the INT
opener and that you get to make the opening lead.” If you agree, do not adopt any system
(IN THE DIRECT SEAT) where adoubleis not for penalty. Hence, you would not use,



for example, DONT, Meckwell, or Brozel. Even though Larry Cohen likes DONT
because it allows you to show all one- and two-suit hands without having to bid at the
three-levels, the double is NOT for penalty. Furthermore, the system must be able to
show the mgjors at the two-level either directly or indirectly and one usually wants the
strong hand on LEAD. If you agree with the above comments and want a system that
may be played over either weak or strong notrumps (Match Points or IMPS), it is, in my
opinion, the best system is Modified Cappelletti.

Modified CAPPELLETTI

Double: Any double over weak notrump is for penalty. However, over strong notrump
bidsit may be used for take-out/penalty.

2#*: Shows a single-suited holding in diamonds OR atwo-suited holding in an
unspecified major suit and an unspecified minor suit. After a pass by the partner of the
notrump bidder, the advancer can bid 2¢, which is forcing for one round. Then the
overcaller will either pass or raise with asingle-suiter in diamonds if holding stronger
values OR bid the major suit if the holding is a two-suiter. Sometimes the overcall holds
asix-card club suit and may then bid 3# after partner’s two diamond bid.

If the overcaller shows the two-suited holding after the 2¢ bid, the advancer can bid 2NT
to return to the actual minor suit (clubs or diamonds) or passif the mgor suit is preferred.

2¢*: Shows both major suits (asin Cappelletti).

2v: Shows a single-suited holding in hearts. Partner should pass after a notrump opening
by an opponent.

24: Shows a single-suited holding in spades. Partner should pass after a notrump opening
by an opponent.

2NT*: Shows both minor Suits (5+in each).
WHAT SYSTEM SHOULD YOU ADOPT IN THE PASS-OUT SEAT? Clearly, in the

pass-out seat, a double for penalty is not as valuable since the doubler is not on lead
against INT. In the pass-out seat you should use Modified DONT, also called Meckwell.

M odified DONT (M eckwell)

Double Shows a 1-suited hand (6+ cards) or both majors.
2% Shows clubs and amajor (5-4 or 4-5 or longe).
2¢%* Shows diamonds and a major (5-4 or 4-5 or longer).

2y Shows hearts (5+)



24 Shows spades (5+)
2NT* Shows both minor suits (5+in each).

In my opinion, Modified Cappelletti and Modified DONT are my selections for
interference over notrump. There have been many methods proposed. | like these
methods because they both show the majorsimmediately and may be used with two-
suited or single-suited hands.

In both of the above conventions, 2NT* was used to show the minors. Thisis
sometimes modified to show an equivalent strong notrump hand. Discuss this option
with your partner.

When the Opponents I nterfere Over INT Opening

Lebensohl is a common convention used over weak two bids, reverses, and interference
over notrump. However, an even better convention is the Rubinsohl, which uses transfer
bids over disruptive interference bids. The basic convention uses the combination of
transfers and Lebensohl in a competitive auction aimed at alowing a player to show his
distribution with both weak and strong hands. It is similar to the “stolen bid” convention
played by many of our members. The method was introduced by Bruce Neill of Australia
in an articlein The Bridge World in 1983. The concept was based upon the article
published in the same magazine by Jeff Rubens, who used the term Rubensohl. However,
the method had been previously used in the United States by Ira Rubin, and therefore
named Rubinsohl and not Rubensohl. Both names (Rubinsohl and Rubensohl) appear in
the bridge literature.

L ebensohl

Lebensohl is used after one opens notrump when the opponents interfere to show game
forcing hands immediately. However, the downside of Lebensohl isthat you must go
through relay bidsto find out partner'sreal suit, and if RHO competes, you might never
know that you have a good fit. In today’ s game, the opponents always seem to use their
“toy” to disturb your notrump and the RHO is getting into the action more and more to
re-preempt the auction. Ira Rubin and Jeff Rubens thought it was better for partner to
announce his suit directly and to show strength later.

The structure of Lebensohl is, briefly:

Doubleisfor penalty.

Two-level bidisto play.

Three-level bid isforcing to game.

Two notrump is artificial, forcing opener to bid three clubs.

An immediate cuebid by responder is Stayman (except after two clubs, doubleis
Stayman).

A direct jJump to 3NT denies a stopper.



Two notrump followed by a cuebid of the enemy suit after opener’sforced club relay bid
is Stayman.

Two notrump followed by three notrump, after arelay to three clubs, shows a stopper and
asks opener to play in three notrump.

For example, consider the hand where opener has (%, ¥, ¢, ) xxx AQxx AKxx Kx and
the bidding goes: INT-24-2NT-44 and your partner has the hand: x Kxxxxx xx QTxx.

Y ou are forced to pass and miss the huge heart fit. Or, you hold xxx Ax Axxx AKxx and
the bidding goes INT-24-2NT-3, and partner holds x xxx QJTxxx Qxx, and you guess
that he was competing in hearts, so you pass. Y ou missed the five diamond contract. In
the first hand, it would be better to transfer to hearts, and in the second, one would want
to transfer to diamonds.

To avoid these disasters, one may play Rubinsohl or Rumpelsohl, each part of the Kaplan
Sheinwold bidding system.

I do not recommend either; instead, my system of choiceis Transfer Lebensohl.
Themajor disadvantage of L ebensohl isthat it resultsin the play of a hand from the

WRONG side; sinceit isarelay-based system instead of a transfer-based system.
Thisisnot the case for Basic Rubinsohl and Transfer L ebensohl.

Transfer L ebensohl

A close cousin to Basic Rubinsohl, and often confused with it, is Transfer Lebensohl.
The conventional bids follow. The primary differencein the two systemsisin the
meaning of the bid of three spades. Primarily, all two-level bids areto play, identica to
Lebensohl. However, it may also be played over weak two bids and more as seen below.

Transfer Lebensohl over notrump and weak two bids.
After (1) INT (2X)?
(2) (2X) Dbl (P)?

(a) X = Diamonds/hearts/spades

Double = Penalty
2Y to play where Y isnot equal to X
2NT: Puppet to 3%
-> Pass /Lower Suit: To play

3X cuebid Stayman with stopper GF

Over X=H, 34=both minors

3NT Slammish with stopper
3&: Transfer to diamonds, INV or better *
3¢: Transfer to hearts, INV or better *
3v: Transfer to spades, INV or better *

* |f transfer to opponents -> Stayman w/o stopper



3a: Transfer to clubs no stopper
3NT: To play.
4m: Leaping Michaels. 5-5 up.
(X=M: 4#=C+0M. 4¢=D+0M.
X=D: 4%=C+0One mgjor. 4¢=H+S.)
4M: Unbid: NAT. with stopper.
Jump Cue: Minors. Strong.
ANT: Minors. (Weak if X=M.)

(b) X = Clubs.

Double = Cuebid Stayman w/o stopper.
2Y whereY isnot equal to X: To play.
2NT transfer to diamonds no stopper.
-> 3¢=Accept. 3%=Decline.

3&: Stayman with a stopper GF.
3¢: Transfer to hearts, INV or better.
3v: Transfer to spades, INV or better.
3a: Transfer to diamonds no stopper.
3NT: To play.
4m: Leaping Michaels.
4M: NAT. with stopper.

It may also be played in the sequence 1X — Dbl -2X?

The best system to play after an overcall of partner’s INT bid has along history in the
bridge world. For ariveting discussion, one may consult the May/June 1989 issue of
“Bridge Today” and the article by Alvin Roth (one of America' s foremost bidding
theorist) “Doctor Roth’s What Do Y ou Bid and Why?' pages 39 —41. He recommends
that one NOT play Lebensohl but use a transfer-based system like either Transfer
Lebensohl or Basic Rubinsohl. The Basic Rubinsohl bids follow.

Over anatura 24 overcall

2NT transfer to clubs

3 clubs transfer to diamonds

3diamonds transfer to hearts

3 hearts (transfer into their suit) is Stayman without a stopper
3 spades transfer to 3NT with a stopper

3NT natural with a stopper in the bid suit.

Over anatural 2% overcall
2 spadesis natura and non-forcing

2NT transfer to clubs
3 clubs transfer to diamonds



3 diamonds (transfer into their suit) is Stayman without a stopper
3 hearts shows spades with a heart stopper

3 gpades shows spades without a stopper in hearts

3NT natura with a stopper in the bid suit.

If the opponents overcall anatural minor, the treatment is as follows. Two-level bids are
natural and non-forcing. With the overcall 2¢, 2NT shows clubs as usual, but 3% is
Stayman for both majors and asks if partner has a diamond stopper. If no major or
stopper, one simply accepts the transfer. Jumps in the majors are natural and forcing. The
bids of 3¢/3% are transfers. But, 34 is partnership defined as most use it to show aclub
bust (Minor Suit Stayman). A bid of 3NT shows a stopper in diamonds.

With a2# (natural or not) overcall, a double is Stayman without a club stopper and two-
level bids are natural and competitive. 2NT is generally defined as Stayman with a club
stopper. A jump to athree-level bid isatransfer and forcing.

With so many “toys’ being used over INT, Rubinsohl and Transfer Lebensohl have a
distinct advantage over Lebensohl since you know your suit early and it ignores the RHO
getting into the act. In both systems, adoubleis not for penalty but for takeout.



Chapter 14 — Comments 2/1 and Precision

Any bidding system, whether it is 2/1 Game Force or Precision in Match Point play, must
be able to get to the correct contract (suit or notrump) and to the correct level (partial,
game, or slam). In addition, you cannot win if you go against the field. Your godl is
alwaysto get apositive score. Any positive score will be better than all those pairs that
go negative. In Precision, your opening bid is usually always the same; it does not depend
upon seat location. Never “stretch” your bid. After reading this book, should you play 2/1
Game Force or Precision? We consider afew hands.

2 Opener aK2 v108 ¢AKJ7 #QJ987
Responder  #A654 ¥Q765 86 #K102

Bidding Sequence for Precision: 1¢* - 1% - 2& - pass
Bidding Sequencefor 2/1: 1 - INT — pass

Playing the hand, one makes four clubs for a score of 130 while the 2/1 Game Force
player only makes 2NT for a score of 120.

(2)  Opener 4AK2 9¥KQJ108 ¢AQJ4 'Y
Responder 41054 $A65 +#K1052 &KQ2

Playing Precision, the bidding would go:

Opener Partner

1 1a* (transfer to notrump, balanced with 8§ — 13 HCP)
INT 2% (5 hearts)

3¢ 4¢

4v 44 1430 keycard based upon diamonds

SY2wQ) 6Ge

Playing 2/1, the bidding may go:

1v 3¢ (10 -12 HCP and 3 hearts)
44 (RKCB) 5 (2 keycards)
6v

Let’slook at one more example from the European Championships match between
Iceland and Italy where Iceland is playing 2/1 and Italy Precision.

Both Vulnerable and North is the dedler.



s K

v QR
¢ 42
& AKQJIB53
& A7532 & | J1084
v 1096 v K8
+ Q7 + A5
&|10 & | 98742
& Q9%
v |A7543
¢ K10864
* Void

The bidding for Iceland was:

North East South West
1% Pass 1lv Pass
26 Pass 3¢ Pass
3y Pass 34 Pass
4 Pass 4e Pass
49 Pass Pass Pass
Opening Lead by West #10

For Italy playing Precision, the bidding was:

North East South West
1% Pass 2¢ (Transfer) Pass
2y Pass 4v Pass
Pass Pass

Opening Lead by East 4]

Playing 2/1 the game was wrong sided. The ten of clubs was taken in dummy as declarer
sluffed a spade. The king of spades|ost to the ace, adiamond was led to east’s ace and a
diamond was returned.

Declaer won with the king and led alow heart to the queen and king. Back came a club
and the defenders now hat to score another trump trick. Declarer ruffed low, west



overruffed, a diamond return was ruffesd high in dummy, declarer drew trumps and
conceded dwon two.

Playing Preciison, declarer makes 10 tricks for the contract.
Asafootnote, Italy was the winner over Iceland!

The primary advantage of Precision over 2/1 isthat the bids are more precise; helping
you to easily determine whether you should be in apartia contract, game, or slam. The
bids are structured and well defined with specific point ranges. While there are many
similarities between Precision and 2/1 when opening one of amagjor, it is sufficiently
different, for most other bids, that many playersin the United States who play 2/1 do not
understand the bidding structure of Precision. Playing in team games and Match Points
events, this can be a clear advantage.

Asking Bids after a Preempt

How many times has your partner opened at the three-level and you find yourself with a
very good hand? What do you bid? Often, neither Blackwell nor cuebids help. To
consider a specific example, suppose you pick up the hand:

2AQ4 YAKQ654 ¢ A10 & 84

Following, your partner opens three spades. What do you bid? The problem revolves
around what your partner hasin the club suit.

Consider the following three OPENING hands.

1. 4KJ109765 ¥32 ¢K76 #2

2. &aKJ109763 ¥32 ¢K9 #J10

3. aKJ109543 v32 487 &A2
Opposite hand 1, six spadesis alay down. With the second hand, six cannot be made
because of the two club losers. And, with the third hand, seven isalay down. The same
problem occurs when your partner opened four spades.

With hand 3, Blackwood solves the problem, but what about hands 1 and 2? The solution
isto play ASKING BIDS whenever one opens at the three-/four-level.

For athree-level bid, any JUMP responsein asuit is an asking bid in that suit.
Thus, after 34 followed by S# asks, what do you have in clubs?

After 3¢ followed by 4% asks, what do you have in hearts?



Following a FOUR-level bid, any five-level bid becomes an asking bid.
After 4% the bid of 54 asks, what do you have in diamonds?
After 44, the bid of 5% asks about clubs.

These bids do not interfere with normal bidding procedures because anew suit in
response to a preemptive bid is forcing so that responder need not jump to game. Thus,
the jump bid may be used more profitably. When opening at the four-levels, opener
should have avery powerful suit and responder is not likely to have a better one. Hence,
responder is more likely to make an asking bid.

Responses to Asking Bids

Let’s consider an example with the sequence: 34 followed by 5%, what do you have in
clubs?
Responses to asking bids ALWAY S start with the next suit.

First Step — 2 or more quick losers, XX, XXX, XXXX
Second Step — singleton

Nearest notrump regardless of step = king

Fourth Step — ace

Fifth Step — AK or AQ.

Sixth Step - Void

Q) Opener’'s Hand: 4K4 ¥65 ¢AJ109432 #43

Responder’s Hand: 487 YAKQJ109 ¢K4 #AKQ.
The bidding goes, 3¢ followed by 44. What do you have in spades? The bid of 4ANT
shows aKING, closest NT, and responder bids 6NT to protect the king. Notice that in
this case, thefirst step is notrump, showing the king. With two or three small spades,
opener would have responded 5 to the 44 asking bid.
2 Opener’'s Hand: 4AKJ98765 %32 ¢2 #54

Responder’s Hand: #Q104 vJ7¢AKQJ #AKJ10.

The bidding goes, 44 followed by 5¥. What do you have in hearts? Opener bids 5e, first
step, to show two or more quick losersin hearts. Responder passes.

Always discuss asking bids with your partner.

Because | have tried to structure this book around the 2/1 Game Force System, | hope
those who play 2/1 may easily convert to the Precision Simplified.



Chapter 15 —-Weak Notrump Option

Overview

Many Precision partnerships employ the weak notrump often called Kamikaze notrump.
This option alows players to open balanced 10 HCP hands. However, the risk of opening
these hands vulnerable is great. Hence it is often replaced by what is called chicken
notrump. With this option, one opens INT with 10-12 HCP non-vulnerable and 13-15
when vulnerable.

Weak Hands (10-12)

With aweak INT opening (10-12), one should have a balanced hand and one of the
following distributions: 4-3-3-3, 5-3-3-2, or 4-4-3-2 with length in aminor or aweak
non-biddable major. Let’s consider afew examples:

(1) » KJ87 (2) « KJ7 (3«75
v 10853 v 93 v A2
¢+ AK3 ¢ Q1063 ¢+ A93
& J3 & AQ84 & K10875
(4) « KJ7 (5) « AJ72 (6) & 632
¥ J8753 v 104 ¥ AQI105
¢+ A106 +J84 ¢+ AQI109
* Q5 * KQIJ5 * J6

Responder with a balanced hand must take into account that game is possible only if he
has 13+ HCP. Wereview some bids after aweak NT opener.

28 non-forcing Stayman 10-12 HCP
2¢ forcing Stayman 13+ HCP
2v/24 to play 0-8 HCP
3%/34/39/34 6+ card suit 9-11 HCP

Opener bids 2¢/2NT with no four-card major, two of amajor with four, where 2¢ may
imply both.

After INT-2%-2¢

Pass Garbage Stayman
29, 24 to play (2#)/invitational (2¢)
2NT invitational




3m

M
44
de, 4w

ANT, 5NT
SM

After INT-2#-2M:

2NT
3m

3M

Sets M as trump suit,

(kickback/1430).
4m
ANT, 5NT

SM
om, 6X

After INT opening,
29,24

2NT
3%, 34,39, 34

5+ card suit, game forcing, slam oriented. By apassed hand it is
invitationa with a4-card mgjor and 5+ cards in the minor
Smolen

Gerber

Delayed Texastransfer, 6+ 4 in the mgors, no slam interest/very
strong hand with avoid

Quantitative
GSF

invitational

5+ card suit, game forcing, slam oriented. By apassed hand it is
invitationa with a4-card mgjor and 5+ cards in the minor.
Invitational

and responder may be planning to RKCB in M in his next bid

void, fit in M, slam interest
Quantitative

GSF

Signoff

to play
invitational
natural and invitational

Interference with weak NT iscommon.
After double, INT-double, the following scheme may be used.

Redouble
2-level bids
Pass

2NT
3X
3NT

shows clubs

Transfers and Signoff

Opener is asked to show a 5-card minor or to redouble with none
After opener redoubles, responder starts bidding suits up-the-line.
Two-suited monster

Weak hand 7+ card suit

Solid 7+ card minor, nothing else outside, opener is expected to bid
4 clubs without reasonable stoppers



After theauction: INT-p-p-X-p-p:

Redouble 5-card minor, opener relays to 2 clubs
28 26 24 Lower of 2 4-card suits

With the auction INT-2X, anatural or artificial bid, you can play Lebensohl, Rubinsohl,
Rumpel sohl (a combination of Lebensohl and Rubinsohl), or Transfer Lebensohl.

After theauction INT-p-2&-2X

Opener rarely bids. A double would be for penalties. 2M shows a good fitting maximum
[4-4-2-3] hand when X=+, otherwise it shows a maximum hand with two small cardsin
X.

After theauction INT-p-2#-X

In general, the opener will indicate whether he should be playing in 2%-doubled. Therefore,
pass shows a good four-card suit alowing opener to redouble for business, redouble shows
afive-card suit.

After theauction INT-p-2¢-X and INT-p-2¥-X

Responses are unchanged except that opener must pass with two cardsin partner’ s suit.
Redoubleis natural showing afair 4 card suit and willing to play the redoubled
contract.

After theauction INT-p-p-2X

Opener’sdoubleisfor takeout, showing exactly xx in opponents’ suit. Responder’ sdoubleis
penaty-oriented: opener must take out with xx in the opponents’ suit or other poor
defensive hand.

Asresponder, it denies a 5+card mgjor, he may compete on the two-level showing his
cheapest four-card suit, or with 2NT showing both minors (or if X=e, any take-out).

The primary advantage of playing a weak NT isits preemptivevalue. Let’'s
consider an example.



North

aKxxX
v1098xx
¢AKI10
S XX
West East
& AX & XX
vYKQxx YAJxX
¢Jxx XX
& QXXX & K JIX X
South
4QJ10x
¥ X
+0QxxXX
S AXX

Playing aweak NT, west opens INT. Neither north nor south can afford to overcall at the
two-level; so, the contract is played at INT. If, however, you opened the west hand one
diamond, north might double and the spade game by north-south would be reached.
While the east-west pair cannot make 1INT, the contract should be down two for a north-
south score of 200. Thisis clearly better than the game score of 620. However, if north
leads the 10, with no information to guide the lead, the contract was made!

Weak Notrump Runouts

When the opponents make a penalty double of your weak INT opening bid, your side can
be at seriousrisk of being set and going for avery large penalty; thisis particularly the
case with the 10-12 HCP weak notrump opening. While we discussed the Meckwell
runout bidsin Chapter 7, there are other options:

Exit Transfer Notrump Runouts

If the opponents have doubled your partner's INT opening bid, Exit Transfer Notrump
Runouts provide you with away to try to escape the penalty with aslittle damage as
possible. Exit Transfers additionally have the benefit of allowing the notrump opener to
declare most two-level contracts, "right-siding” them.

Playing Exit Transfers after the auction has gonelNT-Double, Redouble is atransfer to
2% and shows 5+ clubs, 2 is a transfer to diamonds and shows 5+ diamonds, 24 is a
transfer to hearts and shows 5+ hearts, and 2% is a transfer to spades and shows 5+
spades. If you have a two-suited hand, you should pass; your pass forces partner to
redouble, then with ahand well suited to play INT redoubled you can pass or else you
can describe your two-suited hand by bidding 2# to show clubs and a higher-ranking suit,
24 to show diamonds and amajor and 2% to show both majors.



For the purposes of runout bids, a hand is two-suited if it is4-4 or better, and it is single-
suited if it contains a six-card or longer suit or afive-card suit without another four-card
suit. If 4-3-3-3, it isusually best to pretend the hand is two-suited.

Helvic Notrump Runouts

Helvic Notrump Runoutsis a convention popular in England. Part of the reason for the
popularity of this convention isthat the Standard English/ACOL system contains a weak
notrump opening bid, which is significantly more susceptible to penalty doubles.

If the opponents have doubled your partner's INT opening bid, Helvic Notrump Runouts
provide you with away to try to escape the penalty with as little damage as possible.
Playing Helvic, you can either show a single-suited hand by redoubling or show atwo-
suited hand by bidding at the two-level. A 2% bid shows clubs and diamonds, a 24 bid
shows diamonds and hearts, a 2% bid shows hearts and spades, and a 24 bid shows spades
and clubs. If you redouble, partner will bid 2# as a pass-or-correct bid. And findly, if
you wish to play in INT despite the double, or if you have atwo-suited hand with non-
touching suits, you should pass. Y our pass forces partner to redouble so you can play
INT redoubled, or so you can bid 2# to show clubs and hearts or 24 to show diamonds
and spades. For the purposes of runout bids, a hand is two-suited if it is 4-4 or better, and
itissingle-suited if it contains a six-card or longer suit or afive-card suit without another
four-card suit. If 4-3-3-3, it isusually best to pretend the hand is two-suited.

Multi-suit weak two bids

The opening bids of 2¢/2%/2# usually show a hand with 6-10 HCP and a six-card suit. Is
there a better bidding strategy?

Y es, how about the multi-suit weak two bids.

The bids are defined:

2¢ Single heart suit or two suits: Clubs and spades or clubs and diamonds
2v Single spade suit or two suits: Hearts and clubs or hearts and diamonds
24 Single club suit or two suits. Spades and diamonds or spades and hearts

Note that the single-suited hands are the next level suit (diamonds implies hearts, hearts
implies spades and spades implies clubs), and transfer like bids. Hence, responder bids the
next suit up-the-line to play and opener passes if the hand is single-suited. If opener has a
two-suited hand, he refuses the two-level bids and bids three clubs (after 2¢-2¥-3%) or
three diamonds (after 2¥-24-3¢ or 24-3%-34), the lower ranking suit of a two-suited hand.

With game interest, responder does not use the relay bids of hearts, spades, and clubs but
instead bids 2NT.



Now, opener bids his suit if single-suited (hearts, spades, or clubs) at the three-level. If two-
suited, he again bids three clubs or three diamonds, the lower ranking suit, with minimal
vaues (5-7 HCP).

With 8-10 HCP, opener bids 3NT if single-suited or the higher ranking suit at the three-level
if holding a two-suited hand. For example, the bids would be: after 2¢-2NT-3e, after 2%-
2NT-3v, and after 24 -2NT -34,

Let’slook at two examples.

Q) Opener: «a6YA Q87654653 #1076
Responder: « AQ78%J104J104& A2

In (1), opener bids 2¢*. Responder with only 12 HCP, bids 2%, and opener would pass.
(2) Opener:4a6YA Q8765465341076
Responder: «a AKJ8YKJ109¢ A 104442

In (2), after opener’ s bid of 2¢*, responder bids 2NT. With only 6 HCP, opener bids 3v
to show aminimal single-suited hand. Responder bids 4¥; however, with fewer points
and no fit responder could pass.

Some may feel that the multi-suit weak two bidding structure defined aboveis too
complicated. Because the bids are weak, the structure must be involved to differentiate
between invitational hands and game going hands.

If one increases the value of “weak” bids to hands with more points, say 10 -12 HCP, the
bidding structure may be greatly ssimplified; however, you have now given up weak two
bids. With weak bids increased in value, one may perhaps adopt the following bidding
structure. Instead of using transfer bids, one may define a structure of bids as follows:

2¢ diamonds or diamonds and alower ranking suit

2y hearts or hearts and alower ranking suit

24 spades or spades and alower ranking suit.

With aweak hand, responder may pass, thereis no relay involved. With game interest,
responder bids 2NT. Now the bid of 2NT becomes an asking bid. What is your second suit
if two-suited?

Now having a second suit, you would rebid your suit at the three-level ; however, with a
two-suited hand, you would bid your lower ranking suit.

The revised bidding structure of 10-12 HCP is not arbitrary; it isidentical to opening a
weak notrump. Thus, if you play weak notrumps, you might want to also consider the two-
suited/single-suited “weak” bids. Just athought!



Let’slook at two examples.
(1)483vKJ1098¢J #A Q1098
(2)4J1094vQJ107¢J103#A Q10

Hand (1) hasonly 11 HCP, but you are 5-5 in hearts and clubs. Open the bidding 2.

Hand (2) also has 11 HCP, however, it is balanced. Playing weak notrumps, open the hand
INT.

If you adopt the weak notrump bid and the weak two bids with 10-12 HCP, consider the
following bidding structure vulnerable or non-vulnerable.

10-12 openthebidding INT

13-15 open 1%, rebid INT

16-17 open 1e, rebid INT

18-19 open oneof asuit, rebid 2NT
20-12 openthebidding 2NT

Suggestion: It is aways advisable to reevaluate your bidding agreements and perhapstry a
new one.



Chapter 16 — System Summary for Simplified Precision

Basic Opening bids

1s*  Artificia 16+ HCP --- MUST ALERT

le*  11-15 HCP may be short usually 2+ ¢, but may be only one-MUST ALERT (May
have a 4-card mgjor)

1v/14 11-15 HCP 5+ Magjors with Combined Bergen Bidding Structure (asin 2/1 Game
Force)

INT 13-15HCP and no 5-card Mgjor with abalanced hand (asin 2/1 Game Force
with Double-Barrel Stayman)

2&*  11-15HCP 6+ Clubs (may have a4-card mgor) - MUST ALERT

2¢*  11-15 HCP 4=4-4-1/ 4=4-0-5 (Mini-Roman Modified - MUST ALERT)

2v/24 5-10 HCP 6+ Cards (Weak 2-bids Vulnerable with Ogust)

2NT* 5-5inthe minors 5-10 HCP (NV) and 11-15 HCP (Vulnerable)

3X 5-10 must have 2/3 of top 3 Honorsin the Bid Suit Vulnerable and 1 if Non-
vulnerable

3NT* GAMBLING solid 7+ minor suits (AKQJxxx)

* Indicates forcing bids and alerts

Responsesto 14* Opening

Responsesto 1#* OPENING (16+ HCP balanced hand, 17 + HCP for an
unbalanced hand and a major with 4+ cards)

(1) Negative: 1¢* 0-7 HCP
Opener Rebids after 14*:

Non-forcing bids: 14/24/24 (minimum unbalanced hands with 5/6-card suits, 16-19
HCP).

1v* relay responder must respond 1a*
Opener Rebids after 1v*

INT 20-21 HCP balanced may have a 5-card mgjor
2% 5+ hearts, 4+ clubs, non-forcing

2¢ 5+hearts, 4+ diamonds, non-forcing

2y 5+ heart suit, no extras

24 5+hearts, 4+ spades, non-forcing



2NT 24-25 HCP balanced.

3&/3¢ Forcing, possibly 5-5 in hearts and the suit bid
(clubg/diamonds)

3v six-card suit, invitational over the 1 diamond response
3e 5+ hearts, 4+ spades with extras

3NT toplay

4 6 clubs, 5+ diamonds, forcing

4e 6 diamonds, 5+ clubs, forcing

4v/4e to play

ANT RKCB

Exceptions-- Do not relay heartsto spadesif the following conditions apply.
After 1v* responder bids:

INT 5-5 or better in the mgjors, very weak (0-4 HCP)
28/24/29/24 modest 6+ card suit, very weak
2NT 5-5 or better in the minors, very weak (0-4 HCP)
3&/34/39/34 modest 7+ card suit, very weak

After 29* responder bids:

2NT 2-suited 5-5 or better, extremely weak (0-2)
3&/34/39/34 modest 7+ card suit, extremely weak

INT* 16-19 HCP Balanced May have a 5-card Major
Partner Responses
Pass 0-6 HCP
2% 6-7 HCP, Stayman
2¢/2% Jacoby Transfer
2NT 7HCP, inviting 3NT

24 without relay shows 5- spades and 22+HCP -- equivalent of Standard bidders 2
(no-relay)

44 by responder is to play (7 or less HCP) after 1diamond response
With a positive response of 1 club, bids follow 2/1 structure

2v* relay responder must bid 24*
Opener Bidsand Corresponding Partner Rebids
2NT 26-27 HCP baanced hand may have a4-card major

New Suit shows aking



3NT 0-4 HCP, denies aking

ANT 5-7 HCP, invite slam
3v - 5/6+hearts -- equivalent of 2/1 bidders 2# 22+ HCP
(forcing)

3NT 0-4 HCP, minimum and no support

4 0-4 HCP, minimum and 2-card support

3#&/3¢ - unbalanced very strong 7+ minor hand (game force, 22+HCP)

New suit shows king or void

3NT no king or void

4/44 with singleton

Raiseto game denies king, singleton, or void

Ao/ 4------ 6-5 clubs-diamonds/6-5 diamonds-clubs 22+ HCP

New suit shows king or void
ANT no king or void
Raiseto game denies king, singleton, or void

2NT* 22-23 HCP balanced may have 5-card major (no relay bid)
Partner Responses

Pass 0-2 HCP
Other bids same as 2/1 (e.g., 34 is minor suit Stayman)

3NT 28+ HCP balanced may have a five-card major

Partner Rebids
0-3HCP pass or 4-level bids are transfers
4-7 HCP and balanced bid 5NT invite grand slam

(2) Transfersto MAJORS Positive Bids 8+ HCP:

lv#  5t+spadesopener bids 1e,

2¢# 5+ heartsopener bids 2,

la#  balanced hand (8-13 HCP and may have a 5-card minor) opener bids INT
Opener's Responses with Balanced Hands

INT 16-19 HCP
2NT 20-21 HCP



3NT 22-23 HCP
ANT 24+ HCP (Blackwood)

# announced as a tr ansfer

Thebid of 2#* showslong minor and the bid of INT* by responder ensure 4-4in
the majors (with 8 — 13 HCP) details (3) and (4) below.

Opener (Only accepts Transfer if he hasafit by bidding 14/2% with at least two-
card support + Honor or three-card support). After thebid of INT, Stayman is
used.

3v/34 Balanced minimum transfer accepts exactly 16HCP
4v/4e To play, accept bids with 17 HCP

Responder uses (Gamma) control bids to show length after opener ACCEPT S showing
18+ HCP.

2/3&* by responder says I have 5
2/3¢* by responder says | have 6
2/3v* by responder says | have 7

When responder bids two clubs showing only five-cards in the accepted major, opener
may bid two diamonds (the next step) to ask about NT. Responder will bid a suit when at
the two-level to show a stopper. 2NT shows stoppers in both minors. A rebid of the five-
card major at the two-level shows no stoppers.

Next level bidsof MAJOR by Opener at the 2/3 level after Gamma bidsare Trump
Asking Bids (TAB) used to investigate suit quality.

Responsesto TAB follow (NT isnot used as a step):

1% step 3/4%* no Honors in agreed major
2" step 3/44* 1 top Honor

3 step 3/4%* 2 top Honors

4" step 3/44* 3 top Honors

An important adjunct to Gamma length bids (when one has 6/7 trump) or the TAB isa
new suit (Epsilon) Shortness Asking Bids (SAB) which isinitiated by bidding the SUIT!
Note that thisis used for the investigation of SLAM in asuit and NOT Notrump.

Responsesto SAB are:
1% step no shortness

2" step singleton
3 step void



NT isnot used as a step “reserved for RKCB”

NON-TRANSFER BIDS by OPENER ------- 5+card suit of hisown denying afit in
the transfer major. Or one may bid INT showing balanced hand with 16-19 HCP.
Responding with Balanced Hands and not major suit fit.

INT*
2NT*
3NT*
ANT

16-19 HCP
20-21 HCP
22-23 HCP
24+ HCP (Blackwood)

(3) INT* 8—13HCP Two 4-card Majors

28/2¢

29/24

2NT

38/3¢
3v/34
3NT
4v/4e
ANT

16+ HCP, 5+ card suit and no mgjor fit
shows 3-card support for the major with ruffing values
Forcing (16+ HCP) asking partner to bid minor suit stoppers

Responder (Partner) Rebids
Bid minor stopper suit (Qxx)
Both minors stopped, bid SNT
None — Bid best major

16+ HCP, 6+ card suit and no major fit

Invitational to game in the major with fit (16+ HCP)
16 + HCP and usually 2-cards support in major
Sign-off

Blackwood Ace Asking

(4) 2#* 8+ HCP 6-cardsin a Minor with 2 of top 3 honors

Opener Rebids (after 1% - 2#*) — Summary

29/24

2NT

Shows a 5-card mgjor suit

Partner Rebids
Raise major with support or bid minor

Asking partner for Minor (bid it)

Partner Rebids

3NT Sign-off

Aa*/44* Trump Asking Bid (TAB)
0 Bid Game
1-2  Bid Slam



3NT
ANT

3 Bid Grand Slam

No interest in slam or the minor
Blackwood Ace Asking

(5) 2v/24 4-6 HCP 6+card (Weak Jump Shift)

Opener Rebids

Pass Game unlikely

49/44/3NT 20+ HCP

New suit 5+ cards without support for the majors

3v/34

2NT
3NT
ANT

(6) 2NT* 14+HCP, balanced no 5-card major (May not stop short of 4NT)

Partners Rebids

Raise 3+ support (or Qx)
Rebid v/4 minimum no
support

Cuebid under 3NT  singleton or void
Minimal hand with support (16-18 HCP)
Partners Rebids

Pass or bid game

Ogust

Natural
RKCB

Opener Rebids
3¢/39/34 Natural bids
3a* Baron asking bid
Responder Bids
Bid 4-card suits up-the-line
3NT show 6+clubs
3NT 16-19 HCP Balanced Hand

ANT

Quantitative (20+HCP)

Responder Bids
Balanced bid notrump



Unbalance bid best 5/4-card suit

(7) 3&* 1-4-4-4/4-4-4-1 Black Singleton Lacking 4 controls (8 - 13 HCP)
Opener Rebids after 3%

3¢*  Whereisthe singleton?
3v*  clubsingleton
34*  gpade singleton

3NT toplay
4v/4e to play
ANT  Blackwood ace asking

Cuebid by opener of singleton (4%*/44*) is the CAB

1% step 0-2 (at most 1 ace or 2 kings)

2" step 3 (ace and king)

3 step 4 (2 aces)

(8) 3¢* 4-1-4-4/4-4-1-4 Red Singleton Lacking 4 controls (8-13 HCP)
Rebids after 3¢
3v*  Whereissingleton?
3#*  diamond singleton

3NT* heart singleton

4v/4e to play
ANT Blackwood ace asking

Cuebid by opener of singleton (4¢*/4%*) is the CAB

1% step 0-2 (at most 1 ace or 2 kings)
2" step 3 (ace and king)
3" step 4 (2 aces)

(9) (Submarine Strong Singleton Responses after 14 bids)

3v*  gpecifically 1-4-4-4 with 4+ controls, usually 14+ HCP
3NT* specifically 4-4-4-1 with 4+ controls, usually 14+HCP
4%* specifically 4-4-1-4 with 4+ controls, usually 14+HCP
4¢* gpecifically 4-1-4-4 with 4+ controls, usually 14+HCP

Next level bidsBY OPENER are CAB (34*, 4#*, 4¢* and 4¥*, respectively)
The responses to the CAB are:



1% step -- 4 controls (2 aces or ace and 2 kings)

2" step --5 controls (2 aces and 1 king/ ace + 3 kings)

3" step --6 controls (3 aces/ 2 aces and 2 kings)

a* asolid 7+ card suit XxX), 14 + with or without side controls
10) 3a* lid 7 d suit (AKQJ 14 + HCP with ith id I

Opener Rebids (with minimal 16 — 17 HCP)

3NT to play
4v/4e natural showing at least 5-cards with no slam
interest

Opener bidswith 18+ HCP (if he knows the suit)

4&*  CAB - Asksabout outside suit controls

Reponsesto CAB

de* no outside controls
4v* outside king

da* outside ace or 2 kings
ANT* ace/2-3 kings

Opener bidswith 18 + HCP (if suit is unknown)
4¢*  askingfor suit
Responses to suit ask
4v* [44* [5&*  hearts, spades, clubs
ANT* diamonds

Opener may also bid 4NT which is Blackwood

Responsesto 1M Opening

Responsesto 1M Opening (Open 1¥/14 with 11-15 HCP) -- Same as 2/1, Combined
Bergen

Responsesto INT Opening

Responsesto INT (13-15 HCP)

2% NF Stayman 10-12 HCP
2¢ Forcing Stayman 13+HCP
29/24 toPLAY 0-8HCP

3%/34/3%/34 6-card suit with 2 of top 3 honors 9-11 HCP



Responsesto 2M Opening

Responsesto 2¥/ 24 (Open 5-10 HCP, 6+ suit --- occ. 5) - Same as 2/1

The weak major two-level bid isa"normal" weak two and typically shows between 5-10
points and at least a six-card suit. The optimum hand for aweak -2 has most of its points
in the long suit although it is recognized that thisis not always possible and sometimes
(particularly third hand at favorable vulnerability) you have to go with what you've got.

Responses to 2#* Opening

Responsesto 2& Opening (Open 11-15 HCP, 6+ clubsor 6 clubsand 4 cards major,
must have two of thetop three honors--- 5+ in third seat.

Partner responses
2¢* 11+ HCP, conventional and forcing for one round
Opener Rebids

2v 11-15 HCP, 4-card ¥ suit
24 11-15 HCP, 4-card # suit
2NT 11-15HCP, 6-3-2-2 BAL hand, 6-card club suit with a major stopper

Partner Rebid
3¢*  requests opener to clarify stoppers

Opener Bids

3v* v stopper

34* & stopper

3NT ¥ and & stoppers

3% 14-15 HCP non-forcing and unba anced hand (1-3-3-6)

3v 14-15 HCP, 5+card ¥ suit

34 14-15 HCP, relay back to #’s, solid club suit AKJ109x allows responder
to bid 3NT

3NT 14-15 HCP, 5+spades and 6+ clubs

29/24 Natural with 5+cards, 8-10 HCP

2NT Natural 10-12 HCP

3% Preemptive raise not forward going

3¢/39/34 6+ card suit, 12 HCP opener may pass, raise, or bid SNT
4 Invitational to gamein clubs

4v/44 Natural and to play

4e RKCB for clubs



With interference

Negative double through 34
Redouble 10+ HCP
Cuebid 13+ HCP

Responsesto 2¢* Opening (M odified Mini-Roman)

Responsesto 2¢* Opening (11-15 HCP) Shows a hand with one of the following
distributions (4=4-4-1, 4=4-5-0).

Partner Responseto 2¢*

29/24 3+ card support 0-12 HCP
2NT* 13+ HCP (asks partner to bid singleton)
Opener Rebids

3&*/3e* 4=4=4=1/4=4=1=4 singleton in bid suit
Aa*/46* 4=4=5=0/4=4=0=5 void in bid suit
Partner sets the contract or bids 4NT (Blackwood)

3&/3¢ 13+ HCP with own 5-card suit
Opener Rebids
Pass 11 HCP
3NT 12+ HCP denies support for the minor
Bidding other minor at the 4-level is an asking bid - bid best major
3v/34 shows 13+ HCP and 4+ cards in major
3NT 16+ HCP and support for 1 major
Aa*/44% splinter bid with singleton and support for 1 major
Sd*/54* void in bid suit with support for 1 major

With interference

Negative double through 34
Redouble 10+ HCP
Cuebid 13+ HCP

Responsesto 1¢* Opening

Responsesto 1¢* Opening (11-15 HCP diamonds may be short) strong Jump Shifts



1v/14 4+ cards in suit with 6+ HCP (to show weak hand rebid majors since using strong
jump shifts)

INT 8-10 HCP, balanced hand

2NT 11- 12 HCP, balanced hand

3NT 13-15 HCP, balanced hand

2% 10-12 HCP forcing one round, 5/6+ diamonds

2¢* 13+ HCP with 5/6+ diamonds forcing one round
2v/24 16+ HCP strong jump shift in Major 5+ cards, game force
3a* 10-12 HCP, 5+ diamonds (Crisscross)

3e* less than 10 HCP, weak, preemptive raise 5+

3v/34 Splinter bid in support of diamonds (slam interest 16+)
4 Splinter bid in support of diamonds (slam interest 16+)
4e Minorwood 1430 Keycard for diamonds

4v/4e Single-suited hand to play

Getting to notrump

After an inverted minor raise 1* - pass - 2¢* (13+ HCP)

Show major suit stoppers 2% or 24, bid up-the-line. No extra values
Bid 2NT with a minimum and both mgjors are stopped

Bid 3# to show club stopper, neither hearts of spades stopped

Bid 3¢ with a minimum without major stoppers

Bid 3v or 3NT, showing ¥ stopped, over 24 with minimum values

agrwbdpE

After aweak raise 1¢* - pass- 3¢* (less than 10 HCP)

Pass with all minimum and amost al intermediate sized hands

A new suit isforcing one round and shows a very strong hand
3NT isto play regardiess what partner had for his preemptive raise
4 of the minor isinvitational (may be used as RKC Blackwood)

oo op

Note: After 1¢*-2¢*, you can bid mgor stoppers out of order to show club shortness
below 3NT. Opener bids 24 and then, over a2NT or 3¢ response, bids 3¥. This shows
club shortness and enough values for game while still alowing 3NT to be bid by par.

When they double

If the bidding goes: 1¢* - double; bid as follows:

REDOUBLE shows 5+ hearts asks partner to bid 1v
lv shows 5+ spades asks partner to bid 14
1e transfer bid asks partner to bid INT
INT 8-10 HCP

24 natura 5+ clubs



2¢ 13+ HCP, diamond raise

2v/24 to Play
2NT 11-12 HCP
34 10-12 HCP, limit raise in diamonds

Responsesto 2NT* Opening

Responsesto 2NT* 5-5in theminors4-8 HCP NV and 8-12 HCP Vulnerable

3% or 34 is to play
3v* is an asking bid

Opener Rebids

3e 5-5 minimum (4-8 NV; 8-12 VUL)
3NT  maximum

4 6-5 (clubs, diamonds), minimum
4¢ 6-5 (diamonds, clubs), minimum
4 6-5 (clubs, diamonds), maximum
Py 6-5 (diamonds, clubs), maximum
ANT 6-6intheminors,

3e to play
3NT toplay
4%/4¢ preemptive bids and to play
4v/4e toplay
S5%/5¢ to play

Gambling 3NT* ------ Sameas 2/1
Namyats ---------------- Sameas 2/1
Shows a hand with 8 - 8 %2 trick in hearts (Open 4#*), in spades open 4¢*. Refuse

transfer by bidding the step in between (44 over 4% and 4% over 44), requesting that
partner bid an aceif he has one or to sign off in hislong suit. 4NT is RKCB.

Responsesto 3X Openings

Responsesto 3X bids by OPENER (always ensur es two of the top three honors

Vulnerable) and 5-10 HCP plus distribution. Non-vulnerable at least ONE top

Honor.

4%  Aceasking

4e Asksfor outside controlsfirst step 0-2 controls (A=2; K=1), second step = 3,
etc.

4v/44 toplay

ANT RKCB



SUMMARY- INTERFERENCE BIDS OVER 14* OPENING

Direct Seat | nterference

Double — Mathe which shows Mgjors

Pass
le
Redouble
1v
1a
INT
2%
2¢
2y
24
2NT

At 1leve — (natural)

Pass

Double

Suit

Jump in suit
INT

2NT

Cuebid

INT — (natural)
Pass
Double
Suit

0-4 HCP

5-7

8+

8-10 HCP no stopper in hearts

8-10 HCP no stopper in spades
8-10 HCP stoppersin the majors
8-13 HCP and 6+ cards

8-13 HCP and 6+ diamonds

11+ spade stopper (no heart stopper)
11+ heart stopper (no heart stopper)
11+ both majors stopped

0-4 HCP

5-7HCP

8+ HCP, 5+ card suit, Game Force
10+ HCP, 5/6+ suits, Game Force
8-13 HCP, with stopper

10+ HCP, with 1/2 stopper

14+, Game force no stopper

0-4 HCP
5-7HCP
8+ HCP, 5+ card suit

INT — Mathe which shows Minors

Pass
Double
2%

2¢

2y

24
3NT

At 2 level — (natural)
Pass
Double
Suit bid
2NT

0-4 HCP

5-7HCP

5+ hearts, GF

5+ spades GF

5+ HCP, natura and non-forcing
5+ HCP, natura and non-forcing
10+ HCP, both minors stopped

0-4 HCP

5-7 HCP

8+ HCP, natural

10-13 HCP with stopper



3NT 14+ with stoppers

At 3leve — (natural)

Pass 0-4 HCP

Double 5-7HCP

Suit bid 8+ HCP, and 5+ card suit
At 4 level — (natural)

Pass 0-4 HCP

Double 5-7 HCP, takeout or penalty

Balancing Seat I nterference

After 18* - (Pass) - 1¢ - (1v/4)

Pass bal ance minimum no 5-card suit
Double support for the other 3 suits
Suit Bid Natural, non-forcing
INT shows stopper with (16-21 HCP)
2NT shows stopper with (22+ HCP)
Cuebid 20 + HCP no stopper
After 18* - (Pass) - 1¢ - (INT for Minors)
Pass bal anced minimum no 5-card suit
Double support for the both majors
28/24 unusua extravalues shows ¥/
2924 Natural non-forcing
2NT shows stopper with (22+ HCP)
After 18* - (Pass) - 1¢ - (Double = Majors)
Pass bal anced minimum no 5-card suit
Double support for the both minors
28/24 natural 5+ card suit.
2v/24 unusua extravalues shows &/+
2NT shows stopper with (22+ HCP)

INTERFERENCE OVER INT by OPPONENTS

Direct Seat = Modified Cappelletti Balancing Seat = Modified DONT
Over strong Club SPAM (14 takeout) Transfer L ebensohl

OTHER CONVENTIONAL CALLS

These arediscussed in detail in Timm (2010) “2/1 Game Force a Modern
Approach”, Trafford Press.

Over aMajor Bid Play L eaping Michaels Unusual vs. Michaels



Unusual over Unusual Reverse Good-Bad 2NT

Wolff Sign-Off Help Suit GameTry
4™ suit Forcingto GAME Wester n Cuebid
Snap Dragon Doubles over a Minor Rosencrantz over aMajor

3344 Convention

OVER ANY Other ONE-LEVEL BID BY OPPONENTS

INT - takeout and shows 8-14 HCP with shortnessin bid suit, Double = 15+
LEADS--- 3™ /5™ vs, suitsand 4" Best vs. NOTRUM P

Upside-down COUNT AND ATTITUDE (Suit and Notrump)

Trump Suit Preference



Chapter 17 — Simplified Precision
Overview

Precision Simplified as presented in the first sixteen chapters of thisbook is a strong club
system which uses the heart bid as an artificial response to describe hand shape and
points, incorporates transfer bids to right-side the contract, employs weak two bids, and
many of the 2/1 conventions when opening a major suit at the one, two and three levels.

If oneiswilling to give up weak two level major suit opening bids, the artificial heart
relay bid, and some of the less frequent three level responses to the strong club opening,
then one may use what | have called Simplified Precision. An overview of the bidding
structure follows. It isreally straight forward.

Basic Opening Bidsfor Simplified Precison

1a* Artificia 16+ HCP --- MUST ALERT

le* 11-15 HCP may be short (0-2)-MUST ALERT (May have a 4-card mgjor)

1v/14 13-15 HCP 5+ Magjors with Combined Bergen Bidding Structure (asin 2/1
Game Force)

INT 10-12 HCPin seats 1 or 2

13-15HCPin seats3 or 4
Balanced hand with DoubleBarrel Stayman

28*[29*/24* 10-12 HCP 5+ cards - MUST ALERT

2¢% 18-19 HCP - MUST ALERT (Mexican Two Diamonds)
2NT 10-12 and 5-5 in the minors
3X 13-15 HCP 6-cards and 2/3 of top three Honors in the Bid Suit Vulnerable

and oneif Non-vulnerable

3NT Gambling

Responsesto 1& Opening

Responsesto 1&* OPENING (16+ HCP unbalanced hand, 17 + HCP with a
balanced hand and a 4-card major)

(1) Negative: 1¢* 0-7 HCP

Opener Rebids after 1e*:



INT* 16-19 HCP Balanced May have a 5-Card M ajor
Partner Responses
Pass 0-6 HCP
2% 6-7 HCP, Stayman
2¢/2% Jacoby Transfer
2NT 7HCP, inviting 3BNT
2NT* 22-23 HCP balanced may have 5-card major (no relay bid)
Partner Responses

Pass 0-2HCP
Other bids same as 2/1 (e.g. 34 is Minor suit Stayman)

(2) 1v* - Artificial with 10+ HCP (Shows game going values)

Opener Rebids after 1v*:

INT 16-19 and Balanced

24/24/29/24 5-card suit and 16 HCP

2NT 20-21 and Balanced

3#/34/3%/34 5- card suit and 17 HCP

3NT 22+ and Balanced

4/44/4%/44  5- card suit and 18 HCP

(3) INT* 813 HCP Two 4-card Majors (Same as Precision Simplified)

Opener Rebidsafter INT*:

28/2¢ 16+ HCP, 5+ card suit and no mgjor fit
29/24 shows 3-card support for the major with ruffing values
2NT Forcing (16+ HCP) asking partner to bid minor suit stoppers

Responder (Partner) Rebids
Bid minor stopper suit (Qxx)
Both minors stopped, bid 3NT
None — Bid best major



3&/3¢ 16+ HCP, 6+ card suit and no major fit

3v/34 Invitational to game in the mgjor with fit (16/17 HCP)
3NT 16 + HCP and usually 2 cards support in major

4v/4e Sign-off

ANT Blackwood Ace Asking

(4) Transfersto MAJORS (Positive Bids 8+ HCP)/Notrump (8-13 HCP):

la#  opener bidsINT
2¢# 5+ heartsopener bids2v
2v# 5+ spadesopener bids 24

# announced as a transfer

Opener (Only accepts Transfer if he hasafit by bidding 2¥/2# with at least 2 card
support + Honor or three card support). After the bid of INT, Stayman is used.

3v/34 Balanced minimum transfer accepts exactly 16HCP
4v/4e To play accept bids with 17 HCP

Responder uses (Gamma) control bids to show length after Opener ACCEPTS showing
18+ HCP.

2/3&* by responder says I have 5
2/3¢* by responder says | have 6
2/3%* by responder says | have 7

When responder bids 2 clubs showing only 5 cards in the accepted major, opener may bid
2 diamonds (the next step) to ask about NT. Responder will bid a suit when at the two
level to show a stopper. 2NT shows stoppers in both minors. A rebid of the 5-card major
at the two level shows no stoppers.

Next level bids of MAJOR by Opener at the 2/3 level after Gamma bidsare Trump
Asking Bids (TAB) used to investigate suit quality.

Responsesto TAB follow (NT isnot used as a step):

1% step 3/4#* no Honorsin agreed major
2" step 3/44* 1 top Honor

3" step 3/4%* 2 top Honors

4™ step 3/44* 3 top Honors



An important adjunct to Gamma length bids (when one has 6/7 trump) or the TAB isa
new suit (Epsilon) Shortness Asking Bids (SAB) which isinitiated by bidding the SUIT!
Note that thisis used for the investigation of SLAM in asuit and NOT Notrump.

Responsesto SAB are:
1% step no shortness
2" step singleton
3 step void
NT isnot used as a step “reserved for RKCB”

NON-TRANSFER BIDS by OPENER ------- 5+card suit of hisown denying afit in
the transfer major. Or one may bid INT showing balanced hand with 16-19 HCP.

Responding with Balanced Hands and no major suit fit.

L2NT* 16-19 HCP
2/3NT* 20-21 HCP
3/ANT* 22-23 HCP
4/SNT 24+ HCP

(5) 24 4-6 HCP 6+card (Weak Jump Shift in Spades Only --- NOT HEARTYS)

Opener Rebids

Pass Game unlikely

4v/44/3NT 20+ HCP

New suit 5+ cards without support for the majors

Partners Rebids

Raise 3+ support (or Qx)
Rebid v/4 minimum no support
Cue-bid under 3NT  singleton or void

3v/34 Minimal hand with support (16-18 HCP)

Partners Rebids

Pass or bid game
2NT Ogust
3NT Natural
ANT RKCB

(6) 2NT* 14+HCP, balanced no 5-card major (May not stop short of 4NT)



Opener Rebids

3¢/39/34 Natural bids
3% Baron asking bid

Partner Bids
Bid 4-card suits up the line
3NT show clubs
3NT Balanced hand 16-19 HCP
ANT Quantitative (20+ HCP)
Partner Bids

If balance bid notrump
Unbalanced bid best 5/4-card suit

(7) 38*3¢%/3%*/34% 4-4-4-1 with Singleton in bid suit (8— 13 HCP)

Rebids by Opener after 3-level bid

4v/4e to play

ANT Blackwood ace asking

S&/54 to play

Cue bid by Opener of singleton (4&*/4¢*) is the CAB
1% step 0-2 (at most one ace or two kings)

2" step 3 (ace and king)
3 step 4 (two aces)

Responsesto 1M Opening

Responsesto 1M Opening (Open 1¥/14 with 11-15 HCP) -- 2/1, Combined Bergen)

Combined Bergen Raiseswith Interference
Max Hardy Swiss Bids and Concealed/Ambiguous Splinters

Dummy Pts No Interference  Double Suit bid Passed Hand

2 Trumps
59 PHs *1INT then 2 Mgor pass pass pass



3 Trumps

59 Pts *INT then 2 Mgor pass pass pass
8-10(bad) Pts @2 Major (Constructive) 2Magor 2 Mgjor
10-12 Pts @3¢** Redouble Cuebid Drury (2#%*)
13+ 2 over 1 Bids Redouble Cuebid N/A
16+ Pts Balanced @4 (Swiss) @4% @4 N/A

4 Trumps
0-6 Pts @3 Magjor (Weak) @3 Magor @3 Mgor @3 Major
7-12 Pts @3%** @3 Clubs 2 Major 2Mgor

Bid 3 Diamondsto
Ask 3v=7-9, 34=10-12

13+ Singleton @3 Other Mgjor @3 Other Major @3 Other Major N/A
(Concedled Splinter) then Step Bids#
13+ No Singleton 2over 1Bid 2over 1Bid 2 over 1 Bid N/A
15/16+ Pts @Jacoby 2NT @Jacoby 2NT @Jacoby 2NT N/A

5 Trumps
0-11 Pts Bid Game Bid Game Bid Game Bid Game
12-15 Pts @4¢ (Swiss) @4+ @4¢ N/A

Note: With five HCP and three-card trump support, pass, unless holding either a
singleton or at least one trump honor with al other HCP in one side suit. * Semi-Forcing
**=Forcing, @=Alert

# after 34 bid 3NT to find singleton/void, then 44/44/4%/44 denote Singleton/void. After
3v, bid 34, again, steps denote the singleton. For example, SNT denotes club
singleton/void, etc. If you want to know if it isasingleton/void, bid next suit up which
are Scroll Bids.

The above table also applies to Bergen Raises, one only need change the bid of 3&** to
show 7-9 points with four-card support and 3¢** to show four-card support with 10-12
points, INT* followed by three of the major to show 10-12 points with three-card support
and Jacoby 2NT requires only 13+ starting points and four-card support.

If the overcall is at the two-level, we aso use the Bergen bids; however, if the bid is, for
example, 2#, the bid of 3&* may show three- or four-card support because of its cuebid
nature.



Truscott Jordan 2NT

In the Combined Bergen Convention, we have chosen not to include the Truscott Jordan
2NT bid. If used, it is not the same as the Jacoby 2NT bid. The bid istypically used to
show alimit raise with three- or four-card support for the bid of a major over adouble (it
must be alerted). We recommend the Redouble that shows 10+ points with or without a
fit. After aredouble, one next supports the mgjor (shows 13+ with three- or four-card
support for the mgjor). If you redouble and bid your own suit, you are denying afit.
Discuss these options with your partner.

We recommend the Jordan 2NT over a minor suit opening if you do not play Flip-Flop. It

shows 5+ card support and alimit raise. Recall that playing Flip-Flop, 2NT isweak and a
three-level bid of the minor shows alimit raise.

Responder Bids when opponent (advancer) interfers after 2NT

To illustrate suppose the bidding goes: 1¥-P-2NT-3¢

4 - issignoff, no shortness

Pass - forcing pass, shows shortness in opponent’ s bid suit
New Suit -shows shortness in bid suit

3NT -medium or maximum hand, no shortness

After aforcing pass bid by opener, rebids by responder are:

Double-Penalty

3M -new Major, Acein suit and 0-1 losersin opponent’s bid suit
3NT -King in Opponent’s bid suit

am -Acein suit bid and 0-1 losers in opponent’s bid suit

Opener’s Rebids after aredouble

Partner’s redoubl e after a double shows 10+ starting points. If the opponents make a
runout bid to compete and the opener cannot double the bid for penalty, it is always best
to pass and allow responder to bid. Partner will show his suit or support for the opening
bid suit. In most situations as opener you should pass a redouble. This alows your
partner to show his hand; do not be quick to bid.

However, if opener has along suit or a strong two-suited hand that is not suited to a
penalty double, opener must bid. For example, areverse would show a strong hand.

When the opponents bid over aredouble, a rebid of the suit shows along suit with aweak
hand, a double usually shows 4+ cards in the opponent's bid suit. A bid (or jump bid) of a
new suit shows 5-5 distribution and aweak hand. A passisforcing. If responder passes



first and then bids, it shows a stronger hand, usually 5-5 in the two suits and 15+ starting
points.

Responsesto INT Opening

Responsesto INT (10-12 or 13-15 HCP)

L NF Stayman 10-12HCP
2¢ Forcing Stayman 13+HCP
29/24 to PLAY 0-8HCP

3%/34/3%/34 6 card suit with 2 of top 3 honors 9-11 HCP

Responsesto 2M Opening

Responsesto 24/2%/ 24 (Open 10-12 HCP, 5+ suit) — M odified Ogust

M odified OGUST Convention

Because bidding is becoming more aggressive, we recommend opening weak twos with a
five-card one-suiter (clubs, hearts, and diamonds). When you do, one may use Modified
OGUST rebids to describe the hand. Again, the 2NT bid is used to ask about the hand.
Using this convention, the bids are:

3% 5-card suit GOOD/STRONG hand

3¢ 5-card suit BAD/WEAK hand

3v 6-card suit BAD/WEAK hand

3e 6-card suit GOOD/STRONG hand

3NT either a5- or 6-card suit or asemi-solid 5- or 6-card suit plus ace or king in aside
suit

Observe that the 3 bid is used to show a stronger HAND in order to leave more room
for further investigation since all responses describe only the“HAND” and say nothing
about the quality of the suit.

If after the response of the 3 bid, if responder wants to find out about the SUIT, one
bids 3¢*. The opener now clarifies the suit strength with the following bids.

3v* BAD/WEAK suit and 1honor
34* GOOD/STRONG suit and 2 honors
3NT* GOOD/STRONG suit and 3 honors

Following OGUST, one describes the HAND and upon request, then the SUIT.
Theweak mgjor 2-level bidisa"normal" weak two and typically shows between 5-10
points and at least a 6-card suit. The optimum hand for aweak-2 has most of its pointsin



the long suit although it is recognized that thisis not always possible and sometimes
(particularly 3rd hand at favorable vulnerability) you have to go with what you've got.

Responsesto 2¢* Mexican Two Diamonds

Responsesto 2¢* Opening (18-19)

Developed by Mr. George Rosencrantz, it is afeature of the Romex System; however,
it is becoming more common among partnerships playing the 2/1 game force system.

The problem arises with hands containing 18-19 starting points (some partnerships only
count HCP) that are balanced or semi-balanced with 4-6 losers and possibly a five-card
major suit. Never use the bid with asingleton or avoid.

Consider the following hand: 4AQJ102 vKJ7 ¢« KI5 & A10

Y ou have 19 HCP + 1 length point — 1 dubious honor doubleton = 19 starting points.
Clearly, you want to open, but how can you communicate strength in one bid? Y ou have
only asix loser hand. Playing the Mexican Two Diamond Convention, you would open
2¢.

The Responsesto 2¢* Opening (18-19)

1. A Negative Response with 0-4 starting pointsis to pass with Diamond support (6+
diamonds).

2. A 2v* bid isartificial and arelay bid to 24 (opener accepts with five) or bids his own
five-card suit (clubs, diamonds, or hearts) or 2NT to show a balanced hand; responder
passes all bids with 5-7 points. With 8+ points, partner may bid 3% as Stayman (basic)
with one or two four-card majors, bid 3NT or with support (three cards) for the suit bid
by the opener, he raises partner's bid suit to the three levels, an invitational raise to game.

3. A response of 24 (showing 7-9 starting points) and a balanced hand transfers the
opener to two notrump.

4 Any Positive Response on the three-level, even three diamonds, promises at |east 8+
plus high card points and a broken six-card suit.

5. A Positive Response also includes the use of Texas Transfers (44/4+), the purpose of

which isto have the stronger hand concealed during the play. The transfer bids are used
only when the partner realizes he holds enough values for game or slam, not a part score.

Responsesto 1¢* Opening

Responsesto 1¢* Opening (11-15 HCP diamonds may be short) strong Jump Shifts



1v/14 4+ Cards in suit with 6+ HCP (to show weak hand rebid majors since using strong
jump shifts)

INT 8-10 HCP, balanced hand

2NT 11- 12 HCP, balanced hand

3NT 13-15 HCP, balanced hand

2% 13+ HCP forcing one round

2¢* 13+ HCP with 6+ diamonds forcing one round

2v/24 16+ HCP strong jump shift in Major 5+ cards, game force
3a* 10-12 HCP, 6+ diamonds (Crisscross)

3e* less than 10 HCP, Weak, preemptive raise 5+¢

3v/34 Splinter bid in support of diamonds (slam interest 16+)
4 Splinter bid in support of diamonds (slam interest 16+)
4e Minorwood 1430 Keycard for diamonds

4v/4e Single suited hand to play

Getting to notrump

After an inverted minor raise 1* - pass - 2¢* (13+ HCP)

Show major suit stoppers 2% or 24, bid up the line. No extra values
Bid 2NT with a minimum and both mgors are stopped.

Bid 3# to show club stopper, neither hearts of spades stopped

Bid 3¢ with a minimum without major stoppers.

Bid 3v or 3NT, showing ¥ stopped, over 24 with minimum values

agrwbdpE

After aweak raise 1¢* - pass- 3¢* (less than 10 HCP)

Pass with all minimum and amost al intermediate sized hands

A new suit isforcing one round and shows a very strong hand

3NT isto play regardless what partner had for his pre-emptive raise
4 of the minor isinvitational (may be used as RKC Blackwood).

apop

Note: After 1¢*-24* you can bid major stoppers out of order to show club shortness
below 3NT. Opener bids 24 and then, over a2NT or 3¢ response, bids 3¥. This shows
club shortness and enough values for game while still allowing 3NT to be bid by par

When they double

If the bidding goes: 1¢* - double; bid as follows:

REDOUBLE shows 5+ hearts asks partner to bid 1v
lv shows 5+ spades asks partner to bid 14
1e transfer bid asks partner to bid INT

INT 8-10 HCP



2% natura 5+ clubs

2¢ 13+ HCP, diamond raise

2v/24 to Play

2NT 11-12 HCP

3% 10-12 HCP, limit raise in diamonds

Responsesto 2NT* Opening

The responses are the same as those played for the2/1 Game Force System, e.g. Jacoby
Transfer, Texas Transfers, Muppet Stayman, etc.

Gambling 3NT

To use the bid of Gambling 3NT*, you must have a solid running minor suit with 7+
cards with the AKQ and possibly the jack. However, when it comesto strength outside
the minor suit, not all agree on the requirements. The bid must be aerted.

In first seat, most play the bid with no valuesin any outside suit vulnerable or non-
vulnerable. However, if vulnerable, some require a stopper in the other minor, but no
stoppers in the majors. Why? With no stoppers outside, partner will bid 44, asking
partner to bid his minor. With all suits stopped, he will leave the bid stand. However,
when vulnerable, partner only needs stopper in the majors, knowing partner has along
minor and the other minor stopped he will leave the game bid of 3NT to play if
vulnerable with stoppers in the majors.

When responding to the Gambling 3NT bid, Marty Bergen makes the following
recommendations for responder bids.

Responsesto 3NT (Per Marty Bergen)
4% sayslet’splay in apart score 4 or 44
4¢* s asking opener to bid a singleton; responses are:
4 heart singleton
Py spade singleton
ANT  minor suit singleton
5% no singleton
Example: Responder has & AKQ7 v 76 ¢ AKQ7 % 432

With aheart singleton, you want to play in six clubs otherwise you would bid five clubs.

4w and 4 are signoffsin responder’ s long suit. Opener must pass.



ANT isinvitational to slam, asking opener to bid a minor suit slam with an outside trick.
5& asks opener to play in aminor suit game

5¢ isasign-off by responder, responder knows that the opener has long diamonds and
wants to play game from his side.

5NT isagrand amtry, to play in 7# or 7¢.

Responder has no losers outside the trump suit but is usually void of the trump suit and is
afraid of atrump loser.

6% isto play slamin 6#/64; opener is to pick the suit.

A bid of 6¢ by responder is to play slam in diamonds; responder knows that it is the long
suit.

Namyats

Shows ahand with 8 - 8 %2 trick in hearts (Open 4#*), in spades open 4¢*. Refuse
transfer by bidding the step in between (44 over 4% and 4% over 44), requesting that
partner bid an aceif he has one or to sign off in hislong suit. 4ANT is RKCB.

NAMY ATS was created by Sam Stayman who, after creating the Stayman 24 response
to partner's notrump opener, coined the NAMY ATS Convention using his name in
reverse order. The NAMYATS Convention, part of the 2/1 game force system, allows
one to differentiate between a strong distributional hand, which may provide aslam
opportunity with less opponent interference, and a preemptive bid that has no slam
opportunity.

The bid requires a 7+ card suit in hearts or spades, and like the strong two club opener,
requires 8 %2 - 9 playing tricks. The major suit has two of the top three honors non-
vulnerable and three of the top five honors vulnerable, and both require an outside ace or
protected king. Thus, you almost have game in hand; partner has to only cover one loser
in amajor game contract. The bids use the minor preemptive four-level bids:

Aa* transfer to hearts
4o transfer to spades

If responder bids the transfer suit, this usually denotes no interest in slam. However, if
one bids the next step, it indicates slam interest in the major.

4&* 4¢ slam interest
4e* 4% slam interest



The bids are respectively 1430 Roman Keycard Blackwood bids that we will next
consider; however, first an example.

#AK109653 ¥7 ¢ 9 & KJ73

The hand is too strong to open 44. Playing Namyats, one would open the bidding 4¢.

Responses to 3X Openings

Responsesto 3X bids by OPENER (always ensures 2 of the top 3 honors
Vulnerable) and 13-15 HCP - Non-vulnerable at least ONE top Honor

4 Ace Asking

4¢ Asksfor outside controlsfirst step 0-2 controls (A=2; K=1), second step = 3,
etc.

4v/44 toplay

ANT RKCB

SUMMARY- INTERFERENCE BIDS OVER 14* OPENING

Direct Seat | nterference

Double — Mathe which shows Mgjors

Pass 0-4 HCP

Redouble 5-7HCP

1v 8-10 HCP no stopper in hearts

1a 8-10 HCP no stopper in spades

INT 8-10 HCP stoppersin the majors

L 8-13 HCP and 6+ cards

2¢ 8-13 HCP and 6+ diamonds

2y 11+ spade stopper (no heart stopper)
24 11+ heart stopper (no spade stopper)
2NT 11+ both majors stopped

At 1leve — (natural)

Pass 0-4 HCP

Double 5-7HCP

Suit 8+ HCP, 5+ card suit, Game Force
Jumpinsuit 10+ HCP, 5/6+ suits, Game Force
INT 8-13 HCP, with stopper

2NT 10+ HCP, with 1/2 stopper

Cuebid 14+, Game force no stopper



AINT — (natural)

Pass
Double
Suit

0-4 HCP
5-7HCP
8+ HCP, 5+ card suit

INT — Mathe which shows Minors

Pass
Double
2%

2¢

2y

24
3NT

At 2 level — (natural)

Pass
Double
Suit bid
2NT
3NT

At 3 level — (natural)
Pass
Double
Suit bid

At 4 level — (natural)

Pass
Double

0-4 HCP

5-7HCP

5+ hearts, GF

5+ gpades GF

5+ HCP, natura and non-forcing
5+ HCP, natura and non-forcing
10+ HCP, both minors stopped

0-4 HCP

5-7HCP

8+ HCP, naturd

10-13 HCP with stopper
14+ with stoppers

0-4 HCP
5-7 HCP
8+ HCP, and 5+ card suit

0-4 HCP
5-7 HCP, takeout or penalty

Balancing Seat I nterference

After 18* - (Pass) - 1¢ - (1v/4)

Pass
Double
Suit Bid
INT
2NT
Cuebid

balance minimum no 5-card suit
support for the other three suits
Natural, non-forcing

shows stopper with (16-21 HCP)
shows stopper with (22+ HCP)
20 + HCP no stopper

After 1#* - (Pass) - 1¢ - (INT for Minors)



Pass balanced minimum no 5-card suit

Double support for the both majors

28/24 unusua extravalues shows ¥/

2v/24 Natural non-forcing

2NT shows stopper with (22+ HCP)
After 1#* - (Pass) - 1¢ - (Double = Mgors)

Pass balanced minimum no 5-card suit

Double support for the both minors

28/24 natural 5+ card suit.

2v/24 unusua extravalues shows &/¢

2NT shows stopper with (22+ HCP)

INTERFERENCE OVER INT by OPPONENTS

Direct Seat = Modified Cappelletti
Bal Seat = Modified DONT

Over Weak NT = Landy

Over strong Club SPAM (14 takeout)
Transfer L ebensohl



